ATTENTION

No patent liability is assumed with respect to the use of the information
contained in this manual.
The producer assumes no responsibility for errors or omissions.

Success and safety in working with tools depend to a great extent upon
individual accuracy, skill and caution.

Therefore, no liability is assumed for damages to property or injury to persons
resulting from use of the information contained in this manual.

Trade marks and trade names contained and used herein are those of others and
are used here in a descriptive sense to refer to the products of others.

www.vertservice.net www.venibiz.com www.minitrac.co.uk










Fig. 1 YUYIAUR

14
REHES| 8 & 23 — F on = L {i#
220(240
1-0-1 6211-110-008-10 | ¥ V¥4 ~» ¥ ASSY 1 1
1- 1 6211~111-008-10 | s Y >¥ & ~y ¥ 1 1.
1- 2 6911-129-006-00 | s v— V¥ 7 #H»7 (449 1 1
1- 3 6911-129-081-00 | *v—V¥72 #Hs7 @16 3 3
1- 4 6911-129-082-00 | e v—Y>¥7 #H-7 ¢18 3 3
i- 5 6911-129-083-00 | s v—Y>7 Hyv7 ¢l12 3 3
1- 6 6909-860-522-00 | * 752 $11.9 3 3
i- 7 6209-605-002-00 | 737 2 | 2
1-°8 6511-715~020-00 | ¢-<n7 +¥— 1 (IN) 3 3
1- 9 6511-711-023-00 | «-<n> ¥— 1t (EX) 3 3
1-10 6911-721-113-00 | *-SV7 #HA W 3 3
1-11 6511-721-013-00 | e~ HA W 3 3
1-12 6512-569-004-00 x4 v—n(n7) 6 6
1-13 | 6211-141-002-00 | # x5y b (¥ Y¥& ~uy ) 1|1
1-14 6509-009-036-00 | &= b 15 |15
1-15 6909-830~212-00 | =& » 2 | 2
1-16 6211-170-003-00 | Y~ &. ~s ' #-3— ASSY 1 1
1-17 6911-750-602-00 | ¥+ » 7 ASSY 1 1
1-18 6911-179-105-00 Ty vy 2 2
1-19 6911-179-030-00 | -3y %= 2 | 2
1-20 - 6911-175-011-00 | F » 2 2
1-21 6211-173-002-00 | o F> (~y F Hs3=) 1 i




=% : — - h=1

RHES gﬁ:nn_ K ol % 2201220 ]/ | &
2- 1 7| 6211-210-009-00 | +) » & *F4 ASSY 1|1 -
2- 2 6509~000-156-00 | &b 8 8
238 6911-219-195-00 | *¥—Y>2 #»7 (36 1|1
2—- 4 6911-129-006-00 | *v— VY2 #H.7 (449 6 6

2-5 6209-605-002-00 | « 752 3 3
2- 6 6509-605-019-10 | « 75~ 2 2 B
2- 7 6909-201-356-00 | * 7527 (7v—1+ ) @56 1 1
2- 8 6909-201-318~00 | =752 (Fv—-+) @18 2 2
2- 9 6909-902-299-00 | =» 7 2 | 2.
2-10 6211-341-004-10 | V¥ — ' L—+ 1|1

2-11 6509-000-227-00 | &+ 3 3
2-12 6509-625-036-00 | A4 —n 1 1
2-13 6989-112-911-00 | * o b 1 1

2-14 6513-721-043-00 | v —&- FL> <47 1|1

2-15 6911-229-049-00 | £¥ T 12| 2 -

2-16 6909-110-410-00 | F» b 1 1 |[M104TP=125
2-17 6211-311-002-00 | Zv—}F (@ 1 1 ’
2-18 6511-312-030-00 | »$y = 1 1 _

2-19 6908-161-022-00 | £~ (Xt Lv—1t ) 1 1 ]10%x22

2-20 6901-900-822-00 | wa b (WS) 4 | 4 [M8X22 4T
2-21 6509-300-043-00 | =%, V 2 2 )
2-22 6912-363-112-00 | =x~<—¥ 1 1

2-23 V520-101-002-20 | ~4 3w £ (A) 2 | 2 |10x22(HT7)
2-24 6901-911-020-00 | Fr b (WS) 2 | 2 |jM10%X20 7T

P=i25




Fig. 3 9430 =45—2

el

2 = = — : =] & I
e 220240\ ® | W |

3-0-1 | 6211-310-001-00 | ¥¥~— #—x ASSY 1|1

3-1 6211-311-001-00 e FXF¥— F-—X 1 1

3- 2 6511-321-059-00 | * H-3— 1|1

3- 3 6511-321-054-00 |  H-<— 1|1 -

3- 4 6511-312-028-00 | Sy ¥ 1 |1

3- 5 6511-312-025-00 | =~y ¥ ¥ 1|1 - .

3- 6 6901-900-612-00 | & b (WS) 4 ) 4 |M6X12 4T

3- 7 6904-110-822-00 |- e X £ » V 4 | 4-|M8%X22 7T 24

3-8 6911-312-046-00 | *-3v F> 2 | 2 Lok

3- 9 6904-110-855-00 | & » I 2 | 2 |M8X55 2v5 TT|- -

3-10 6509-625-079-00 | A4 v v—n 1 1 |HTC50689:

3-11 6511-321-083-00 | #-3— 171

3-12 6511-322-035-10 | v > 1 |1 i

3-13 6909-110-408-00 | F » b 8 | 8 |M8 4T.

3-14 6909-150-508-00 | ¥ » v+ (WS) 8 | 8 |M8

3-15 6212-525-001-00 | £¥— ( ~4 F=) 1 1

3-16 6212-533-001-00 | s+ 7 b (~4 =) 1 |1

3-17 V600~110-600-70 | .R . B.B 6007 2 | 2

3-18 6509-623-073-00 | ~S» %> 1 | 1-

3-19 | 6901-910-830-00 | v b (WS) ‘5 | 5 |MBX30. 7T -

3-20 6209-030-001-00 | & b (WS) 3 | 3 |M8Xg2 7T

3-21 6509-030-037-00 | -xn b (WS) 6 | 6 |[M8X50 7T

3-22 6511-319-079-00 | v &> 141

3-23 6509-740-015-00"| £~ (A bv—1) 1 {1 {g1ox1o0

3-24 6211~319-001-00 | x~—¥ 1|1




Fig. 4 ALY

4
AHES| a3 - k| & - L | m
220|240
4- 1 6211-361~005-20 | A4 S 1|1
4- 2 6909-662-012-00 | 757 1 |1
4- 3 6109-623-057-00 | <5 %> 1 |1
4- 4 6211-760-001-10 | L~ F— 1 |1
4- 5 6911-258-108-00 [ +<up > o ol g
4- 6 6901-910-825-00 | & b (WS) 14 |14 |M8X25 7T .
4- 7 6209-030-004-00 | &V} (WS) 2. | 2 |mM8%x118 7T -
4 8 6901-910-845~00 | * b (WS) 2 | 2 |M8x45 7T-
4- 9 V521-100-801-60 2 | 2 |8x16 - ®

~4awv €r (B)

YN

®

TU220 | ~96114

TU240 | ~96113




Fig. 5 ARV

e
r - 0-1
12—@
11-
BHES| B & 3 - F | g . % : iR R
' - 2201240
5-0-1 | 6213-100-001-00 | #4» ®>7 ASSY 1 {1
5- 1 6894-427-865-00 | & KF 4 1 1
5— 2 6213-113-001-00 | » 3= 11 1
5- 3 6213-120-001-00 | «F¥— & b 1 1
5~ 4 6894-427-864-00 | e v 4+ 7 b 1 1
5- 5 6913-121-073-00 | *» = a— £ -, 1|1
5- 6 6913-125-073-00 | * = <A = 1 1
5- 7 6913-129-017-00 | » » &' 1.1
5- 8 6513-128-010-00 | = £'=A4> 1 1
5- 9 6909-878-084-00 | = &> 1 1
5-10 6901-900-825-00 | * &k (WS) M8X25 4T 4 4 [M8X25 4T
5-11 6513-140-006-00 | * =2 b »—3+ ASSY 1 1
b (WSP) 2 2 [M8%X25 7T

5-12

6901-970-825-00




Fig. 8 ExK>

YN
TU220 | TU240
®|~66628 | ~66628
® | 66629~ | 66629~
© [ ~95505 | ~985505 |
0 | 95506~ | 95506~
® | ~06114 |~96113
® | 96115~ | 96114~
a1 I B ¥
- ﬂ‘_.:l . z =] - - b
Eﬁjﬁ o o Vnn % 2201240 # {id -
6- 1 6511~510-033-00 | 25> <7 Y>> SET 1] 1 . ]
6-1-1 6511-540-033-00 | 275> 2. <727 SET(UN) 1 1 /050 ko
6-1-2 | 6511<560-033-00 | 25>2 =<7Y>sr SET(UN) 1 1{1.00.. ey
6- 2 6212-111-006-00 | €X k> 3/ 3 ®
6- 2a | 6212-111-006-10 | £x b - 3| 3 ®
6~ 3 6212-121-002-00 {" Ex b~ VY2 SET 3] 3 :
6- 4, | 6512-211-021-00 | ¥x > € 3| s
6- 5 6909-950-115-00 | X35 7 Yy 6| 6
6- 6 6212-230-001-00 | =% 25 4>2 =my ¥ ASSY 3| 3
6- 7 6912-235-068-00 | b 6 | 6
6- 8 | 6909-840-238-00 | «F s } 6| 6
6- 9 6894-221-168-00 | =>my ¥ =T Y 6 6 [S.T.D
6-10 6212-310-006-00 | 25>2 v +7} ASSY 1 1
6-11 6908-151-222-00 | e £~ (xbLr—}) 1 1 |12%22
6-12 6212-330-010-00 | 754 &4 —r ASSY 1 1 ®
6-12a 6212-330-010-10 | 7 54 &4 —n ASSY 1 1 ®
6-13 6912-333-036-10 | * Y>> F¥— 1 1
6-14 6512-336-002-00 | U » ~/+ 1 1
6-15 6908-030-743-00 | F— 1 1
6-16 6509-000-018-10 | # 2 b 6| 6
6-17 6212-521-001-10 | ¥*—(25>2) 1 1
6-18 6212-370-004-00 [ 7— Y ASSY 1 1 ©
6-18a 6212-370-004-10 | 7— 1Y ASSY 1 1 (D)
6-19 6909-802-606-00 | & b 1 1
6-20 6912-379-016~00 | 7 » &+ 1 1
6-21 6900-090-679-00 | <T V> 7. 1| 1|6203VvCae




Fig. 8 EZXRY

27 -
26 =
3

25-24-23-2

.o O - H & .
RHES ) #.&3 - F L S - 220|240 i | &
6-22 6212-266-001-00 | =>= » I <7 ) >2 (UN) - 6| 6|10 1SS
6-23 6212-264-001-00 | 2>\ F <7 ) ¥ (UN) 6| 6 (05 * -
6-24 6212-114-006-10 |- x b (0V) o 3./ 3|05 *
6-25 6212-116-006-10 | €= p > (0V) _ 3| 3|10 *
6-26 6212-124-002-00 | x> Y>> SET(0V) 3| 3 /05 . e
6-27 6212-126-002-00 3| 8|10 * -

Exbr Yz SET(OV)




Fig. 7 JNIWIXAHZX A

x N
TU220 | TU240
~087176 |~097176
® | 97177~ 97177~
(=l =] — . = N f@ ﬁ
RHES| & & 2 k &h # ELIE B &
7- 1 6512-511-076-10 | & ¥+ 7 b 11 1 I®
7- la | 6212-511-003-00| H& ¥ +7 b 1 1 1®
7- 2 6212-522~002-00 | ¥¥—(Hha) 1 1
7- 3 6908-000-716-00 | F— 1| 1
7- 4 6509~000-069-00 | K, } 17 1
7- 5 6512-519-002-10 | 7 » &+ . 1] 1
- 6 6911-681-010-00 | X5 <+ FL—} 1] 1
-7 6901-910-816-00 | K b (WS) 2| 2 |M8X16 7T
7- 8 6212-531-001-00 | ¥+ 7 b (T4 Fr Fx—) 1 1 -
7- 9 6212-520-001-00 | ¥¥—( 74 Fr) ASSY 1] 1
7-10 6512-535-005-00 | X5 X+ - HF— 1| 1
7-11 6509-030-037-00 | =i b (WS) 2 2
7-12 6512-551-020-10| 4 ~¥Vvy» b »Sar 3| 3
7-13 6512-552-028-20 | =2 Jy—=x} ST 3 3
7-14 6912~561-037-00 | <A 7 =7 Y7 6| 6
7-15 6894-253-556-00 | x7' ) >4 v—} 6 6
7-16 6512-565-004-00 | X7V v+ H5— 12 | 12
7-17 6912-571-801-00 | #~<» b 61 6
7-18 6512-575-014-00 | 7w &2 By I 6| 6
7-19 6212-600-001-00 | = »» <~ +7 b+ ASSY 1] 1
7-20 6212-611-001-00 | *= s % T—4 ASSY 3| 3
7-21 6212-611-002-00 | *=»» T—2x ASSY 3| 3
7-22 6912~616-023-00 | * 7Y+ A+ X2VYa 61 6
7-23 6909-111-508-00 | *F+w» b+ M8 7T 6| 6
7-24 6212-621-001-10| o~ +7 b (modH T—a) 1 1
7-25 6212-626-001-00| 7352 2| 2




Fig. 7 NIVIXHZX L

= - o = T .

RHES| & & 3 F aR 2201240 # | &

7-26 6212-628-001-00 | * 754 » b 2| 2

7-27 6212-628-002-00 | * 754 » b 1)1

7-28 | 6212-628-003-00 | * 754 » b 1] 1

7-29 6209-940~001-00 | * X7 ) >/ 3| 3

7-30 6901-050-850-00 | = b 2| 2 |M8xX50 7T

7-31 6909-164-008-00 | * 7 » v+ (WP) 21 2 |m8

7-32 6909-110-508-00 | +» b 2| 2 |mM8 7T

7-33 6909-164-508-00 | U » &+ (WP) 2| 2 |M8

7-34 6212-523-002-00 | ¥¥— (74 ) 1] 1|

7-35 6212-531-002-00 | v+ 7 } (T4 Far F¥—) 1|1

7-36 6209-800-001-00 | <7 Y7 1| 1 |6004NRC3X2

7-37 6509-503-059-00 | 7 » '+ 1| 1

7-38 6509-000-162-10 | & b 11




Fig. 8 AMIWTA WIS T2V T 1LY

OIL FILTER

- a . o B X .

BHES| & &% O F oo - 220240 52 s E=

8- 1 6513-200-196-40 | A4 740 % ASSY 1 1

8— 2 6513-240-026-10 o Hh—F Yy 1 1

8- 3 6513-210-019-30 * X7 4 ASSY 1 1

8- 4 6213-212-001-00 . o KT 4 1 1

8- 5 6513-160-003-00 e o7 ASSY 1 1

8- 6 6209-605-001-00 I 1] 1

8- 7 6513-219-014-00 | Ny *> 1 1 )

8- 8 6901-900-830-00 Kb (WS) 2 2 |{M8B8X30 4T
. 8- 9 6209-032-001-00 Ko b (WS) 2 2

M8X75 4T

10



@
M—Fig. 13-6

@J

Fig. § AL T

| ﬂﬂf °

(o]
©

Elo'y

!

- =
B\ X .
RHE MHE A - B 2 £
: i : 220[240| & w

9- 1 6913-312-325-00 | 4 47 1|1

9- 2 §213-311-002-00 | A4 <47 ASSY 1 1

g- 3 6909-906-105-10 | 74 &b 1 1

9- 4 6909-920-843-00 | ~%y %> 2 2| . g
©9- 5 6902-040-610-00 | # n b 2 2 |[M6X10 4T

9- 6 6909~150-506-00 | ¥ » v+ (WS) 2 2 |M6

9- 7 A4 n 347 ASSY 1] 1

6213-311-001-40

11



- Fig.10 9A—9RYTEI0T 7Y

[ a T | E =B ’
ﬁ.dd%?_ i ny = F._ | an % 2201240 i# ,ﬁ

10- 1 | 6213-610-001-00 | 95 —2% #>7 ASSY 1 1

10- 2 | 6213-611-001-00 | «®F s ASSY(wx—2% #>7) |1 | 1

10— 3 6213-612-001-00 | e HA~—(Tx—2& F>7) 1 1

10- 4 6213-613-001-00 | e~y F¥ (Dr—& K>7) 1 1

10- 5 6901-900-830-00 | &} (WS) 3 3 |M8X30 4T

10- 6 6901-900-828-00 | « & (WS) 1 1 |M8X28 4T

10- 7 6582-450-018-00 | y—= A —2x 1 1

10~ 8 6513-619-098-20 | <y F> 1 1

10— 9 6509-623-031-00 | v &> 1 1

10-10 6901-970-845-00 | o+ (WSP) 2] 2 |M8X45 7T

10-11 6509-030-037-00 | ® b+ (WS) 1 17T

10-12 | 6894-205-986-00 [ & b (WS) 2| 2

10-13 6909-160-508-00 | 7 » o+ (WP) 2 2 (M8

10-14 6901-910-820-00 | ® F (WS) 1 1 |M8%X20 7T

10-15 6213-674-005-00 | Zv—F (T +x}+ ) 1 1

10-16 6913-713-064-10 | v x— & T+ Vst 47 1 1

10-17 6513-770-022-10 | ¥—= =%, t 1 1

10-18 6209-630-001-00 | S » F> 1 1

10-19 6901-910-828-00 | & b (WS) 2| 2 |M8X28 7T

10-20 6913-641-624-00 | 7— ) 1 1

10-21 6513-660-297-00 | 2—V>2 77 1 1

10-22 6913-642-078-00 | A~<—3 1] 1

10-23 6209-030-041-00 | ® b (WS) 4 | 4 [M6X35 7T

10-24 6213-671-001-00 | <} 1 1




Fig.11 A1 YLy hBLUITEI—INIITFTLA

=] = — '3 =k @ ﬁ .

itﬂﬁ’v_ il n.u.: E an 2201240 ﬁ A *ﬁ ﬁﬁ

11- 1 6214-111-003-00 | 1~V y b ==F—n} 1|1

11- 2 6214-141-002-00 | =2V —A P =<=FK—1F 1 1

11- 3 | 6904-110-822-00 | x& 4 V¥ 2| 2 [M8X22 2va TT

11- 4 6904-110-860-00 | =% » IV 2 | 2 |MBX6:0 2va 7T

11- 5 6914-146-090-00 | H x4 » b 1| 1 . -

11- 6 | 6901-970-832-00 | = + (WSP) 7| 7 |[m8x3z2 7T

11- 7 6509-637-015-00 | ~%» 3(°3 ’ '

11- 8 6214-310-001-00 | {1 »F—2 v+ » £ ASSY 1] 1

11- 9 6214-319-001-00 | 7V » 7 1] 1

11-10 6909-110-408-00 | +» + 2| 2 [M8 4T

11-11 6909-150~508-00 | 7y &+ (WS) 21 2 |M8

11-12 6909-164-508-00 | 7 » v+ (WP) 2| 2 |M8

11-13 6904-110-845-00 | x& » V' 2| 2 |[M8X45 2va TT"

13



Fig.12 7aIIYIXFA

=

O _— ] - . E x|
Etﬂ@? gﬁ gg l‘ 5] % 220 240 ﬁ {ﬁ : %

12- 1 | 6215-300-002-20 | 4 ¥z 22> s za ASSY. 3| 3

12- 2 | 6215-311-002-10 | = /X 3( 3

12- 3 6215-330-001-10 | « /X1 Farx 3 3

12- 4 | 6215-411-001-00 | 41> ¥z 2v 5> 47 ASSY 1 1

12- 5 | 6215-411-002-00 | 1> Yz2v s> -4 ASSY 1 1

12- 6 | 6215-411-003-00 | /> Yz 2+ s> 47 ASSY 1] 1

12- 7 | 6915-419-072-00 | 2V »7 ASSY 2| 2

12- 8 | 6509-704-059-00 | 2V » 7 8| 8

12- 9 | 6509-361-074-00 | 53— k—x 1] 1

12-10 1417-102-005-00 | x—=x >} 2 2

12-11 | 6215-315-001-00 | #=x4» b 3| 3

12-12 | 6215-337-001-00 | 25>7( /XA Harx) 3| 3

12-13 6209-037-002-00 | X b (WS) 3 3 [M8%X35 9T

12-14 | 6209-360-005-00 | 53— H—=x (=125 1] 1

12-15 | 6209-360-006-00 | 53— H®—x =40 2| 2

12-16 | 6209-669-001-00 | s 4 >} 2| 2

12-17 | 6509-360-912-10 | 5-S— *—x = 95 1] 1

14



Fig. 13 A\YHBLUDIST vk

= =] _ * ‘= 2 @ ﬁ -

E.Hj%"‘i g‘B oo = }“ . I.JIJ i % 220 240 *ﬁ. . % {ffﬁ

13- 1 6211-777-005=00 | ~># (F) 1 1

13- 2 6211-777-004- 0 | ~># () 1 1

13- 3 6901-910-818-00 | b (WS) 2 2 |{M8X18 7T

13- 4 | 6519-711-098-00 | 54 » F (€XxVv—4%) COMP O I O

13- 5 | 6901-911-020-00 | = b (WS) 2 | 2 [Miox20 P=125 7T

13- 6 6211-777-002-10 | x5 4 ' 1 1 T

i3- 7 6901-911-020-00 | & F (WS) 2 2

M10X20 P=125 7T

i5



Fig.14 4123 x93y RYTFH—/X—Y

=1 a — : =] ! f@ ﬁ
Etﬂ%? B & O k oo % 2201240 & #:
14- 1 | 6215-600-020-20 | 4 ¥ Y= 2 s> HK»7 ASSY ' ®
14- 1la| 6215-600-020-30 | {1 > Y =z2va> K»7 ASSY - ® i
14-1-1 | 6215-600~019-20 | A > Yz 2v s> #H¥7 ASSY 1 ®
14-1-1a | 6215-600~019-30 | { > Yz 2v=a> H¥F ASSY 1 - |®
14~ 2 | 6515-750~036-00 | * 74— HKv 7 1] 1 ®
14— 2a| 6515-750-029-00 | *7 4 —F K> 1|1 |®
14- 3 | 6519-751-039-00 | * * 754 » b 1] 1
14- 4 | 6515-619-061-00 | s sO V) >2 1| 1
14- 5 6212-524-001-00 | e o F¥—(A>»Izx2va> Fv7) 1 1
14- 6 | 6515-619-129-00 | = eT7 A i b - 1.] 1
14- 7 | 6115-639-008-00 | o ¢ H=x4 » b 2| 2 .
14— 8 | 6215-619-002-00 | = * 74 KAk 1|1
14— 9 | 6215-639-001-00 | = e H =2y b 2N
14- 10 | 6515-619-128-00 | « eh—x Vs> } 11 .
14— 11 6219-751-001-00 | =« 7545 b 1 1 ®
14- 12 6282-560-002-00 | *7 a—x Hy b ST 1 1 ®
14- 13 | 6511-319-077-00 | v %> 1| 1
14— 14 | 6523-336-001-00 | X7 ) > 2 T4 1| 1
14— 15 | 6909-942-560-00 | X7 ) > 2 1] 1
14— 16 | 6209-913-001-00 | ¥==n AF L=470 14 1

TN

®

®

{ TU220| ~81103

81104~

TU240| ~81657 .

81658~

16



10

= S e = B % .

Etﬂ%’:‘ %B og F ‘ [T ] - % 2201240 ﬁ Pﬁ {Jﬁ

15- 1 | 6581-100-205-00 | x #— & ASSY Fig.l6%R 1 1

15- 2 | 6581-200-338-00 | ¥=%v—% ASSY Fig.1788 | 1| 1

15- 3 | 6281-410-003-10 | 2 u— 7352 " |-3]| 3

15- 4 | 6219-732-001-00 | 942 & 1] 1

15~ 5 | 6581-420-037-00 | 3> bm—ar LyxA>x ASSY | 1| 1

15~ 6 | 6901-970-830-00 | 1 b (WSP) 2| 2 |M8%30 7T

15- 7 | 6909-110-508-00 | 7 » b. 2| 2|M8 7T

15- 8 | 6901-910-820-00 | b (WS) 1| 1 |M8x20 7T *|°

15- .9 6909-164-708-00 | 7 » v+ (WP) 1{ 1 |M8

15-10 | 6182-410-008-10 | X4 »F (A4 FLw o+ ) 1] 1

15-11 | 6901-931-240-00 | #r b (WS) 2| 2 [M12%x40 7T P=175

15-12 | 6909-120-412-00 | F» b 2] 2|M12 4T P=175

15-13 | 6281-900-002-00 | =>¢> =x}h »-% ASSY 1] 1

15-14 V120-366-001-60 | 752 F+_= %k (SP) 3 3 |M6X16

17



26

Fig.16 - X% —% (6581-100-205-00)

212219

+

- . o B X
RHES an I — F s 7 )
iyl k F an ‘ % 220240 %fﬁ & 3

16-0~1 | 6581-100-205-00 | X#— % ASSY 111 . ,
16- 1 6581-121-041-00 | e T—=F+ ASSY 1 1 2114-51004
16— 2 | 6894-208-187-00 | * X5 2 b Uy v+ (A 1|1 2114-7108
16— 3 6894-208~288-00 | e X5 X+ T v+ (B 2 | 2 2114-8103°
16— 4 | 6894-208-257-00 | *E VY > 2 1 (1 2114-9103 °
16~ 5 | 6894-208-289-00 | » E'=4> =X by 1 1 2114-7105"
16— 6 | 6894-208-290-00 | » E'=4> =xbty-d 29,7 1 {1 2114-5107
16— 7 T e 74—t T4 ASSY 1 1 n2114-62106"
16— 8 6894-208-291-00 | e K—AaTXZ Y a 4 4 2114-8215 -
16~ 9 6581-119-034-00 | « 75+ 2 2 2114-3315
16-10 6581-119-035~00 | » 75 HA L ASSY 1 1 2114~93101
16-11 6581-119-036-00 | » 75> (& 1 1 2114-8313
16-12 6581-117-023-00 | » 7527V > 3 3 2114-5314
16-13 6581-115-010-00 | » ) ¥ H-3— ASSY 1 1 2114-23001 -
16-14 | 6894-208-295-00 | « V¥ B 3— A4 &0 1 1 2114-5352
16-15 6581-123-029-00 | » ¥=x4> ASSY 1 1 2114~-85003
16-16 6581-113-058-00 | »¥¥+—=x ASSY 1 1 2114-76005
16-17 6894-208-298-00 | » V¥ HS— 1 1 2114-4661
16-18 6581-127-028-00 | *~7 b Vvoi— KIT 1 1 2114~8652 -
16-19 6581-151-062-00 | * TZ/H%F 4 52 X4 »F 1 ]-1 2114-37502
16-20 6581-129-280-00 | * XA —K b 2 12 . 2114-28005
16-21 6894-208-305-00 [ « £x b H3— (A) 1 1 2114-3862
16-22 6894-208-306-00 | ¢« # =+ #-i— (B) 1 1 2114-2862
16-23 | 6894-208-307-00 | e £X FH5— (O 1] 1 2114-5861
16-24 6894-208-308-00 | s £ X b H<— (D 1 1 2114-4862
16-25 6993-490-412-00 | * X2 1) = 2 2 [M4x12 0630412
16-26 6901-045-632-00 | = &b 2 2 |[M6X32 2114-5866

18



Fig.17 t£xL—%(8581-200-338-00)

= ' B X s
e - + =1

Etﬂ%? gﬂ. oo l‘ | ijr ) : % ' 220 240 ﬁ {lﬁ %
17-0-1 | 6581-200-338-00 | €% v—4& ASSY 1|1
17- 1 | 6581-221-063-00 | s =— % ASSY 1] 1 1135-71001
17- 2 | 6581-211-058-00 | s x5¥— % ASSY 1|1 L135-6200
17- 3 | 6281-214-001-00 | « V¥ #-<— ASSY 111 1.135-63002
17- 4 | 6281-214-002-00 | * Y ¥ H-<— | 1.1 |L135-73011
17- 5 | 6581-262-005-00 | * &4 #—F ASSY 1.1 L135-13203""
17- 6 | 6581-219-036-00 | * 75 v*¥av—% ASSY 1] 1 1135-13152
17- 7 | 6581-215-046-00 | « 73+ ASSY 1|1 . |L135-4326 .
17- 8 | 6581-215-040-00 | =75+ . 2| 2 L120-13262
17- 9 | 6581-270-004-00 | * I Cv¥av—% ASSY 1] 1 TR1Z-63
17-10 | 6281-213-001-00 | » 7= >} H-— ASSY 1|1 L135-24001
17-11 | 6581-229-029-00 | * =T Y>7s V7F—7F 1] 1 L135-14042
17-12 | 6581-222-760-00 | » 7—Y ASSY U] 1 L.215-55004 .
17-13 | 6581-229-182-00 | *=r— Hib 2] 2 “|L125-4801
17-14 6581—-229-183-00 | * Xa— aKNm}P 1 1 L125~-5801
17-15 | 6982-235-015-00 | » 7—) F» + ASSY 11 B-495468B
17-16 | 6900-090-181-00 | *#—»r TV 1|1 62018D
17-17 | 6509-800-087-00 | ¢ HK—n =T Y2 1|1 6302BM .
17-18 | 6581-229-165-00 | * X2 Y a%xy b 1] 1 . L120-10001 -,
17-19 «27 = 3| 3 [M4x12
17-20 | 6581-229-166-00 | &b 2| 2 [M5 L135-13134 -

19



Figl8 14>3yxo

T
s
T
—
d
=

= |

BHES

i
icd

220

240

& - -

18- 0- 1
18~ 0- 1la
18- 1
18- 1-30
18~ 1-30a
18- 2
18- 3
18- 5
18-16
18-19
18-20
18-21
18-23
18-24
18-25
18-30
18-30a
18-36 -.
18-36a
18-37
18-40
18-41
18-42
18-45

- 18-49

18-55

5013-006-046-20
5002-904-060-20
5002-904-063-20
5013-001-008-00
5002-905~050-40
5013-004-202-00
5013-001-009-00
5002-930-060-30
5001-411-064-40
5001-302-060-40
5013-004-102-00
5013-004-203-00
5002-905-050-40
5013-010-150-20

5013-010-152-20

5013-011-006-20
5013-001-007-20
5013-111-223-00
5013-011-501-00
5013-011-606-00
5013-111-723-00
5013-012-204-20
5001-650-015-20
5013-020~002-20

Ta—I)V Ar¥xzsiar FT ASSY(
Ta—IN AYxI s> R ASSY

Ny

REw M

S I

H ot

27 a

y—n Y7
H3—

Yy vy

ARTYV>S To v
Fv b

O—YV>z
S—n Y
7\;]):.

75>+ ASSY
75+ ASSY
FYSY S
FNR) SRy
AT )z
HZRo v b

oL

/—(]\yzx'

Tv—k
(Ol

A~y b

wwmwwwwwwmwwxp—ar—-mmmr—-uwr—tmwv—ap—an—x

wwwwwwwwwwwwxuwmwmp—ab—ﬂmr—-mm»—'l»—*!—‘

£104300-6180
£104300-6290
©130060-4620
029040-6020®
029040-6320®
130010-0800
029050-5040
130042-0200
130010-0900
029300-6030
014110-6440
013020-6040
.130041-0200
130042-0300
029050-5040
130101-5020®
130101-5220®
130110-0620®
130110-0720®
131112-2300
130115-0100
130116-0600
131117-2300
130122-0420
016500-1520
130200-0220

20



Fig.18

AV zogRF(TON)

o o IR B % .
RHEES il an a E aa “ 2201240 {i& | %
18-55-2 5013-020-100-00 | + » F 3| 3 130201-0000
18-55-3 5013-020-201-00 | ® b 3] 3 130202-0100
18-55-4 5013-020-301-00 | &> 3] 3 130203-0100
18-55-5 5015-211-201-00 | =— 35 3| 3 152112-0100
18-55-6 5013-020-600-00 | #4 M 3| 3 130206-0000
18-61 | 5013-021-502-00 | =7 )2 3] 3 130215-0200
18-62 | 5013-021-600-00 | X7 V> <v—1t 3| 3 130216-0000
18-63 5013-021-700-00 | X7 V~2 w—} 3 3 130217-0000
18-67 | 5013-022-307-20| I3 >¥tm—n S .2 1| 1 130223-0720
18-68 .| 5013-122-603-00 | X2 V) a 1] 1 131226-0300
18-76 | 5013-024-001-00 | =z> . 2| 2 130240~0100
18-77 | 50183-024-101-00| =~ tm—n =Y—7 2] 2 130241-0100
18-77A| 5013-024-102-00 ] =¥ bo—~n =xY—7 1 1 13j0241-0200 -
18-78 | 5013-124-201-00 | %2 U = 2|2 131242-0100
18~90 | 5013-030-025-00 | #4 v +7 b+ 1 1. 130300-2500
18-91 | 5002-800-170-10 | RFT V=2 1] 1 028001-7010
18-91A| 5001-663-020-30 | =T >z 1] 1 016630-2030
-18-92 | 5013-030-201-00| p >~ 1] 1 130302~0100
18-92A| 5013-030-203-00 | ) > 2 1) 1 130302-0300
18-93 .| 5002-931-170~10 | v =& A/R| A R 029311-7010
18-93-1 5002-931-170-20 | ¥ A/R AR 029311-7020
18-93-1 5002-931-170-30 | + & A/R| A/R 029311-7030
18-93-1] 5002-931-170-40 [ =& A/R| A/R 029311-7040
18-93-1 5002-931-170-50 | + 4 ARl AR 029311-7050
18-93-1 5002-931~170-60 | + & A/R| AR 029311-7060
18-93-1 ¥ A/R| AR 029311-7070"

5002-931-170-70




e T —

REHES

Hma -k

B %

220

240

] Z

18- 93-1
18- 93-1
18- 93-1
18- 93A
18- 93A-1
18- 93A-1
18- 93A-1
18— 93A-1
18- 93A-1
18- 93A-1
18- 93A-1
18- 93A-1
18- 93A-1
18-101
18-104
18-107.
18-107-1
18-107-2
18-107-3
18-107-4
18-107-5
18-107-6
18-112
18-116
18-117
18-117a
18-118
18-165
18-191
18-191-2
18-192
18-194
18-195
18-196
18-203
18-205

.18-374

18—374a
18-376
18-376a
18-501
18-503
18-504
18-505
18-505B
18-505C
18-506
18-510
18-514
18-514a
18-516
18-517
18-517-1]
18-517a
18-518.

5002-931-170-90
5002-931-172-10
5002-931-172-20
5002~931-170-10
5002-931-170-20
5002-931-170-30
5002-931-170-40
5002-931-170-50
5002-931-170-60
5002-931-170-70
5002-931-170-9¢
5002-931-172-19¢
5002-931-172-2¢
5013-031-613-00
5002-000~614-40
5015-663-667-20
5015-663-667-00

5002-000-618-70
5001-312-120-40
5001-411-124-20
5015-661-534-00
5002-580-316-10
5013-981-208-20

5002-973-120-10 |

5013-044-807-20
5002-904-082-40

5001-401-081-40
5001-411-084-40
5001-302~080-40
5013-042-007~20

5002-973-081-70
5002-973-082-90
5002-934-080-80
5002-650-812-40
5013-053-123-20
5015-432-419-00
5002-963-080-80
5002-931-110-70
5002-931-110-90
5002-931-110-20
5002-905-050~40
5013-052-401~00

5013-051~-004-00

5013-051-001-00
5013-052-003-00
5013-051-209~20
5013-051-210-20
5013-051-204-20

5013-052~-204-00 "

DN
PN

oy

DAY

<

DA

N

S o

YN

EA

A

DA

DN

B —

wov b

A7 Yo
Ho7 Yrorw
Fy—

KN b

+ v b

ATV Ty
Uy ¥y

Yy F57 F—
FT—R YaAfvh
T4 Kb

T4 Kauh
HXb o b

)3 R—-

TS5y b

2Ly ¥

O—Yvzr

Uy vy

ATV Ty v
+v b

v b

HAT v b

T4 Ko

T4 Kb
HXI v b

HRL 5 b

Lo<—

Y47 b

O—Y)>r

PN

PN

Uy ¥

27 a

A4 ==L Voi—
RTINS HAF
AT Ho3F
j‘7~‘/5-‘/ VoS—
AT N> BTN
ATV HATEN
RFV s HhT
HA Frv-<i—

T T P e T £ 2 S SRS
TP P P P EPTT T £ 4 43 S S S LS 5

,

SEEEEYS 4

[N

029311-7090
029311-7210
029311-7220
029311-7010
029311-7020
029311-7030
029311-7040
029311-7050
029311-7060
029311-7070
029311-7090
029311~7210
029311-7220
130316-1300
020006-1440
156636~6720
156636-6700

020006-1870
013121-2040
014111-2420
156615-3400
025803-1610
139812-0820@
139812-0900®
029731-2010®
026512-1540
130448-0720
130459-0430
029040-8240.
029637-5040
014010-8140
014110-8440
013020-8040
130420~0720
026512-1540
029730-8170@®
029730-8290®
029340-8080@
026508-1240®
130531-2320
154324-1900
029630-8080
029311-1070
029311-1090
029311-1020 ..
029050-5040
130524-0100
130510-0400@®
130510-0100® ~
130520-0300
130512-09200
130512-10200
130512-0420®
130522-0400

22



ATz o3RI (FAN)

RHES

R & 3 - F

B
i

220

240

3 E 1

18-519
18-520
18-521
18-522
18-523
18-523-1
18-523-1
18-523-1
18-523-1
18-523-1
18-523-1
18-523-1
18-524
18-528
18-530
18-531
18-535
18-536
18-537
18-537-1
18-537-1
18-537-1
18-541
18-542°
18-543
18-544

5013-052-301-00
5013-052-305-00
5002-651-013-40

- 5002-911-101-90

5002-931-120-40
5002-931-120-50
5002-931-120-60

. 5002-931-120-70
'5002-931-121-30

5002-931-121-40
5002-931-121-50
5002-931~121-60
5013-050-102-00
5013-050-005-20
5001-411-084-40
5002-923-080-00

5015-432-508-00

5015-417-149-00
5002-931-080-10
5002-931-080-20
5002-931-084-90
5002-931-085-00
5015-435-076-00
5013-054-002-20
5002-000-618-40
5002-902-062~-40

DN
PN
VA
P
2) =7

754 &4, ASSY

XTNW S T vx
F v b

27N >S v—1L
RTYW T
AR

v vy

DN

DA

HAT v b

# 3=

R b

w b

TS LTI $ 354 S LI,
P44 CEEEE $ 113 S LS TR

130523-0100
130523-0500
026510-1340
029111-0190
029311-2040
029311-2050"
029311-2060
029311-2070
029311-2130
029311-2140
029311-2150
029311- 2160
130501-0200
130500-0520
014110-8440
029230-8000

154325-0800

154171-4900
029310-8010
029310-8020
029310-8490
029310-8500
154350-7600
1305400220
020006-1840
029020-6240

23



= = — 2 =
Eﬂj§’5 il oo = F on £ 2201240 {lﬁ %

18-545 5015-401-108-00 | @ » 2 F, } 1 1 154011-0800
18-547 5013-053-205~00 | %21 = 1 1 130532-0500
18-548 5002-924-060~10 | F 5 F 1 1 029240-6010
18-550 5002-650~610-40 | #=4 5 b 21 2 026506-1040
18-551 5015-403-516-00 | *+ 7 J v b 1 1 154035-1600
18-569 HAL » b 1 1 026512-1540
18-570 5002-911-120-70 | 75 7 1 1 0291’}1—2070
18-578 5002-933-120-90 | #=x4 5 b 1| 1 1029331-2090
18-579 5002-911-120-40 | 75 7 1 1 1029111-2040
18-582 5015-431-664-20 | &+ 7 } 1 1 154316-6420®
18-583 5013-053-205-00 | =2V = 1 1 130532-0500
18-584 5002-924-060-10 | + o 1 1 029240~6010
18-590 TS54 s b 1 1 130545~0920 @
18-591 5002~000-620-40 | &} 1 1 020006-2040 @
18-592 5002-000-622-40 | & b 1 1 020006-2240 @

TN

A B
TU220 | ~81103 | 81104~
TU240 | ~81657 | 81658~

24



Figl8 J4—RAKR>T.

803S
8025
Bi2S
813s
= =] _ + =] ° @ g :

Etﬂ%? gﬂ ?u : I‘ on :E 2201240 ﬁi _ %
19- 0-1| 6515-750-036-00 | 7 4 —F &7 ASSY 1 1 105248-1020 ®
19- 0-14 6515-750-029-00 | 74—V #H>7 ASSY 1 1 105248-1011®
19-801S | 5015-200-413-00 | «KF 4 Kb 4& 1 1 152004-1300
19-80258 | 5015-211-013-00| s X7V >y X}t 1 1 152110-1300
19-803S | 5015-211-139-00 | ¢ €X b 1 1 152111-3900
19-804S | 5015-213-303-00| = X7V >2 £A4¥ 7354 1 1 152133-0300
19-805S8 | 5015-213-005-20| e &4 ¥ 7354 1 1 1652130-0520
19-806S | 5015-213-103-00 | o £~ 1 1 152131-0300
19-807S | 5015-221-013-00 | s X7 )2 1 1 152210-1300
19-808S | 5015-221-018-20 | «1v-— ASSY 1 1 152210-1820
19-809S | 5015-221-019-00 | » &' 1 1 152210-1900
19-810S | 5015-202-018-20 | -* ®xF 4 ASSY 1 1 152020-1820®
19-81084 5015-202-013-20 | «#F4 ASSY 1 1 152020-1320@®
19-811S | 5015-202-015-00 | * #X& v b 1 1 152020-1500
19-812S | 5015-202-014-00 | * #-5— 1 1 152020-1400
19-813S | 5015-221-020-00 | = X2V a 6 6 152210-2000
19-817S | 5001-650-007-10| s0—Y > 2 1 1 016500-0710

v N

A "B
TU220 | ~81103 | 81104~
TU240 | ~81657 | 81658~

25









STy R P et ) -

| o B
& 220l 2z0F-240F
RHES| & & 3 - F T % X Tooon &

B [*X] [P{X|oglYip|x]o6
1- 1 1550-102-200-00 | 5¥x=—£ASSY 1/0(0lolojojojo]oj0|O
1- 2 16550-102-202-00 | s 4= <—7m—F—X 10|o0lolojojojo]|ojo|0
1- 3 1550-102-203-00 | s oA ¥ H—+ 1 |-0|ofoolojolofolo|o
1- 4 1550-102-204-00 | 7 7> #4 I 1|o]ololojojojo|ofojo
!5 1421-101-313-00 | = %+ » 7 1]0(0/o|ojo|ojololofo
1- 6 1421-101-203-00 | =752 1 (0|0 olojojolo]olofo
1- 7 1421-101-204-00 | o -%pF 1 10| o0lojojololojolojo
1- 8 1550-102-001-10 | S /5S—F—Run7T 1{0/o0/c|lojlololoflojolo
1- 9 1550-102-002-00 | 5-5—&—RT y 3 10[o0/olojojojolol0}o
1-10 1427-101-011-00 | 2 5> 7 (35) 1|0|0/ojoiojofjoj0jo|a

1-11 1427-101-012-00 | 75> 7 (42) 3ol |ololo] |o]ojo| [m1~®

1-11la 1427-101-012-00 | 2 5>7(42) 1/0/0/0]0{0[0][0]{00{0MB~"
1-12 1444-101-012-00 | FLr¥Fk—x 110]|0/oloj0foflojO[O]0
1-13 1417-102-005-00 | 7 # — XS I 2 i0|o0|ololojojojojojoO
1-14 1550-102-005-00 | &A"—=x2 5> 1|0}jo/o|lolojolofojo]|oO
1-15 1550-102-006-00 | 7 » va ¥ T & 1 (0(o0lolojojfojo|ojo]|0
1-16 1550-102-210-00 | ¥ =—£Xx5— (L) COMPR 1ol ololofojolo]ofalo
1-17 1550-102~-220-00 | 5 v xz—&=x7~—(R)COMP 1{0|o0lolojojo|lojojO}O
1-18 V211-360-801-60 | = H# &KL+ (SP) M8X16 40| ololojojojofojO]0
1-19 V201-260-801-00 | I #HZFE1 b M8X10 3 |0lolojolojolo|0j0]0
1-20 V401-160-008-00 | S . W M8 3 |o]|ojolojojojofojO]|O
1-21 V411-260-008-00 | $ HEFH*% M8 3|o|o|ojojofofofo[ofO
. 1-22 1544-616-011-00 | 2 v 3 > =T & 4 (o}ojoloflojojof0jOf0O
1-23 1550-102-003-00 | v—na(A) (L) 110|olojoflofo]jofolo]o
1-24 1550-102-004-00 § +—nr(A) (R) 1 |ofolofojolo|0|0f0j0
1-25 1550-104-003-00 | h—x2 57 1|o0jofolololo|o[0fo]o

27







- =Y

i} T : = gig 220F-240F
Etﬁ%"; ’E{S oo 4 — }‘ on % # X blx X U UIU X {]ﬁ
06/ Y| | X 06
1-26 V211-260-801-20 I KRR }‘(S) - M8X12 2 {0|ojojolofojolofolo
1-27 1544-112-003-00 &“—)Van 1 j0jo(0|ofojoloiololo
- 1-28 V304-260-008-00 aIHEF e b ‘M8 2 |0lolofolof0O
1-29 V401-160-008-00 S . W M8 21010(0(01l010
1-30 1424-101-005-00 Z1)»7(42) 2 |0j0jojofofojololo]lo N B~

220|220F | 240 | 240F
180/1388(126/1377
181]1389)127|1378

S




—22

Fig.46-2

Fig. 2 VISER

,, (\@

R TR A RN

# G B =N
pe 220 220p-200F

RUES| & a2 3 - F on % % X DXXUUUUXﬁ

06[“|D{X |06
2- 1 1550-103-200-00 | =7 5 COMP 1|0| {ojolo| |ofofo]| [Na1~78EH
2- 1la 1550-103-200-10 | =75 COMP 1|0/ofo|0[0]|0]0]|0]|0 |0 |Ne7RER~
2- 2 1480-103-001-00 | # =4 » b 2 |0j0fofolo|ojojo]|o|o
2~ 3 V303-700-010-00 | = 4 &F s b M10 g8 |olojofofolololo]o]o
2- 1550-103-240-00 | ¥—aA <47 ( £5) COMP 1|ofolofolo]|o|ofoja]|o
2~ 5 1544-103-210-10 | =7 5#-3— COMP 1 (0} |ojolo 0jo|o| [v1~7<ER
2- 5a 1544-103-210-20 | =7 5 #-3— COMP 1{0(0[0[0]0j0{0}0|0]|0|Na7RBE~
2- 6 1544-103-250-10 | x &34 H-3— COMP 1|0fojofofo|o]lojo]|0]0
2- 1650-103-250-10 | 7—r <4 FH-5—( £5F) COMP| 1 {0(0]0|0|0]|0j0f0|0]O
2- 8 V211-360-801-20 | I # &K+ (SP) M8X12 9 |ojojolo|o|ofojo|o]oO
2- 9 V201-260-806-50 | a4 2K b M8X65 1|o|ojo|ojojo|alo|o|oO
2-10 V411-260-008-00 | S H*HHF M8 1 |olojojofo|o0]|olojofo
2-11 V304-260-008-00 | a#&Fy b M8 2va 1|olo|olo|ofofoloiofo
2-12 V401-160-008-00 | S . W M8 1|olo|ofo|o|o{olo|ol0
2-13 1550-103-210-10 | =7 542 } COMP 1 (0/ojojofolofojo]ofo
2-14 1550-103-001-00 | #.x4 » MA) 1 {olofojolo(o|o]o]o]|o
2-15 1544-103-004-00 | + » b M8 g {ofojofolofo]olofo]o
2-16 V250-261-003-50 | v == &b M10X35 1v=| 4 |0o|o|ojo|o|o|o|o|0]|0
2-17 1550-103-220-00 | Z'v— +B) COMP 1|0|0fojo|0|0f0|0]|0]0
2-18 V300-260-006-00 | 5 b M6 3ololofolojololo|alo
2-19 V401-160-006-00 | S . W M6 3lolo|olo|ojololo]ofo
2-20 1550-103-230-00 | =7 52 } #-<— COMP 1)of |olo]|o 0lo|o]| [N1~®
2-20a 1550-103-002-00 | =7 S &2 } H-3— 1{0f{ololo|o(o|olo{0|0{N@®~
2-21 V211-360-601-20 | 3 H# &4+ (SP) M6X12 2 (olofojofojofojoiolo
2-22 1550-103-260-00 | F—xr-4 7 ( 32 ) ASSY 1 10(ojojolo|o|ofo{0]|0 |4k
2-23 1550-103-270-00 | «F—na-4 7 ( 3 =) COMP 1 {olo|ojolo|o]ofofo]o |4k




& G =H o=

220

@ | 240 220F-240F
=] =] — s =
Etﬂ%? B & 2 K an % * X DXXUUUUX{E x
06" |D!¥ |05
C2-24 1550-103-280-00 | » 5 —-4 7 ( 53 ) COMP 1 [ojofojolofo|olo{o]o|¥
2-25 V201-260-801-20 | » 2% &xn ) M8x12 | 2 |ojofofo]ofo|o]olo o4
2-26 V401-160-008-00 | « S . W M8 2 (olofojofojo|olololo|x
2-27 1550-103-242-00 | 2 5> 7 (38) 1 0/0fofojofo|olololo
220]220F]240[240F
® | 247/2058]197]2108
® | 248/2059]198[2109

30



Fig. 3 T72U—F8E

—-

& O B O
- @ 54218 220F-240F
RHES| & & 3 - F dn % w5 [ |x T ToToy
06" |D|X |06
3- 1 1550-104-200-00"| =72 )—7 ASSY 1 |[ofo[ojoj0o|0]0({0(0}0
3~ 2 1550-104-202-00 | ® X—r~—x L A} 1 |ojololofofofolofolo
3- 3 1544-104-203-00 | »-‘y %> 1 (olofofojofojojolofo
3- 4 V271-160-602-50 | & F 3 UKL b M6X25 2v=] 1 |0|0j0olojo{0{0]|0]|010
3~ 5 1544-104-204-00 | -y %> ASSY ' 1|0lojototojololofofo
3- 6 1544-104-205-00 | =<7 1 |olojo|ololojo|ofo}0
3- 7 1550-104-001-00 | 5-s—&—Xx (A) 1 |(0|0jo|0fo|0j0|0|0}0
3- 8 1550-104-002-00 | 5S—%—x (B) 1|0lofojolojolofo|olo
3- 9 1427-101-022-00 | 275> 7 (48) 2 |0{0]0f0oj0|0]0|0]|0}0
3-10 1415-101-040-00 | 2V » 7 (O 1|0(0loioloj0ololofolo
-3-11 1550-104-210-00 { =72 ) —7+ 25— COMP 10! |oio]O olojo] N1~B®
3-11a 1550-104-210-10 | =72 ) —3x5— COMP 1({0jloi0ojojo|0|0|0|00 Ne®~
3-12 V211-360-801-60 | =#H &K+ (SP) M8X16 2 |0olofo(ojojo|olo|0]o
3-13 1434-602-002-00 | =72 Y —F-3v V¥ 1 |ojlojojojololo|ofolo
3-14 V211-360-802-50 | = H AKX+ (SP) M8X25 1 |0fojol0|O|0]|0O]|0O{O]0
3-15 1434-602-224-10 | Z » ¥ 3 ¥ =& (B). 1 |0loj0]0|o|o|0]|0fOl0
3-16 1550-104-220-00 | 1 vy }F-34 7 COMP 1 |a| Jojofo 0loio| Mm1~®
3-16a 1550-104-220-20 | 4 vy b4 7 COMP 1|olofojofo|ofolol0]|o [MB®~
3-17 V304-260-008-00 | = H£F » b M8 2= 2 (oljolofofojojo]ojolo
3-18 V401-160-008-00 | S . W M8 2 (o]ololofojojojoloio
3-19 1480-104-004-10 | =72 ) —Ft>¥ 1 |ojofojolofofofo|olo
220|220F|240 | 240F
® | 234|2003,185|1995
® | 235!2004|186/1996

31



Fig. 4 /J\wTURBE

=
- . iy i 1 = %ﬁg 220F-240F
RHEE B & - Fk - on % " X DXXUUUUXﬁ %
— - _ , '1*106{“{D|X |06
4= 1 1 1550-112-220-00" | ~<»7 ) (N/120) ASSY 12V 4 1 (0| fofojo] [o]o]o] [mi1~®
4- la 1552-112-200-10 | »<» 7)) (75D 31R)ASSY 1|ojolojofolo|o]jo]{o]o|{ne®~
4 2 1550-112-222-00 | o T* 7 F+y I s|o] [ofofo] |ojo]o] [M1~®
4- 2a 1552-112-202-00 | » T 5+ 6|0|ojojojo]olojofo|o[m®~
4- 3 1550-112-223-00 | s =F A &>V 1|0} folojo| [o|o|o] |m1~@
4- 3a 1552-112-203-00 | ¢ =F A2ty 1|o|ofololofo|olo]o]o|{m®~
4- 4 1427-621-003-00 | S»F )&y hKL b (A) 2|o0|ofofolofo|o]olo]|o] -
4- 5 1544-112-001-00 | <o 5 ) x5 — 1|0fojojojofojo|ofofo
4- 6 V411-260-006-00 | 3 H %+ % M6 210lofololofo|ojofolo
4- 7+ | V300-260-006-00 | F » b M6 4]ololofo|ololololo]o
4- 8 -1550-112-003-00 | F—=x4s—7n . 1|o0]olojojo|ofalo|o]o
4- 9 1415-621-017-00 | #—3F A%~ (L20-13) 1 |o|ofolo|ofo]o]ofo}o
4-10 1550-112-002~00 | Ry F ) sr—n 1{0f{ofojolo|olo]o]o]o
4-11 1402-621-014-00 —3FnHps—(L50-14) 1|0|0|l0|0lo{0]0f0fl0Q]|O
4-12 V211-360-801-60 | I #xxr} (SP) M8X16 1]o0f{olofolojo|o]o|ofo
4-13 V304-260-008-00 | =4 %5, b M8 2va 1|oflojojojo|ojolofo]o
4-14 1550-112-200-10 | X» 5 Y <x—=x COMP 1]ololofofofolo]o|ofo
4-15 1544-112-202-00 | 2 v v s v oA 4|o|ojofojojofolo|o|o
4-16 V211-260-801-60 | I H &K1+ (S M8X16 6 |0jolojofojolojolo]lo
4-17 1444-607-002-00 | v —nx y 27 = 1|0|olojojo]ofolo]o]o
4-18 V120-166-001-20 | 752+ <axIP) M6X12 210fofololofo]ojo]o]o
4-19 1548-606-003-00 | x~—+% _ 1|0f{oflojofo]o|o|o]|olo{nO~
220/220F[240[240F
® | 24212055|386 2537
® | 243|2056|387 /2538
©|161]1131(118]1150

32



e

Fig. 5 POt/VEARK

16a
f'\?——IIS
17
= i ®H Ok B K
& 201 2202008
BEHES| B & 3 — F an % XTI ToT0oR &
' B XL |P[Xloe| YD | x |og] -
5- 1 1544-116-001-30 | 72 +€rm 5 ¥ - 1(0flofojojo|o|0|0]|0
5- 2 1544-116-210~-00 | 7Z+&r#U 4% ASSY 1{0 0100 o|0fo N1 ~@
5- 2a 1544~-116-210-20 | 7Z+tar v 4% ASSY 1|0/0jo|0f0|0l0|0[{0|0 M@~
5~ 3 - V411-260-006-00 | $ Ax¥H X M6 410|olojololo|o|o]o]o
5- 4 V500-162-501-50 | 7 ) &> 25X15 2t0|olo|ojolo|o|o|o|0
5- 5 1518-116-102-00 | 77 gL 1(0(0(0]|0j0|0|0]|0|0 O}
5- 6 V111-166-002-00 | 7’5 XF_zH M6X20 2 |0o|olojofolo]|o]o]o]o
5- 7 V411-260-006-00 | S Hx¥FH* 210|o0lolojofo|0]0]|0|0O
5- 8 V401-160-006-00 | S . W 2 10|ololojofo|0]lo]o}0
5- 9 1544-117-200-20 [ 72 &1 13— COMP 10| [olofol |ololo]| [m1~788
5- 9a 1544-117-200-30 | 727 +&r 13— COMP 1{0|lolojofofo|o|o|o]|0|NnFEE~
5-10 1544-117-005-10 | ) » 7 (10%X115) 1lolojolofoflojolo]|ol0
5-11 1544-117-003-00 | 54 =>2 (11X40X3) 1|ol0jolofofoj0|0f0f0
5-12 1404-117-008-00 | v o v+ X7 Y (22) 1]o0]olo|o|o|o|o|0jo]0
5-13 V411-260-010-00 | 3 #*¥H & - M10 1]o|lolojojojolo|olo]|o
5-14 V327-262-110-00 | -3 v#+y b (F4IMIOX125 1vaf 1 |0|0|0[0{0{0|0|0|0|0O
5-15 V500-162-502-50 | 7Y 25%X25 1|0|0foj0j0]|0]|0{0]|0]0
5-16 1544-117-220-00 | x=» b4+ ASSY 10| [ofofo| {o[o]o| [1~®
5-16a 1544-117-220-20 | x=» t AU 4 ¥ ASSY 1|0|oflojo|o|ofofojo]O |N®~
5-17 V411-260-006-00 | I A¥¥FH % 2 |0olojolo]|o|ololo]o]o
5-18 V500-162-501-50 | 7 ) > 25X1.5 2 (olololojolololo]o]o
5-19 1544-117-210-10 | F2=ArT7—4(B) COMP 10| |ojo]|o 0|0(0] |M1~Q
5-19a 1544-117-210-20 | 72 xrT—4(B) COMP 1|0/ofolo|ojo|of0l0]|0 |NMD~
5-20 1544-117-230-00 | 72 v 7—4(C) COMP 1./ 0lofolo|ojo|o|of{0]|0
5-21 3740-161-007-00 | ¥ sy s Fasvtymy M '1|o]|ojofolofo|ofolo]o
5-22 V411-260-010-00 | S HFFHX M10 1|o|o|ojojo|e]|c]olo]o




220

_ _ @ |240|  220F-240F
RHES| 1 &% 23 - F & % x5 [ x| Tol<X[-T870 & £
: : Xlo6,Y (DX los
5-23 V500-163-002-00 | 7 V&> 3X20 1{olofolofofo{alo]a]o
5-24 V411-260-010-00 | 3 #*¥H % M10 2 (o |ojofo| {olo]o] [m1~0
5-24a V411-260-010-00 |  A%¥Hx M10 110fojolofolofofo]o]o O~
5-25 V500-163-002-50 | v Y £z 3X52 210 0100 01010 N 1~O
5-25a V500-163-002-50 | 7Y &> : 3X52 1 10j0joofolofolo]o |0 |mOD~
5-26 1480-117-002-00 | F¥ v a X7 ) >y (52) 1 1o0lofofjolo]ojolo]o o
5-27 1544-116-002-00 | =gruFkrxg - N 1 (0(0|0lofofo|ofo]o |0

220 |220F|240[240F
80| 454| 52| 503}
81! 455| 53| 504

247|2058[195/2100

24812059196 /2101 .

‘elelele]

34



Fis. 8 U59FNAITIIEE

9
Y
. @ %ig 220F-240F
BEHES| 8B & 2 — F an % T 100w &
. B |X] |P|Xlos|V|D[x 06
6- 1 1544~120-200-00 | 25 vy F~v Y2 SET 10| (0]o]oO olojo]| [Mm1~®
6- 1la | 1544-120-200-10 | 25 » F~v v 2 SET 1]o| Jololo]| |o|o]lo| |MB®~O
6- 1b 1544-120-200-20 | 25y Fv v SET 1|0(0]loj0|o|0]|0]0|0|0 [NaD~
6- 2 1544-120-007-00 | * 7 v+ = (19X22X15) 2 |0ojojo|ofolo|0lo|oO]0
6- 3 | V252-261-002-50 | vz 3w+ M10X25 3v= | 4 |0l0f0o]of0f0[Of0|0O |0
6- 4 V203-261-010-00 | IA##0vk (FYA)IM10X1.25%X100| 2 |0jo|ofofofo|0|ofO |0
6- 5 V203-261-003-00 | ZHARVE (F/AIMLOX1.25%X30 2 |olo|olofofo|0|olo|0
6- 6 V401-160-010-00 | S . W M10 5 |olo]ojolojo{o]o]o]o
6- 7 V411-260-010-00 | I #F¥FH % M10 4 |ojo|olololo|o|ololo
6- 8 V211-261-002-00 | 2 H &K MS) M10X20 2 10|olo|ofojo|0folO]O
6- 9 V201-261-203-50 | s #&xA+ |  ~ M12X385 1{oflojololojo|ololo]o
6-10 V401-160-012-00 | S . W M12 3 |o|ojo|ojoloj0fo|o]o
6-11 V411-260-012-00 | 3 AF¥H % M12 1|0jofojofofojojofo|o
6-12 1427-201-007-00 | Fv> 7352 2 10] [olofo ololo| |M1~0
6-12a 7955-201-026~00 FLrr75(1/4) 2 10(0lojo|ofo|0]|o|0[0 MDD~
6-13 . 1427-201-008-00 | vy—A T v v+ (16) 2 (o] |o]olo 0(0{0} M1~0
6-14 1445-120-002-00 | 25 v FL V=T )7 1 |ojojolojolojololo]o
6-15 1550-120-001-00 | XY —7 1|olofolofofo{ojofofo
6-16 1445-120-200-00 | 25 »5 (225) ASSY 1 {0jojofolofo|Ol0O|O}O
6-17 1445-120-201-00 | 25 55422 (225) COMP| 1 {0jo|o|ofofo|0f0]|O]0O
6-18 1445-120-202-00 | 235 » FHh— 1 |olojofojojolofo]o|o
6-19 1415-121-009-00 | Y—==xnr } (M8X25) 2 |oflololojolo]ololo|o
. 6-20 V211-260-802-50 | 3 H &K b (S) M8X25 4 |0jolofol0|o(0lO|O]O
6-21 V401-160-010-00 | S.W M10 2 lofolojolo|o|ojo]|o {0
6-22 V304-260-010-00 | I H &5+ b M10 1{0{ofojolofo|ojolo]o
6-23 V252-261-002-00 | v == 3 &b M10X20 3¢=| 1 [0|0|o|0oj0lo|0]|0|0]0O

35



@ %ig 220F-240F
RHES| $& 3 - K & 2 | (T ToRIXSTITOE
06/~ |D[X]06
6-24 V201-261-004-50 T H AR D M10X45 1 (0jojoloj0oj0j0(0]|0]0
6—25 V211-361-003-50 o AKEN b (SP) M10X35 1 )|0jofo|0fojo|0]|0O]|0O10
6—26 V201-261-204-00 I HE RN b M12X40 210)0i010]0(0 0|00 }0
6-27 V401-160-010-00 S . W M10 1 |0|0(O|0O(0j0(0{0]|O]O

220|220F 240 240F
22611952|179|1938
22711953(1180{1939
195/1570|143 1563
196/1571/144 /1564

sl




| Fl B 7 o5 YFFT B

&/ O B &
. — & lai0| 220F-240F
RHES| # &% 3 - F aa % X[, 0T & %z
S B X [2{X]os|U|D|x |06
7- 1 1550~121-001-00 | £ 7 » b % (20) 1]0/olofo|ofo|ofo|o]o{220.220F®
7-1- 1 | 1553~121-001-00 | 4 ~7 » b ¥¥ (19) 1|ojolofolo|ojojoloo]|240.240F 5
! 1427-203-009-10.| R.B.B( FAv>+)6305 6NR | 1 |0| |ofolo] |ololo No 1 ~3f<B§
7- 2a | 1491-203-006-10 | <7V>7(2F»7Y>2) 63058 | 1 [0{o|o]o]o|o|o|o]o|o [nsres~
7- 3 V704-140-025-00 .| CHA MA D 25 1/ofololo|lojo]olofolo
7- 4 1544-122-001-00 | 4 ¥ 7 5 b &% (37) 1[0} |ofojo| fofo|0]| |M1~@®
7- 4a 1544-122-001-10 | 4 >~ 7 » bE¥ (37) 1|0jolofolo|ofolo]o|0 M@~
7- 5 V600-110-600-40 | R . B . B 6004 1 {ololofolojo|olalo]o
7- 6 V600-110-620-50 | R.B .B 6205 1|ojolojo{o|ololo]olo
-7 V744-125-400-80:| o L—a TC 25408| 1 |0fo]ofo|ojo|olofo]o
7- 8 1550-122-200-00 | ==-<—%n 54>} ASSY 140| {ojofo| [olo]o
7- 9 |1544-122-201-00 | s 2= 3—9roaq b ' 20| |ojolo] |ololo }Na1~©_
7-10 1550-122-201-00 | e Y s4> bhov 7 b 1]o| |olofo| [ololo )
7-11 1544-120-004-00"| 25 55 A &0 1 (0jofofofofo|ofofoo
7-12 V211-361-004-50 | s # 2#KXa b (SP) M10X45 g lolofofolololololo]o
7-13 V781-100-000-20 | 7 2=v %752 PT1/8 1{0jo({ojofolofofololo
7-14 7963-208-004-00 | A4 1%y o7 (23) 1|ojofolofoi{o]|o]ofolo
7-15 1550-120-002-00 | X )=~ %4 ¥ 1{olofololololojolo]o
7-16 - V211-260~802-00 | = H 2%t (S) M8X20 2 |0jolofofo|o|o]olo o
7-17 V744-125-470-80 | #4ns—n TC 25478| 1 {0|ofolololofolofo]o
7-18 1544-120-210-00 | v 4 x¥#&rx COMP 1|0 (0]o]o 0fo|o No 1 ~@
7-18a | 1544-120-210-10 | U4 ¥#*rs COMP 10| {ojojo| |ofofo]| [e@~es
7-18b 1544-120-210-20 | 74 ¥ &  COMP 1 (0| [ofojof |ofo]|o| [MTFTEE~@®
7-18¢ 1544-120-210-30. [ 7 4 ¥k & COMP 1 |{0j0lolofo|ololo]o|0 MmO~
7-19 V211-260-803-50 . | a H&xr b (S) M8X35 2 {ofojojoto]ololofoo
7-20 1544-120-008-00: | 7 —454 7 1 (0| lojolo| [o]o]o Mo 1~@®




—_

1550-122-203-10

®loBlelopebee

2
240

188
189
144
115
116
181
182
179
180
118
182

240F ) -
2018 | —
2019 |-
1564
1181
1182
1964
‘1965 |
1938.
1939
1150
1965

220
237
238
196
161
162
233
234
226
227
161
234

200F
2016
2017
1571
1167
1168
1982
1983
1952
1953
1131
1983

. i e @ e R
D = 2ol 2202408
__FiHj§$=; gﬂméi_fj - F an B 45. % X. Dlx e U Ul Uiox i xz

_ ; 06| Y| D[ X 0§
7-20a 1544-120-008-10 | 7 Y—F-4 7 1 |o|ofofofo|o}o]|ol0[0{MD~
7-21 1544-120-009-00 | ¥=2—7 (300) i|ofololojolo|o]|ofo]o
7-22 3737-172-011-00 | 7 5 v v+~ — %22 5% 1 (ololofololofo]ofolo
7-23 1544-122-002-00 | &> (6X49) 2(0j |ojojo| jofolo
7-24 V411-260-006-00 | ¥ #*HH% M6 3 (o |o]olo| fo]ofo ~Nd
7-25 V500-162-001-00 | v ) &> 2X10 3ol |ojolo| |o]ofo
7-26 V520~101-001-40 | ~f 3 v > (A) 10X14 1|0jolojolojo|olo|olo
7-27 V411-260-008-00 | I AF¥H % M8 2 (ofofojolofo|ofolo]o|n®~
7-28 1544-122-004-00 | = # && 1 b (M8%30) | 3{0folofofoojo]ofo]|0|M®~
7-29 V401-160-008-00 | S . W M8 3 (ofolo]olofololo]o|0MB®~
7-30 1550-122-200-10 | ==-3—¥ar a4 >} ASSY 1ol (o]olo| |ofojo| |+
7-30a 1550-122-200-20 | ==-3—#r a4 >} ASSY 1 |ololojojolojololo]o|—|
7-31 1550-122-202-00 | e==-<—%r Y34~ }R) 10| |ojo}0 ofofo| |[H-MO~B
7-31a 1550-122-202-10 | e ==<—H%n 54> MR) i {olololojolo|olofolo|=H
7-32 1550-122-201~10 | *Y=z4 b+ 7 b 1 (0l lojolo| jolo]o]| |HFMm®~
7-32a 1550-122-201-20 | s ¥s4>bv 7 b 1 |0lojolofo|ofojololo|-H
7-33 1550-122-203-00 | e 2=-X—¥% 134 > h({F) 1 (o] lololo| |ojojo| |-
7-33a e P A AT 110f{ojololo|o oooo—J

38



slolelelolelelololele]

v

220

200F

240

240F .

237

2016

188

2018

238

2017

189

2019

196

1571

144

1564

161

1167

115

1181

162

1168

116

1182

233

1982

181

1964

234

1983

182

1965

226

1952

179

1938}

227

1953

180

1939

161

1131

118

234

1983

182

1965

1150 [

K ~ i@ & T
= ' N - p= 2201 220r-2408
;ﬂ o I — F oo % w [ x| [0l 8% - % g g§ & 3
© 1544-120-008-10 | 7 ) —¥4 7 1 |olololo]ojo|ololo]o|mD~
1544-120-009-00 | F2—7 (300) 1 |olololofolo|olofofo
3737-172-011-00 | 7 5 » ¥+ ~—F AT 5% 1|olololojolo]|olo]folo
1544-122-002-00 | € (6X49) 20| (olofo| {[ofofo
V411-260-006-00 | $ A% ¥ 7% M6 3|o| |ofofo] {ofolo ~thd
V500-162-001-00 | "V E¥ | 2X10 3ol |ofojo| |olofo
V520-101-001-40 | ~4 32> (A) 10%14 1 |ojolojolo]o|ofololo
V411-260-008-00 | 3 A *¥H % M8 210lololojojolo]o]olo|n®~
1544-122-004-00 | =4 &K b (M8x30) | 3lolololojojololo]o]|0|N®~
V401-160-008-00 | S . W M8 3{ojolololojoiolojo|0 B~
1550-122-200-10 | ==-S—¥%nr 34~} ASSY 110l jolojo}l |ofolo] |+
1550-122-200-20 | = =-S—%rv =4+ ASSY 1 |olololololofolofolo |-k
1550-122-202-00 | s==-—¥%rv s34~ IR) 10} jojo|o 0|00 |HMNO~®
1550-122-202-10 | e=2=~A—3%rY a4 > R) 1 |ololofojoloio]olol0 |~}
1550-122~201-10 | a4~ v+ 7 b 10| (ololo| {ololo]| |qFMe®~
1550-122-201-20 | s Y aAf ¥ b x7 b 1|ololololojolololofo |~
1550-122-203-00 so=—F a4 110 olof{ol Jololo J
1550-122-203-10 | * ==-—%AY a4~ }+F) 1|olojolofolo|ojolo o |—

-3t



Fig. 3 JOYRIwyavs—EE
Fig.15_1\j{\\
I
IR LT -
: —{220] o

i == = W | 20|  220F-240F -

&0 GRS 5 oo % % = DXO)%U%%(][(%{{'E B
1544-2015001-00 | 7ar b3y ¥ ra—x 10| {ofojof. 0|0]|0] |N1~®
 1544-201-001-20 | 7B p 3y ¥svs—X 1]0ololojolo]o|olo]|olo|m@®~

V520-100-801-60 | ~f=w > ()  8X16 .5 |ofolofolo|o]|ofa]olo] . .

1427-201-007-00 [ NFLU>7'5 2 < 1|of Jojo|o| |ofo|Of. [M1~@ .

V781-100-006-00 (- T x=v%752  PT 3/8 1{0|ojofolojofojo]0f0|m®~ &

1427-201-008-00 | +=“A Ty v (16) 1{0| |olofo] |olofo]|:[m1~@® . - -

V211-361-003-50 | = #&xa b (SP)M10x35 | 9 |o0jojo]ojojo|ofofolo]:.

V211-361-003-00 | 3 #xa b (SP)M10X30 | 2 (0]olofolo|o|ofolo]o] ]

1544-201-004-10 | 4 > 7 » b 4 20 1[ololojolojofofolo]0

V211-360-802-50 | = Hx&A} (SP) M8X25 11 [o{ofo|ojolo]o|ololo].

1427-210-004-00 | A2 57 % 1]0]ofo| |o

1340-253-002-00 | v—nr%x+ » 7 (35) 1|0flojo} (o

[ 220]220F] 240 240F Al ]
@ [200[1720/143]1717 ' I 1 s 7
| [®]z201]1721]144[1718 o | =t 1 o sl S e e




Figl 10 Ay T hEv—paEm"

' L B2 X
_. p e 220F-2408 [
RHES % T ToTod
JL . =R (Y B I PRt ey ﬁ s X . D X 06 U DI1X {06
10- 1 - | 1544-203-001-10 | 4> 7 5 b ¥+ (29) “1]0o| {ofo]o| |ofo|o]
10— 1la 1544-203-001-20 | 4 >7» b ¥+ (29) ~ ~1(0fo0]ojo]|o|0|o|0]0]0[Na®~
10- 2 V744-125-400-80 | #4rv—a TC 25408 1|o|o|olo|ofolojalo]o
10- 3. | V600-110-620-50 | R.B.B 6205 1|olojofojofofojojofof-
10- 4 |~V600-110-620-40 | R.B.B 6204 1{ofofolofo]ofo|of0]ol]-
10- 5 . | 1544-207-003-00 | R.B.3B 6306R-NR| 1]0fofolofo}o]|o0|ol0jo
10- 6 | V704-140-030-00 | CHZF 27 (2 30 1|olojofofo]ofo]a|ofo]
10- 7 1544-322-002-00 | #5—~ (30%x40Xx2) "~ ~1]ofofo(ofojofo]jojd|o|
10- 8 1544-205-001=00 | Fxz> o+ 7 b 1|olololojof{o|o|o|ofo}
10~ 9 1507-207-007-00 -| R:B.B 6205R 1{olofofo]olo[o|ofo|0f:
10-10 1544-205-003-10 | # o> 2xx (28) 1/o{ojofojofo]olo|0]o]-
10-11 V704-140-030-00 { CH &P Ay (v2) 30 1(0lolojolololo]o]o]of
10-12 1544-205-004-10 | m=—%¥ (24) 1}0fojolofofofojofofo
10-13 1544-205-005-10 | ~f %% (31) . . ~|.1|o|o]olo|o|ofolo]0]0
10-14 1544-205-006-10 | Ho v &%y (37=17)-". ..~ 1 0]/olojofo|olo|of0]o0
10-15 V600-110-620-50 | R.B.B "620% = 1lofololo]o]ojo|ofo]o
10-16 ~ | V600-110-600-70 | R.B.B 6007 1 |[o]ojolofojofofofofo
10-17 V600-110-620-40. | R.B.B. 6204 1{0{o]ofofololo]o|of0
i 220]220F 240 240F
® | 237|2016/188|2018
® | 238/2017,189]2019




Fig.11 hSYXA=Zwa>Fr—@Efk

" O B O
SRRl [ e . pe 2201 220e-240F
RAHES »_E‘ﬂ:‘?ﬁ:l._— B aag - = ” x| [olx|X[ g CTUX ] %
: 06/ Y |D|Xlos
11- 1 1550-207-200-00 | F54 7E=%> SET 1(olololololotololo]o
11~ 2 1544-207-003-00 | R.B.B 6306R-NR| 1 [0|o]o|ofojolojololo
11- 3 1544-207-004-00 | R.B.B 6306R 1{o|ojofolojofo|o|0]O
11- 4 1544-322-002-00 | #5— (30X40X2) 1 |o]ojojofolo]ololo]o
11- 5 V704~140-030-00 | CHA M AT (22 ) 30 1 |0joflolofo|olofololo
11- 6 V600-110-600-50 | R.B.B . 6005 110[0{ofo]o]lolo]ofofo
11- 7 1544~207-001-00 | # o> &¥¥ (33-26-20) 1lolololo|o]ololololo
11- 8 V654-425-301-70 | =— b ( 5¥—v) KT253017| 1 |0jolololo]|ofolo|olo
11- 9 1480-211-005-00 | X5 b #5—(25X38X2) 1(0{oflojojolo|ololojo
11-10 1544-207-002-00 | ¥z > Jx¥ (39) 1|0lojolofo|ofololo]o
11-11 1547-208-001-00 | 7o bF=zroxy (23) 1 olojo|o|o|o]olo
11-11-1 | 1544-208-007-00 | X754 &= 1lo0lo
11-12 1544-208-002-00 | 7a> M F5 47+ 47 k 1 olojololojolo]o
11-13 V744-120-350-80 | #Af rsr—a TC 20358. 1 ololo|lolololo]0
11-14 V704-140-020-00 | CHZ AU (v2) 20 2 ojolofololo|alo
11-15 V607-110-620-40 | R.B.B( F 27w %) 6204NR 1 olojojojololo]|o
11-16 1544-208-003-00 | #5— (21X27X25) 1 0lojo{ololo|o]o
11-17 1544-208-004-00 | x5} H5— (20X28X2) 1 olojo|o{olololo
11-18 V600-110-620-40 | R.B.B 6204 1 ololo|olojolo]|o
11-19 .1550-208-001-00 | » o> &x—*+%(33) 1 ojololo|ojo|olo|{220.220FE0
11-19-1 | 1547-208-002-00 | # o> & % (34) 1 olojolo|o|o|olo]240.240F 5
11-20 1544-208-005-00 | 7o~ bFxvIpha 1 olof{o|ojojoio]o
11-21 1544-209-001-10 | -3y ¥ ¥ —E> 1 |ojolofofo|o|ojofo]o
11-22 V580-140-602-50 | =7 ) > 27 W) 6X25 1|ojolojolojololo|o]o
11-23 1544-209-002-10 | -ty 2 ¥% (26) 1|ofofofolo|ojolofo]|o
11-24 V654-422-272-00 | =— Fa ( F—v) KT222720{ 1 |o|o|ojolofo|ofo]|olo

42



Fig. 11 hSVRAZwygvEv—BEF

E o5& %
- = | & |250|  220F-240F
RHUES| & & 3 - F an % XTI oo & 5
' B X[ [P[X|os|Y{D|xlos.- . . -
11-25 '1427-204—003—10 ASAMAS— (22X34X2) 2(0|0|0|0|0|0O]0f0{0]0
11-26 V704-140-022-00 CHzbAD (DS ) 22 1(0jofoio|o|0]alo|ofo0

43



il
o
)
\.H
H
o
(_3
-
T
&

TTIT T B G B & A

s e [ R - - g L %ig = 220F-240F" - [
BHEE| g &% a3 = F |.. 5. % X100 & E3

v H X |DiX|pelU|D|x |06
12- 1 1544-215-001-00 | F=> v 2 #20 1]of |ololo} |olo|o| [Mm1~@®
12- 1a 1544-215-001-10 | Fz LA & 1|ojojolololo]olo]o|om®~
12— 2 V211-360-803-00 | = # &K1+ (SP) M8X30 7 |0flojojojojololofofo}.
12- 3 1544-215-002-10 | Fz U H4 ¥ 1{0| [ojofo]|.[0|0j0] IM1~®
12— 3a 1544-215-013-00 | Fz>oH 4 N 1]0f0|ofofolo|0jo|0]0NM®~
12~ 4 © V211-260-802-00 | aFzxa b (S) M8X20 210{0{0lo|0o]0]|0|0]|0O :
12— 5 1544-215-250-00 | A4 > 7 b T—au-34 7 SET 10| |ofofo 0l0i0! N1~@
12— 6 s AAvy7 v T—usi47 coMP| 1 {0| lolojo] |ojo]o a A
12- 7 3646-102-011-00 | * 7 » v = (14X16X20) .210]| |olo]o ololo }Nul—»@
12- 8 1488-541-007-00 | o X=X b — (14X22X6) 1 (0| |o]o]o 0lojo
12- 9 1544-215-006-00 | #x& v b .75 1 (0| (ofojo 0/0|0| [No1~788 -
12— 9a V723-102-003-00 | "O "y >z 1/0(0|0j0]0 010[0|0|NeABE~
12-10 V211-260-802-00 | = # £ +» MS) M8X20 2 10j0(0lo]o olofo
12-11 1544-215-230-10 | A4 >v 7 F7—4 COMP. . 1(0; |0jofo]| {0(0|0f M1~B
12-11a 1544-215-270-00 | A4 ~v 7} T—4 COMP -1{0|o|ojojo|olo|olo|0NB~
12-12 3761-212-004-00 | AAXHS— (T ) P AFH X 1(0(-{o]|0]0 000
12-13 V210-260-601-20 | Kt (S M6X12 1|of |ofofo 0lo]0 }Nul-»@
-12-14 3746-321-014-00 | "xvsFa v v 2 h> T Yo 10| |olo]o ofolo]| -
12-15 ©1550-215-200-00 | A4 >v7 b Lo3i— 1]0 0fo|o 0(0{0| NM1~@
12-15a 1550-215-200-20 | #4 ¥~ 7 b voi— COMP 1[0{ololojo]o|0]|0|0]|0 M®~
12-16 1544-215-004-00 | F=—7 (14X130) 1]olojolojolo|olololo
12-17 V580-140-502-50 | xF Y>> ) 5X25 10| [olo]o 0l0|0 }N“-N®
12-18 Fy 1.0X90 1/0| [0jo]o 0{0(0] |a
12-19 1518-213-014-00 | vo3i— 110 |olo]o 0l0|0] MN1~@
12-19a 1544-215-012-00 | vS—JF 1|o0|olojolo]|ololololo @~
12-20 1550-215-001-00 | v=AF—v 1|0lofofojo]ofo0]o|ofO

44



Fig.1? FrYIL/N—BE

; &#@B G B O

= R 3 @ 338 220F-240F

RHES| 8B & 23 - F & % X7 ToToTod &
_ B | [X] P X|og|Y[D]xJos| -

12-21 ~ | 1544-215-011-10 | 343232 &0 1(0(0|0j0 |00 ]0(0O(0{0 |
12-22 V720-112-401-40 | "O " ) P14 1(olofo]olojo|ololo]o
12-23 V211-260~802-50 | = H&x b (S) M8X25 1{o|ololojolo|ofolo]o
12-24 V201-260-806-50 | =4 &Kn b MB8X65 2 (0i0f0folo|o|0oi0o]o {0
12-25 V401-160-008-00 | S . W 1]ofojololo{dololo]o
12-26 1544-215-015-00 | V=T HK—rA7T ) s 210fojolojojojofolofo| 7
12-27 V705-140-028-00 | CHAL AT (TF) 28 2(o0lojolofolo]olo]ofo
12-28 1544-215-014-00 | Vo + X7 Y2 (60) 1/0(ojofojo]o|ojojo]o
12-29 | 1544-215-016-00 | F=z ¥ o7 —v _ 1|0f0]0 040100101000 | |\
12-30 Ty 1.0X120 s|ofojojo]ojo]ololo]o o :
12-31 1432-216-003-00 | =4 #HA b M8X16 1|/0lojojojo|o|o|ofo]o |
12-32 1oooooooooo-J

1544-215-260-00

A4 vy T v T—2-4 7 COMP

220

220F

240

240F

194

1551

143

1563

®
®

195

1552

144

1564

45



“Fig.12-1 3¢

gy

Fig.13 Fx2IIT5BF -

O BOR
=T . - = 2201 - 220m-2408
RHES %fsl:'x:f:_3~"~~f‘ an = % x| TolxIX[5 0[O {i& C
06{“|D[X]|06
13- 1 1544-216-001-10 | = — 7 225 — 1|ojojojofofo]olojolo
13- 2 V720-102-401-00 | "O "y p P10A 2 (0jotololo]o|olololo
13- 3 1427-210-003-00 | 24 &K1 b 2 |ofojofofolo|olofo]o
13- 4 V401-160-008-00 | S . W M8 210(0|ofofolo|o|ofo]o
13- 5 V411-260-008-00 | I HF¥H X M8 2{o0|ojolololo|olo|o]|o
13- 6 1544-216-002-20 | s —v 7 & 1{0jolofojolo|olofo]o
13- 7 1507-307-003-00 | v7 2x7 V> 210lojolo|o]loflololoio
13- 8 V680-200~001-00 | XF—nK—i 5/16 2(0|0ja|o|o]o]ojo|ofo
13- 9 V704-140-014-00 | CHA P AD (P2 ) 14 1/0(ofojolofolojolo]o
13-10 1544-216-003-10 | ~{ 7 2= 5F— 1|0|o|ojo|o]o|olo|olo
13-11 V720-102-401-00 | "O " V> y P10A 2|0folo|ojo|o|0|0f0|O
13-12 1544-216-004-20 | ~f v 7 & 1|0|o|lo|ojolo]|afo]o|o0
13-13 1544-218-001-00 | #7777 & 1|ofofo|ololo|o|ofo]o
13-14 1302-225-003-00 | v 7 227 Y > s 1|0jo|o|o|ojo|0|olo|O
13-15 V680-200-001-00 | xF—rK—1 5/16 1]0]o|ofolojo|olo|of0
13-16 1544-218-200-00 | ¥7'v7 b 7— a(a) COMP 10| [(0]0]0 0[0]0]| {N1~@
13-16a 1544-218-200-10 | ¥ 7 <7 b 7T— () COMP 1|olololololo|o]|ofo |0 (M@~
13-17 1544~218-002~-00 | 7v—} 1|0|ojojololo]o|o]o |0
13-18 - V211-260-801-60 | = # &K MS) M8X1 6 1/0fofojolofo|o|olo|O
13-19 V720-102-401-40 | "O " V> r P14 1/0|o|ojo|o|ojo|0}0 |0
13-20 1550-218-200-00 | ¥ 7~ 7 +7—2x COMP 110 (0i0]o0 0|00 |NM1~@
13-20a 1550-218-200-10 | 77 7 —4 COMP 1|0fo|ofofo|oto]|ofo |0 (Ne®~
13-21 V580-140-502-50 | X7 V> 2 &) 5X25 1|0lo|0|0|ojo{ololo|0
13-22 Fy k> T 1.0X70 1|0]|ojololojojoio]o]|0]|a
13-23 V201-260-802-00 | = # &K b M8X20 1 (0fo|otofolo|o|ojolof -
13-24 V304-260-802-00 | = H£F» b M8 2va 1 (o0]jolojolojo{o]ofo]O

46



Fig.13 FxYIITHER

. & e B &
. . pe 201 22082408 ,
RHES| # &2 - F & % x| x| [olxIXg|CopR & %
06/ [DiX|06] - -
13-25 1550-218-210-00 | %>~ 7 F-<4 7{4) SET 1{0jo|oflojo|ololo|ofo
13-26 3625-112-001-00 | ¢~ » = (16X18%25) 2 (ololojojololojolo]o
13-27 1550-218-001-00 | vZ7bay v (¥7) 1/0|o|o(ojo|o|ofo}ol0
13-28 1550-251-012-00 | 7 by F(21)—=7)®B) 1{0f{0f{oflojo|o0|0}0f0O]O
13-29 1444-307-005-00 | £—>-»3y 2 (M10) 1|/0|0|0ojo|o|o[0j0]0f0
13-30 V304-260-010-00 | = H &% » + M10 2= 1]o|o0jofolofololo]olO
13-31 1401-304-011-00 | v F(exV4) ML0 3v= | 1 |0|0|0|ololo]|ololo]lo -
13-32 V411-260-008-00 | I H¥¥Hx M8 2 |olololo|olojolofo]o
13-33 V500-162-002-00 | 7 ) &> 2X20 2 |olojofolo|o|o0|0|0]O
13-34 1550-218-230-00 | #7'+7 b -34 7(B) SET 1]0|o0|ojo|ololo]olo]o
13-35 1521-507-103-00 | 7 » 22 (16X18X15) 1|o0|0|l0lolofojo|o]o]o
13-36 3625-112-001-00 | * 7' v v = (16X18X25) 1|of{o|o0fojolo|o|o]o]o
13-37 1550-218-250-00 | ¥ v-3i— COMP 1 (0| |ojolo] {ololo] [M1~®
13-37a 1550-218-250-10 | %7 v-3s— COMP 1|0|ojojololofofojol0 [MB®~
13-38 1544-215-004-00 | F=—7 (14X130) i1|0jo|olofofololololo|
13-39 1518-213-014-00 | v-i—_ 7 1{0f (ojojo| |ojolo! |M1~@
13-39a 1544-215-012~00 | v5—/F 1(0]0{0(0{0(0{0|0{0[0 |Na®~
13-40 V411-260-008-00 | S Hx¥H % M8 2 (olololojojo]jo]ololo
13-41 V304-260-008-00 | = &5 » b M8 2va 4 10(0|0(0j0|0j0|0]|0]O
13-42 1544-219-001-00 | 7o~ b7 2XF— 1 olo|o]jo|ojo]olo
13-43 V704-140-014-00 | CHE LAY (P2) 14 1 ofojojojofo|olo
13-44 1544-219-002-00 | 7 o> bFx>Yv7 2 1 ololo]o|o|o]o]o
13-45 1302-225-003-00 | 7 227V >y . 1 ojofojojolo]o]o
13-46 V680-200-001-00 | XF—K—n 5/16 1 ofofofofolololo
13-47 1544-219-200-10 | 72> b7 b 7—2x COMP |1 olofo o[ojo| [N1~@
13-47a 1544-219-200-20 Zury b7 b T—au COMP 1 0{0(0(0|0|0[0|0 [NB®~

47



& G =@ =
= & 338 - 220F-240F
BEHES| 8 &% 2 - k &n % " - DXXUUUUXﬁ =
06 |D| X 0§
13-48 1544-218-002-00 | 7"v - } 1 ololo|ojofofo]o
13-49 V211~260-801-60 | = 4 2K 1(S) M8X16 1 ofo|olo|ofojolo
13-50 V720-102-401-40 | "OQ "y P14 1 ofojolojolo|o|o
13-51 1550-219-200~00 | 7 =~} LoS— COMP 1 0100 0|0/0]| [M1~@
13-51a 1550-219-200~10 | 7 =~} Loi— COMP 1 0(0(0|0([0[0}0]0|N®~
13-52 V580~-140-502~50 | =7 Y > & M) 5%25 1 {ofjojolojoioflolo
13-53 F ok 1.0X70 11, ofolofololo|ojola
13-54 1544-219-006-00 | /7 (12) 1 ojofojolojofolo]|
13-55 1544-218-005-00 | F¥o—7(60) 1 0/010{0[0]0|0|0|NB®~
22071 220F | 240 | 240F
@ |191|1478{134]1476
® | 19211479135

1477

48



Fig. 14 JU—THEfR

'@ K B &/

= 20| 2z0m-240
BHES| B &= 3 — F no £ X0k &

B X [P Xlos VDX o6
14- 1 1550-251-001-00 | ZV—F A &n 1|ofotojofojo|lo|olofo]-
14- 2 1544-201-003-00 | A X4y b, Ho5— 1 |ojojolofololojo|olo
14~ 3 V520-100-801-60 | ~4 = v £ A(A) 8X16 2 |0lojofololo|lololo]o
14- 4 V211-260-802-50 | = #2521 MS) M8X25 710/0({0]0|0|0[0|0|0O]O
14— 5 V211-260-805-00 | =4 £x 2 MS) M8X50 3 (ojojo|o|ol0|0f0|O]|O
14— 6 1550-251-002-10 | zV—7Av > A2¥¥ (11) 1(0(0foj0oj0|0|0f0]0OfO
14- 7 1550-251-003-00 | Z V—7H D £¥Ex  (25) 1 |0j0fojofololof0lO]|0O
14— 8 1550-251-004-00 | Z2Y—7Hv>raxt (43) 1|o0lo|ojojolo|olojolo
14- 9 V600-110-600-40 | R.B . B 6004 1|0|0]ojofoj{o|o|OfO]|O
14-10 V704-140-020-00 | CH£x b 2D (2)20 3 |0l0jofojolo|ol0]|0]0
14-11 V600-110-620-20 | R .B . B 6202 1|0i{0jojofoja|lofofo]o
14-12 V705-140-035-00 | CAHA b Ay (77 )35 210j0jol0o|o|0|0|0O|O]}0O
14-13 V704~140-015-00 | CHA b AD (22 )15 1|0]ojojojojo|0]O|0]|0
14-14 1550-251-005-00 | ZY—7Hpv>2a¥y (20) 1|0j0jojo|o|0faf0l0|0
14-15 1550-251-006-00 | Z V—7%%(21-34) 1{0/0jololoflo|o|of0}0
14-16 V600-110-620-20 | R.B . B 6202 2{oloflojo|olololo|o]o
14-17 V705-140-035-00 | CHA P AT (TF) 35 1|0f{0jolofofo|ojof0foO
14-18 1550-251-007-00 | 2V —7 v 7 #ARF— 1|o0fojojofoflo|ofof0]|O
14-19 V720-102-401-00 | "O" Y>> P10A 1|0j0fo|ojojolofafo|0
14-20 1550-251-008-00 | 2 Y=~ 7 & 1|0j0jo|ololofalofo]|0
14-21 1302-225-003-00 | ¥ 727 ) 1{o|ojolojofo|afofalo
14-22 V680-200-001-00 | XF—rFE—n 5/16 1 |ofolofojololofo]olo
14-23 1550-251-009-00 | X b o "7 L—} 1|o0folo|ojo|o|oloj0f0
14-24 V211~260-801-60 | = HEKELL (S) MBX16 1 |ofo|ofojolofofafolo
14-25 1544-219-200-10 | 7o~} v 7 b 7—2x COMP 1|0l {ololo]| [0]|0f{0| {M1~@
14-25a 1544-219-200-20 | 7=>» b7 b T—2 COMP 1|0|ofojofofo|0(0fO|0 (M@~




@ B E O
: = 2201 22082408
RHES | 8 & 3 - F &a % % | 1x[ olxIX[g[C[00] #
06/ °|D|X|06
14-26 1544-218-002-00 | 7L —} 1 4o0lofololololojo]lo]o
14-27 V211-260-801-60 | a H&x b (S) M8X16 1 |ofofolojolofolo]o]o
14-28 V720~102-401~40 "oO"yrs P14 1 ]0f{ofofo|ofo]ofofolo
14-29 1550-251-200-00 | 2 ) —7< 7 + 77— COMP 10| [o]ojo} |0f{0j0| |N1~0
14-29a 1550-251-200-10 | 2 Y—F+7 F 7— 2 COMP 1 |0f[ojofolofofolo|o|0|{NO~
14-30 V580-140-502-50 | x7' J> 2> (1) 5%X25 1 {o|olojojofo]ololo|o
14-31 F ok 1.0%70 1 |(olofojolofololololo]|a
14-32 V201-260-802-00 | = # &#& b M8X20 1 (0fofofolo(ofolalo|o
14-33 V304-260-008-00 | =2 H &9, M8 2va 1 (ololofojolojolololo
14-34 1550-251-210-00 | 7YV —F 7 b4 7 SET 1 |ofofofololo|oloio]o
14-35 1521-507-103-00 | 7 5> a (16X18X15) 1 |alojofjolofojofolo|o
14-36 3625-112-001~00 | » >y oo (16X18X25) 1 (ofofofojofjololoio]o
14-37 1550-251-011-00 { 7 b=y (2 Y)—7) (A) 1/olofojofojolo]olo]o
14-38 1550-251-012-00 | ¥ 7 b=y F(2V—7) (B 1 |0|ojofojojo{o(o]|0]|0O
14-39 1444-307-005-00 | £#—>»35 2 (M10) 1 |oj0fofofolo|o]olo|o
14-40 V304-260-010-00 | =54+, }+ M10 2¥= | 1 |o|0jofolofolololo]o
14-41 1401-304-011-00 | > » b (ex Y%xv) M10 3= | 1 [olo]ofololololololo
14-42 V411-260-008-00 | 3 #H¥¥H % M8 2 10|ofolofo|of{ololo o
14-43 V500-162-002-00 | o) > 2%20 2 (0]ofofolo|ololojo]o
220]220F[240][240F
@ |191[14781134][1476
1®|192|1479|135[1477
g ©1191]1491{135(1487
01192]1492|136|1488

50



. Fig.15 UPSvyavEf

—r

= O # %
. — T & |aig|  220F-240F

BHES| £ 5% 3 - F o— % X[ olupx &

B [X] [P{X|oe/Y|D|x]os
15- 1 1550-301-001-00 | V¥ v ¥s¥o—= 1|0|oflojojo|o|0foj0|0
15- 2 V252-261-005-00 | v =3 3 Kb M12X50 3va 2{olojolojololojolo|o
15- 3 V251-261-003-50 | v == 3Kk M10X35 2va 2(olojolo|o|o}o|o]o|o
15- 4 V251-261-004-50 | v T3 I KA+ M10X45 2va 2 |olojofolo|lojolo| o]0
i5- 5 V251-261-002-80 | =33 b MIOX28 2va 2 (0l0|0|oj0|0|0{0] 0[O0
15- 6 V520-100-801-60 | ~4 =¥ £ 2(A)8X16 6 |'0]0|0jlojo|0|0|0]0|O
15— 7 1421-433-004-00 | / y 7 ¥ 1{o0|/0|ojo|olo0lo|0O]0}O
15- 8 1480-433-001-00 | yx=a 3 KA (v—nm v 27 ) 6 |0|/0j0|0j0o|l0|0|O|0O]|O
15- 9 1550-301-002-00 | FT7 &r—2 A &N L) 1|o0{o|ololo|0|ofjo] 0|0
15-10 1550-301-003-00 | F7 #—X A g1 ®) - 1({0{oj0lolo|0|l0O|O]|O0|O
15-11 1550-301-004-00 | F7 r—=x 2 g van (A) ARjO|0]0|0|0|0|0|0|O0/0
15-12 1550-301-005-00 | ¥7 & —= A 21 v s (B) 8 (olofololofololofolo
15-13 V211-261-002-50 | I #z2xA+ (S) M10X25 8 {0]0(0folo|0|0|0|0|O
15-14 1550-301-006-00 | PTO # 4 1]o0lo|ojofo|o|ojOlo0f0
15-15 1550-301-007-00 | #x4» b PTO #*4n 1|olojojojojol0]o|o0]0
15-16 V304-260-010-00 | = H&F » b M10 2= | 6 |0|0j0|0l0]|0]|0O|0]|0]|O
15-17 V401-160-010-00 | S . W M10 g |ojojolotfo|lo|o]ofolo

51




Fig.16 O —XEB%

Fig.15-1

1 -
|21 | . ’

16
7
BB G B X
= =y | 2io|  220F-240F
RAHES| 8- &% 3 - F aa % o x| Iplx[X[yTOTUex & %
2 06{“|D|X |06
16= 1° 1550-304-001-10 | F7 4 —=x 1]0|/ofofolojojolo|o]|O]f-
16- 2 1480-301-002-10 | F7 E=F>v+7 +A) 1lo0flojolo|ojolololofo
16- 3 1480-301-003-10 | 77 =4 > v+ 7 MB) 2 |ololofoj0jo]ofolo]o0
16— 4 1425-431-015-00 | F7 e=24>(11) 4 lolofojolojojoj{olo]o
16- 5 1427-301-005-00 | E=4> A5} H5— 4 |olojolojolo|olo|0]o0
16- 6 1550-304-002-00 | =~n¥¥ (20) 2 lololofolo|olo|olo]of
16- 7 1421-301-012~00 | X5 X b H 5— (43X58X1) 2 |ololojolo|olojolofo
16- 8 1425-431-021-00 | F7 €= > v+ 7 hHrg 1|0|ofofolo|o|o|ojofo
16- 9 V520-100-801~60 | ~f =¥ > (A) 8X16 1|o0lofl0|o|o|ololojof0
16-10 1544-304-007-00 | ~f 3w > (A) 8X32 2|olo|ololo|loloj0joO]O
16-11 1550-304-007-00 | = A &KX b (M10X28) 4(0folofolojo|o}ojo]o
16-12 V401-160-010-00 | S . W M10 4 (0flojolololololalo]o
16-13 V600-110-601-10 | R .B . B 6011 2i{0lololoto|ojololo]o
16-14 1550-304-003-00 | A"fr=7>(11) L) 1loflojolojojojolojo]|o
16-15 1550-304-004-00 | x4 rE=24>(11) ®) 1 |0fo|ofofojo{0f0j0|0O
16-16 1550-304~005-10 | FUm v 225 »F 1{o0fololojolojolo|o]|o
16-17 V600-110-630~-70 | R.B . B 6307 210|{o|olo|ofo]ojolo]|o
16-18 V705-140-080-00 | CHAL A9 (T7F+) 80 2 |o|o|ojo|o|lo|o]olo]|o
16-19 1550-304-006-00 | #5— (35X45X3) 2 |0f{olofolo|o|ololo]|o
16—-20 V704-140-035-00 | CHA A D (22) 35 2 (0j0|ojo|o|0|0O|0O|0]0O
16-21 1550-308-200-00 | ¥7 =52 +7 & COMP 1]0jolofofo|o|olojo]o
16-22 1550-308-210-00 | ¥7 = » 277 b E> COMP 1|0(0|0jofo|0|oj0|O]O
16-23 1480-304-001-00 | 7 » '+ 1|0{olojojo|o|ojo]|o]oO
16-24 V744-114-280-70 | A4 rv—an TC 14287| 1|0lolojolo|o|o|ojajo
16-25 | 1550-308-220-00 | ¥7 oy 2 7F7—4 COMP 1i10(0/ofofofo|0|0l0]0
16-26 1480-304-002-00 | S Vx> 1/0|/0jofofofo{o|ojo]o0

52



Fig.1§ F74—2E&

®H L B O
& %ﬁg 220F-240F i
RH&EE] B & 3 — B an Z X &
Ulufox Vs
= o B |X| DI Xigsl UID|x ol - - -
16-27 1550-308-230-00 | = » I COMP 110} {0j0]0 000} [N1~@
16-27a 1550-308-230-10 | = » ¥ COMP 1|ololololojo|o]|olo |0 |N@®~
16-28 V411-260-008-00 | 3 #x¥H i M8 3|ololofo|olo|ololo o
16-29 V500-162-502-50 | vy &> 25%X25 2 |(ojololololofololfoio
16-30 1427-301-021-00 | F¥va¥x7 )2 (121) 1 |ofojofojolof{olo|o o

220]220F

240

240F

2311980

181

1960

20

23211981

182

1961

53




Fig. 17

U —7OXIVESR

V705-140-085-00

w O B R
i ) = = 20|~ 2z0m-2408 _

E.Hj§‘5 gﬂun:—f“ i -T- % %5 X DXXUUUUX{,E *

06/ [D]| X |06
17- 1 1550-306-001-10 | Y ¥ T Z2RA~D I (1) 1 |0folofofofofololo]o
17- 2 1550-306-002-10 | V¥ T2 =A~p oo R) 1 |0f0jojojolojofo]ojo
17- 3 1550-306-003-00 | #=x& v b, VX T2 2L 1 21ojolojojo|ojolojo]|0
17— 4 V251-361-604-00 | v =o I KA b MIEX40 22 7T| 2 |0|0|0O(0|O[0f0[O]|0]|O}
17- 5 V211-261-003-50 -] = # &K1 MS) M10X35 6 |0fofofojojo|0fo|0O]O
17- 6 V211-261-004-50 | =4 &x MS) M10X45 14|0f0jo|o|ofof0|0fOf0
17- 7 V304-260-010-00 | =5 &% » b M10 2v= | 4 ]0jo0f0of0|o|ofo|OfO]0
17- 8 V401-160-010-00 | S . W M10 4 |(0fo|o]ojo|o|o|o|0O|0
17- 9 V201-261-007-00 | o4 &x0 b M10X70 2 {0|ojoloj0|o|o]ofo0]|0
17-10 7955-201-026-00 | Fv> 752 (1,/4) 2 {0joj0foj0(00]Ol0f0O]
17-11 1550-306-200-10 | a7 VY2754 » ML) COMP 1 (0jofofojo|o0|0f0}0O|O0
17-12 1550~306-210-10 | =7 Y >»2 754 » FR) COMP 1{ofolofofofofofo]|0}0
17-13 1550-306-004-00 | 54 » F7L—} 2 {olojololo|o|o0j0t0jo0
17-14 V201-361-215-00 | a H &KL} M12X150 7T| 6 {0j0|0|0|0]0|0]0{0]0
17-15 V304-460-012-00 | #+ v }+ Mi2 2v= 7T! 6 |0|0|0ol0o|0]0|0]|0]0]0
17-16 V401-160-012-00 | S . W Mi12 6 |0flojoto|ojo|0jOj0|0} -
17-17 1552-307-001-00 | &4 w7 b 2 ({0flojojolojo|ofofofo0
17-18 1550-307-002-00 | A4 ¥+ (62) 2 |o0lojofo|lo|o|o|l0|0l0
17-19 1550-307-003-00 | »<4 7 (139) 210(olo|ojo|o|o|0|0i0]
17-20 1550-307-004-00 | X+ w7 Y2 4|0|ofolojolojo0f0|0|0
17-21 1550-307-005-00 | 2w xv—n _ 2 (ololofojo|ojo|lo|ofof-
17-22 V600-110-630-70 | R.B . B 6307 2 |oflolofojof{ojofo]|0fO
17-23 V600-110-620-90 | R.B . B 6209 2|0|oflofojo|oloflo]0|0
17-24 CHEIYAD (TF) 85 2 |ojolofolojo|olo]|0f0




- Fig.18 JL—*@B&%

—— _ . #@ O B X
e N - & | 50| 220F-2d0F
RES | &3 — F | & % w5 | x| TolxIX[oToTonx
N : : 06[“ |D]| X |06 -
18-0-1 1550-310-200-00 | Yv—=* ASSY 210] |olo]|o olojo| |
18- 1 1544-310-260-10 | » 7v s v v Tv—+  COMP 20| |ojojo 0/0|0
18~ 2 1544-310-202-00 | s XF—Ax—n ‘ 30l (o]lo]o 0f{0{0
18— 3 1544-310-203-10 | e YV Fg—>rRFT Y r 2(0f (0]0f0 oflojo]"
18- 4 1544-310-204-00 | ¢ V>2zx2 & . 10| |0(0]0 olofo -NL 1 ~7<ER
18- 5 1544-310-205-00 | s ¥>azis & 2(0f |o|olo 0lojo
18~ 6 V500-162-001-80 | ¢y > 2X18 2 (0| {alojo]-|olo]o
18- 7 1544-310-207-00 e F 4R TV—} 410 0(0f0 ojofo
18- 8 1544-310-208-00 | * &L —& 71—} 2 (0| fo]0|o olo|o J
18- 9 1550-310-001-10 | Zv—=H-<— (1) 110fofojojoiojololol0
18-10 1550-310-002-10 | Fv—%#-3— (R) 1|0jolofofofo]|o|olo|0
18-11 1550-310-003-10 | #X&» b T v—FHho— 2|aflojofololo|olo|olo
18-12 V211-261-003-00 | aH &KXt (S) M10X3 14 |0fofojololofofolofoO
18-13 V201-261-013-50 | a4 Zx b M10X135 6 |ofofc|lojolo|o]lololo
18-14 V401-160-010-00 | S . W M10 6 0jofojolaolo{olo]o|O
18-15 V744-135-480~80 | A4 vy —n TC35488 1|0fofofofofo|o|o]o]O
18-16 1550-310-220-10 | “v—FHa k> SET 1|o|o{ofofofololololo
18-17 1544-310-230-10 | v —*%4 COMP 1/olo|ofololo{olofai0|
18-18 V744-125-350-60 | A4 rv— AE1292GO TC25356 | 1 [o|ololololo|o|ololo
18-19 1544-310-240-00 | Fv—=*7—u4(A) COMP 110/0(0fl0flo{0l0]0]O{0O
18-20 V511-100-805-00 | ¥ &9 )F—-<—E> 8X50 1|ojolcfofofo|o|ofolo
18-21 1544-310-250-00 | »'v—=*7—4(B) COMP 1(ojofofol|ofo|o]o]|o|O
18-22 1544-310-004-00 | " » &+ (36X58%X3) 10/o(ofofojotololo]O
18-23 1544-310-005-00 | 7 »~+ (26X48X3) 11{0f0l0]lo|0|0|0]|0|O]O
18-24 V720-103-503-50 "o Yy P35 1|0|ojofolololoio]oi{o
18-25 V742-125-380-50 | A4 v—n VC 25385 110(0lofofolof{olololo




. 1= & Iy
3 pe 201 22082408
RE&ES| & a2 - k B4 & w | 1x| Iolx[X[g[0[opn & %
06/ U|D | X [og
18-26 V520-100-801-60 ~f3a3v Ky (A) 8X16 4 |10j0]j010]0l0|0lO|O]|0O
18-27 1550-310-240-00 7'v—*F ASSY 2 |0|(0j0j0|0|0]l0l0]|0O |0 D
18-28 1544-310-281-00 s 77v— b ASSY g8 |0|0|o|ofo|olo{olo|o
18-29 1544-310-282-00 e XF— A 4 |0j0jojojo|ojolofo]o
18-30 1544-310-283-00 ¢ 2F — K- 310|0(0(0l0|0i{0|Ol0OI0O
18-31 | 1544-310-284-00 | * x>V > 7 (HE023) 2 olofolofolololo]olo] e~
18-32 1544-310-285-00 LRS- O 1 |0jo(ojofo|o|o{ot0o {0
18-33 1544-310-286-00 > (10X18) 2 {0lojotojolo({o|o0|O|o].
18-34 V500-162-001-80 cy Yy 2X18 2 |0j(0]|0|0|010)l0l0l0 0
18-35 *TIF xz— 4 ASSY 1 {0jo(olojoJojol0jo |0 JA

56



Fig.19 JL—+~% LB

V411-260-006-00

&/ O B O
: pe 2201 220-2408

RAES| 88 & 3 - F An % s | x| TolxIX[o[O[Ux
06{"Y|D|X |06
19- 1 1544-312-200-10 | Fv—%~xnr (1) COMP 1 |0f{ojolofo|0{0[0{0]0

19- 2 1544-312~002-00 | 7 v o = (25X28X25) 2 (0] folo]o 0010 A
19- 3 1544-312-230-10 | 7v—*~gnr (R) COMP 1 (0]|0o|ofo]0f0|0|010 {0
19- 4 1544-312-220-00 | 7—x COMP 1|0folojofofo|ofofo|o
19- 5 1544-312-001-00 { Fv—F <+ 7 b 1 |olofojololo|olofolo
19- 6 V511-100-805-00 | ¥y ) F—-"—E> 8X50 2 jofololofojo|ofo{0{0
19- 7 1432-242-001-00 | ¥~ 4 |ojofolojojo|ofol|o}0
19- 8 V411-160-008~00 | $ #F ¥ H X "M8 4 |olofolofolo|ololo]0
19- 9 V500-152-002-00 | v ) &> 2X20 4 |ofololofolofololo|o
19-10 1434-122-004-10 | F> v avRxT Y vy 2 |ofojojololo|ofofo]0
19-11 1550-312-200-00 | Yv—=*m, F(500) COMP 2 (olojojolojo|o(o|o]0
19-12 1544-312-240-00 | 7 2= 4 (L) COMP 2 |ojo|o{o|o|o]ofo|o]O
19-13 1544-312-250-00 | 7 £<=% (R) COMP 2 |0jlojo|ojo]o|o|ojo]O
19-14 V304-260-008-00 aHL&F e b M8 2v= 2 10(ofololofo|ololo]O
19-15 1401-122-005-00 [ >+ P (g Uixy) M8 3va 2 |0flojoj0|ofo|ofo|O|O
19-16 1544-313-200-10 | ~A—F > v-3— COMP 1]0f [ofo]o 0[0{0]| [No1~7BEH
T 19-17 V411-260-008-00 | 3 #F%¥FHR M8 1/o0jojojololo|ol|ololo
19-18 V500-162-501-50 | 7 ) &> 25X15 2 |ofojojo|o|ofo0jo|0]O
19-19 1480-117-002-00 | $> v s 27 V22 (52) 1 |olololofololololo|o
19-20 1544-313-201-10 | =X} » -3 1/o0jolofojojofoloio]o
19-21 1544-313-001~-00 | ~“—%> 2o, I 1(0(of{0lo|ojO|0|0]|0O (O
19-22 1544-313-210-00 | 7y v a7 v—}F COMP 1|0jofo|0f{0]{0]0[0]0]|0] NoABE~

19-23 1370-405-003-00 | L v+ 27 Y2 (83) 1{o0f{oflo|ofojo(ofo}o]0
19-24 I HFTHF M6 1(0f{ofojolojo|ofolo]0

57



Fig.20 Ub—ik1Lam

e VR ¥

220

- o . @ | 240| " 220F-240F
El‘-ﬂ%% gﬂlﬁ::-— F t'l=tll>- % & X DXXUUUUX‘ﬁ %
06/°|D|X |06
20- 1 | 1444-331-220-10 | W7 - 24%4 )2 COMP 2-(o{ojojojo]| |ololo| |7
20- 2 1446-331-211-00 | &4+ 95-24-4PR{ 2 |0|0|o]o|0]| |ofofo0
20- 3 V889-000-092-40 | F o —> 9-24 210lofo|o]0} lolo]|o [220.220F2
20~ 4 V999-300-001-00 | #4¥-<n 7%+, 7JISD4212A| 2 {0|olofo]o| [olofo]| |J
20- 5 1447-331-220-00 | W1 0-24 FA4ArYa 2 ]0f0|ojo0|0 ojojo| [N
20- 6 1447-331-212-00 | V¥ —FKA T4 22" 2 |ofojolojo] |ofolo .
20- 7 1447-331-213-00 | # 2% =AT A<=HKr} 8 |olojolol|o| jolo]|o
20- 8 V300-460-016-00 | 5 » b M16 8 |o|lojojolo} |ofo|o
20- 9 V302-460-016-00 | 5, M16 3v= | 8 {ojolofofo| fo]ofo =240 .2408
20-10 V401-160-016-00 [ § . W M16 8 |o0|0jo|o]o| |o]|o]|0O
20-11 1447-331-214-00 | £4+% 112-24-4PR| 2 |0f0|0{0{0| |o|o0]o
20-12 V889-000~112-40 | Fa—7 11-24 2 1olololo|o] |ofo]o
20-13 V999-300~001-00 | 24 v+ ,7 JIS4212A( 2]0|ololo]0 olojo| |J
20-14 1444-331-220-10' | W7X 24 &4 1Y s COMP 2 0 0
20-15 1552-317-211-10i | SYTr x4 ¥ (95R-24)| 2 0 0
20-16 V889-000~092-40] | F=2—7 9-24 1 0 0
20-17" V999-300-001-00] | 24 ¥-Sn %4, 7 1 0 0
20-18 V201-461-603-00i | = # K& b M16%30 9T |12|0|o|o|ojolo|o]|olo|o
20-19 V401-160-016-00 | S . W MI16 12|0{0j0{0{0{0|ofo]0 O

58



Fig.?lr PTORSA 7o+ 7 NER&R

# O B =
- A P 220 220F-240F

RHES| # & 3 —F & # s | x| [o|x|&lol8[U

: 06{"|{D{X|o6| - - -
21- 1 1550-321-001-00 | PTO*¥ (17-23-29) 1 |ojojolo|o|o|ojo]o]oO
21- 2 1554-321-002-00 | »» 7 ) > 2 1|ojolojofolo|olofofo
21- 3 V607-110-630-50 | R.B.B( FAU>*)6305 NR | 1 {0(0]|0|0{0!0[0|0(O0f0
21- 4 V600-110-630-40 | R .B . B 6304 1]o|ofololof0f{olofoOlo0
21- 5 1550-322-001-00 [ PTO ¥ +>7 } 10/0{0j0|0|0]|0(0O{O|O] "
21- 6 V744-135-550-80 | A4 rv—n TC355508( 1 |0foj0|0(0of{0|a|0|0Of0
21- 7 1480-212-004-00 | =y —>(30%X35%X17) 1|olololojol0{o|ofofo
21- 8 V600-110-620-60 | R .B . B 6206 1l0lololojo|0|o|0|o0f0
21- 9 1544-322-002-00 | #5—(30X40%X2) 1 |ojolofofolojojololo
21-10 V704-140-030-00 | CHL AT (¥2) 30 1|0|olofojo|0f0fo]|0]|O
21-11 1550-322-002-00 | PTOF = » v ¥¥ (38%X31) 1|o|olofo|oj0|{0|0f0]|0
21-12 '1550-322-200-00 | PTO¥¥ (43) COMP 1|0lo|o|ojol0iololofo
21-13 1480-211-005-00 | 25X b 53— (25X38%X2) 2 |0lofofojo|0|o|o|o0f0]|
21-14 1550-322-003-00 | R.B . B 6304 R-NR| 1 {o0|o|ofo|o|0|olo|0|0
21-15 V704-140-020-00 ,Eﬁﬂuv(v'y) 20 1 |olo0|olofofo|O|0f0[0|NeL~7<ER
21-16 1550-325-001-10 | PTOv7 2AF— 1 |olo|o|ojoi0lo|o|o0f0
21-17 1550-325-002-00 | PTO+» 7 £ 11{0] (olo]o ololo|l |Ne1~7B8
21-17a 1550-325-002~10 | PTO~7 £ 1 |ojojololo|0|0f0|0|0|NLAEBE~
21-18 1302-225-003-00 | 7 227V 7 10| (oflolo| |oflofo| {N1~7AEH
21-18a 1507-307-003-00 | v 7 2x7T Y > 1{0lojoloto 0{0|0]0 |NoFBE~
21-19 V680-200-001-00 | XF—naw—an 5/16 1{o0lololololololololo
21-20 V500-163-002-50 | 7y &> 3X25 10| fofolo olo|lo| |Ne1~7RER
21-20a | V500-162-002-50 | v &>~ 2X25 1 |o|ofofolojo]0|0]0{01{N7RER
21-21 1544-326-240-00 | PTO+ 7 b 7—2 COMP 10| |o]o]0 olofo] |Mm1~®
21-21a 1544-326-240-10 | PTO+ 7 + 7—4 COMP 1 |ojojojololo|olo}0l0 M@~
21-22 1544-218-002-00 | Zv—} 1 |olojojololo]|o|o|ofa

59



220

_ @ | 240 220F-240F
RHES| & & 3 - k oa % %0 - DXXUUUUX{’E =2
06|~ |D| X |06

21-23 V211-260-801-60 | = # £+ k(S M8X16 1]0{0lofolofojololo|o

21-24 V720-102-401-40 "oO"yror P14 110{0jolofo|o|oj0]0]oO

21-25 1550~326-200-00 | PTOT7—a COMP 1|0l {olo]o 0{0|0] |N1~@

21-25a 1550-326-200-10 | PTO7—4 COMP 1i0|0(0folojofo|0]|0 |0 |N@~

21-26 V580-140-502-50 | X7 ) >z 4 5X25 1 |0|ojolololo|olo|o]o

21-27 Fo e 1.0X70 1 |0(0fofofolojoi10{0|0]|aa

21-28 1550-326-210-00 | PTO+ 7 b4 7 SET 1/0folololofo|olo]olo

21-29 3625-112-001-00 | 7 v+ = (16X18%X25) 2 |ojololofololololo]o

21-30 1550-326-001-00 | PTO L 3— 1|0|ojololofo]ojolo|o

21-31 1404-502-013-00 | = &K b (MBX25) 1|ofolofojolo|o|o]olo

21-32 V304-260~008-00 | = H&F o b ‘M8 2va 1 |ofojolofojojolo]o]0

21-33 1544-219-005-00 | vos— 7 (12) 1/0i0(ofofo|o|o|o]|o |0

21-34 1550-326-002-00 { +7 b =u » F(PTOQ) 1 (0jojofolojofololo|o

21-35 V411~260-008-00 | 3 H*x+FHix M8 2 |0|ojojolo]o|0(0{0 {0

21-36 V500-162-002-00 | 7 ) &> 2%20 2 |ojolofojofojo|o|o]o

21-37 1550-326-003-00 | 7 b+ 7 b 1]o0/0lojofo|o|olo]lo|o
V704-140-016-00 | CHAFAD (22 ) 16 2 0jofojojojofo|oiofo

21-38

220
191
192

220F
1484
1485

240
134
135

240F
1482
1483

o6

60



Uy ewFBEfk

Fig. 22

NL 1 ~@

N1 ~B

N1 ~®

= ® ®~g
=} =] (=1
=z =z =
= oo oo oo o oo o o o o
DO OO0 OO0 O O O O o o o o o o O
J[ploccccocococooooo oo o
EWX,OO Ccoocoocooc oo oo o oo o
_‘w\.un. Hlooooooooooooaooo
Al o oo 000000 OO0 OO O O
ﬁ O 000000000000 00O
ool % OO0 oo oo oo o o o o o
<t
(oS W aN] O O O O O O OO0 OO o oo oo o
@ﬁ1142N22111221141
o =
% © ™ [a] N W7%
Ded X — — Lo
NN N N X X M%%
m.lm - (o] [ve]
5 Siofm
= = nA amE SRE
> N |
> EN 838 .V
WW ~ @ ¥ OO0y A
< < o P_ SIEE
O O - w0 Njolo
(SIS} = -~ | | - ¥ NN | N
- IOJPIEDN N € 1N =« ( ojo|
LA NRV N+ RRRIND HMM
. 3 a g
ESNEN P ONY NTh = e Rom
o (¥ YR BENR AL XN @e
FAEYR S CARAINEBRR | I RN
== AR == % e NN A
©C 0000000000 OO0 OO0
M N~ N OOOO0OO0OO0OOHMHNOOGWNNO
L N A R e FE A (Y N (Y [ S|
O 0O OVO NN FIMO NGO H © O O o M
| S OO HH OO OO0 o mMMO O
422000%200%02280
Lot oL [
3] DWW HO O~ HNMNNYWO O IO O
M M © W © ~ © F O H ©WmMmmM=Wwam
MO NN AN ANADOQN®mOH D
1= I L T O Ay A O A A I E T T
a O O H O A~ H®O YO A0 O D
55%00&082“%15510
0w @ N <4 D WL M
% I B T T T R N
m—b o L
W H H N M IO~ 0D O HN N M
™ o o -
mm | R R N e U N U ) U U FR R T
NN NN NN NN NNNN NN N
m NN NN NN N NN NN NN N

61



Fig.23 TL—ALBLUTSH v MR

;;jﬂg.ag-zg

o 3 i B\ OIG B O
R R — — = 2201 220p-240F -
RHES| & & 3 - Fk on % % " DXXUUUUX‘ﬁ x

: : 06/ " [D[X |06
23- 1 | 1550-401-230-10 | 1 —4 COMP 1|o| |ofofo| |o]ojo| |t 1~788
23— 1a 1550-401-230-20 | 7 v— 4 COMP 10| {0lo]|o] |o|ofo| [MABE~7<ER
23- 1b 1550-401-230-30 | 7v—4 COMP .| 1]olojojo{o|lo|o]|o]0]|0 N BB~ '
23— 2 V201-361-604-50 | I H &KX} M16X45 7T| 4 ]olofofo|o]lofjolololo]
23- 3 V401-160-016-00 | S . W M16 6 |0[0|ojojo|lo|o|o]o|o
23~ 4 V304-260-016-00 | a # x5 » b M16 2v= 210/0flojo]|oj{o|o]aofo]o0
23— 5 1427-201-016-00 | A2 5+> (M12) g8 lolofo|ojo|ojololo]o
23- 6 1550-401-260-10 | 7=~ }7 525 b COMP 10| |lojolo 0[0jo| |MN1~7<E8
23- 6a 1550-401-260-20 | 7 v~ b7 545 } COMP 1{oflojo|o|lo|ofof0|0]0|NAEE~
23~ 7 V203-361-002-00 | I#HZRVh (Y A)IMI0X125X20 7T| 4 lololofolo|o]ololofo
23— 8 V401-160-014-00 | S . W M14 4 |(ofotolololo{ololo]ol
23- 9 1550-401-002-00 | <> 7 5.3~ 1|o|olojolojalofolo]o .
23-10 V304-260-008-00 | = #£F» M8 2v=a 1{oflo|ololo|o|o|o|o]o J ~te 75
23-11 1544-401-250-10 | Y%7 >+ » ML) COMP 1|0joflolo|o]lojojojolo
23-12 1544-401-260-10 | V¥ 7 >4 » FR) COMP 1]|o({o|o|ojo|o|o|olo]o
23-13 V304-260-010-00 | = H&F » b M10 2v= | 4 |o|olo|o|o]ojolo|olo
23-14 V401-160-010-00 | 'S . W M10 4 |ojojofo|ojojolojolo
23-15 1544-401-001-00 | =o >~ ko' 4 [o]olofofoflojolo|o]0
23-16 1544-401-310-00 | X} » 57 L — }MA) COMP 1(ofojo|ojo|lo|o]olofo
23-17 1544-401-320~00 [ X b » X7 v— }(B) CQMP 1lo|o|0jojofo|0|0f0|0
23-18 1550-401-001-00 | = b » <FL—} 1{ofofofojolo]|olo|o]o
23-19 1550-401~240-00 { X b » -3 COMP .| 1|ololojolo|ololojolo
23-20 V334-260-012-00 | a4 £F » (&Y AIMI2ZX1I25 2va] 4 ojolofofolofojojolo
23-21 V401-160-012-00 | S . W M12 "4 |ojofofojo|o]olololo
23-22 V201-361-002-50 | a# 2xn ) M10><25_ 77| 8 lojololofojo|ojo]o]o
23-23 V304-260-010-00 | = £+ » F - - M10 2+ | 8 |o|o|olololofofolo]o

62



Fig.?3 TJL—AB8LUTSy v NEFR

=
. ; TR Vv
_ - & %ﬁg 220F- 240F
RHEZEES| B & 3 - F G % % X DXXUUUU)Gﬁ
06/ |D|X 06| ..
23-24 | V401-160-010-00 | S . W M10 g8 {olo|olojofofojofofo
23-25 1550-401-270-00 | ~_# A7 54 » ML) COMP 10| (ofo]o olojot [M1l~®
23-25a 1550~401-270-30 | =& A7 545 ML) COMP 1|ololo|o|0flo]|0[0]0([0|[NB®~
23-26 1550-401-280-10 | =g 754 » MR) COMP 1 |olojo|ojofo|olo|ofoO
23-27 V211-261-002-50 | = # £HE N MS) M10X25 8 (o{o|ofolo|o|o0|0|0O]O
" 23-28 1432-616-002-00 | 7 » &3 =& 2 |ololofolofo|olojo]o
23-29 1544-401-350-20 | -S>-% COMP 1 |olojojo|ofo|ofofofo
23-30 1544-401-003-00 | s> H—F 2 (olololofo|o|o0lo|0]|O
23-31- V201-261-203-00 -| = # &R b M12X30 g8 {olo|o|ofolo|ofofo0jO
23-32 V401-160-012-00 | S . W M12 8 |olojlololojolololo]|O].
23-33 1544-308-200-10 | ¥7 = » 7 <& COMP 10| (0]0]|0 ololo| {n1~O
23~33a 1544-308-200-20 | F7 my 7 <gr COMP 1({ojofolofo|o]o{0]|0]|0|NOD~
23-34 1544-308-220-00 | 54 » b COMP 1|ololo|o]jo|o|o|alo]|oO
23-35 V304-260-012-00 | = #£F v b M12 2v= | 1]o0|0|0[0{0|0|0|0|0O]|O
23-36 V401-160-012-00 | S . W M12 1 |o|ofo|o|olo|ofof0}0
23-37 1544-508-003-00 | = 2y b 1 |ololo|olofo|ofofofoO
23-38 1550-401-300-00 | 7> 4 #»-— SET 1 |olojo|ofojofofoflofo]¥x
23-39 1550-401-320-00 | = &nrg COMP 2 (0/0|of{0o|0|0fjO[0j0|0|¥
23-40 | 1550-401-003-00 | » £ (08X395) 1]ojolololo|o{olo|o|0]|%
23-41 V411-260-008-00 | » I HFx¥FH% M8 2 |olo|ofojolo|ojofofO ¥
23-42 V500-162-002-00 | <7V > 2X20 2 |oloflo|ojojo|ofo|lo|O0]|k
2201 220F| 240 240F
®|161]1167|115/1181
® | 162]1168]116]1182
©1231/1980[181}1960
O] 232({1981]182]1961

63



Fig.2d 70V K72 2UBR(2WD)

36—§ @"rﬂgzzs—zo
A H 4]

gg:@%j ?5‘%446 |
e 32 &5\ ’

Y

R = T 5 =
S Pl | miec R B e %ig 220F-240F
RHES :gﬂ o I —_ B - - L4 %y . DXXUUU " x=
06[°|D[X |06

24- 1 | 1550-402-200-00 | 7m> } ¥ = ASSY 1]0|0

24— 2 1411-401-001-00 | s =%y /2 (25X29X30) 4({0]o0

24~ 3 1412-401-004-00 | s =%y v 2 (25X29%X40) 210|o0

24— 4 V761-400-000-00 | /Y x=y7n . . A-PT1/8 | 2|0|0

24— 5 1550-402-001-00 | E¥» b A Z(F) 1{0|0

24- 6 1550~-402-002-00 | E'®» b 2 20(R) | 1]o0]o0

24— 7 V742-140-550-50 | A4 v y— AG2357H0 VIC40555 | 2 1 0] 0

24~ 8 V201-461-203-50 | =4 20 b M12x35 9T| 4 | 0|0

24- 9 V401-160-012-00 | S . W - M12 4i0f0

24-10 V201-461-403-50 | =4 &%= b M14x35 9T | 2 | oo

24-11 V401-160-016-00 | S . W M16 210(0

24-12 V520-101-001-60 | ~A4 = & >(A) 10X16 4 ]0]0

24-13 1550-402-003-00 | = 2 ExRy b 1]|0|0

24-14 1444-402-004-00 | Kot HS5— 210]0

24~15 V720-102-402-10 | "0 " )z P21 2]olo

24-16 V327-261-220-00 | IvF*Fu b (3% )M20X15 2= | 1 |00

24-17 V411-260-020-00 | I H¥ ¥4k - M20 1lo]o

24-18 V500-154~004-00 | 7 ) E> S - 4X40 - 1]|o0}0

24-19 V761-400-000-00 | Y x=» 70 "A-PT178 | 2 |o0|0

24-20 1444-404-200-00 | v 2 X E> Fa COMP 21(0]0

24-21 1419-403-001-00 | #5— (25X42%X4) 210|0

2422 V600-110-620-50 | R . B . B 6205 2(0/0

24-23 V600-110-620-40 | R .B . B 6204 210(0

24-24 1414~403-004-00 | T.B . B 27TAG801| 2 |0]0

24-25 1407-403-002-00 | Y 2o xv—n 210lo

24-26 V477-134-480-80 | 24— TC 34488| 2 |0f0

64



Fig.o4 7OY KNPSO ZVER(EWD)

® L 32 =

) D (I @ |260| 220F-240E -
RH&ES gﬂuu_:]l— 2 o - % %5 X DXXUUUUX'OE .
24-27 1325-930-105-00 | T he vy FIL—a B 55— 2 tofo
24-28 V327-262-112-00 | Y'Y *F o b (F4) M2 1va | 2 |0]0
24-29 V500-153-002-50 | 7Y >~ 3%X25 2 |olo
24-30 1444-404-001-00 | A4 rr—a 0S 253241{ 2 |0]0 -
24-31 1550-403-001-00 | ¥35 » 77— () 1/0(0
24-32 1550-403-002-00 | V3 » 77— 4(R) 100
24-33 1326-708-005-00 | a— &YV + v T+ 7 b F—. 2 (olo
24-34 1421-403-007-00 | 8 v 2T v v (M12) 2100 -
24-35 1421-403-008-00 | 7 » ¥+ (13X35X%X5) 210]|0
24-36 V300-260-012-00 |  » b M12 210l0
24-37 1421-951-006-00 | <A (05) AR|o0|o0 -
24-38 1421-951-007-00 | +4(A) (1.0) AR|0]|0
24-39 2485 210 1a
24-40 1550-403-210-00 | £#4 =y M F{L} ASSY 210 ‘
24-41 1550-403-220-00 | £#4 = » M= FR) ASSY 210 5
24-42 1550~-403-202-00 | F» b “M17X15 3v=| 2 |0f -
24~43 1550-403-203-00 | 7 » P ( EX Y ZY)MITXLE 32| 2 |0
24-44 V328-262-112-00 | IHZIVYHFy F(F4IML2X125 1] 4 | 0|0
24-45 V500-163-002-00 | 7Y K~ 3%20 > 4]0]|0
24-46 V401-160-012-00 | S . W - © M10 2100

65



Fig.25. AF7YU> IR+ —)VEEK

15a
15

19—@'

M

R

& %2218 220F-240F
RHEES | 8 & 0 — k oo % % ; DX'XUUUUX'{’E #

i ' ~os! Y D] X |06
25- 1 1421-400-052-00 | XF7 ) > 2&4 ASSY " 1]o|ojo|ojojo|o|oiolo
25~ 2 1407-406-002-00 | e XFT V)2 %4 » 7 1|0]Jojofolo|0o]ofolo|o0
25— 3 1407-406-004-00 | o3 » 7%, 1|0{ojofolofololofo]|o
25— 4 V327-262-110-00 | Ivv*Fu b (F4)IM10X125 1va| 1 |olo]olololo|olololo.
25- 5 V500-152-002-50 | v ) &> 2X25 1|ofo]ofojofololojo0]0
25— 6 V411-260-010-00 | I H+H% M10 110i0(ofofo|o}lolo{o(o
25- 7 1544-406-220-00 | XFT7 )2~ + 7 FA) ASSY 1(of jolojo; [oflofo]| [»4+
25— 7a | 1544-406-008-00 | v+ 7 b ( XFF Y > 2) 1lo|olojolofo|o]olo]|o
25~ 8 s ° o vy 7 MA) 1 (ojojolo|oj0]|o|o]|ol0fa
25~ 9 e v+ 7 MMB) 1]0|ofo|ofo|ofa|ololo]|a
25-10 "0V Yy 18 2 |0j0|ofofoj0|of{0|0|0|a g
25-11 CRT Y I 1|0(0j0o{0(j0(0]0]|0|0O]|0 |
25-12 RS 1{0fojolo|of0|olofo]|0|a
25-13 eI f oG 1|o0f{olojolofo|o|olo|o|a
25-14 1429-406-205-00 | s3T5 47 v v a 1]o0fojolo|olojo|ofo]|o|a
25-15 XFTYrs v+ MB) ASSY 1|0] |ojojo olojo| |&
25-15a AFTYV>r27v+7 MB) ASSY 1 |0fojolofolo]oi0]{0]|0|a
25-16 1550-406-201-10 | =¥+ 7 M4) B 1 (oj0flo|ofofo|ololo]o
25-17 | 1544-406-204-00 | «¥+7 MB) COMP 1 10|ofolao|o]ofo]o]o
95-18 1432-406-341-00 | e 3—2 ASSY 2 |ojojofofolo|olojo]o
25-19 V211-360-803-00 | = H &K1k (SP) M8X30 4 {0|0fo|ofolo]ofo|o]0O
25-20 1550-406-003-00 | #» 7Y >z 1 |o|ofo|ojojole|ololo
25-21 V580-140-602-50 | <7 Y > &) 6X25 1{o0j{ojolo]olo]ololo]o
25-22 , Fyk- 1.0X120 1{cofojlo|olejo|olefo|o]a
25-23 1550-406-210-10 | 27TV > #x} COMP 1|0|o|o|ololofolojolo
25-24 V211-360-802-50 | T H&#} (SP) M8X25 4 |0jojolojo|ofolololo

66



Fig.2s AT 7UVIRA—IVBR

D - =¥

- @ %%8 " 220F-240F 4

BHEFES| H & 2 —l" T % % | Ix DXXUUUUX{E..
. : 06" |D|X 06| -

25-25 1544-406-260-00 | >+ 7 FF &  ASSY 1{0|ojo|ofofolo|0|0|O:
25-26 1544-406-250-20 | » >+ 7 bsxagx  COMP 1{0fojojojofe|o|o|o|0
25-27 1429-406~205-00 | e a5 47y ¥a g 1|0/0|0f0f0{0]|0O|0Of0]}0O
25-28 V211-360-802~-00 | = # &%+ (SP) M8X20 4 |ololofolojofololo}o
25-29 V600-150-600-30 { R . B . B 6003 SS | 1{0j0fojolojoj0|0]0(0
25-30 V704-140-017-00 | CH & AV (v2 ) 17 1{of0jof0fo]0 0|0|0]|O
25-31 V705-140-035-00 | CHLEF AT (TH) 35 1 |olololojo]o|olo|olo
25~32 1544-406-230-20 | ®—nr¥H—} COMP 1|ojofofo|ol0o|0|0|Of0
25-33 V211-260-801-60 | = A £&n 1(S) M8X16 | 20|0fojofoj0|o0j0|0]|0
25-34 1432-406-330-00-| K—~r %+ » 7 COMP 1(0/0/oj0of0o|0|0j0|0O|O
25-35 1432-406-008-00 | K—n ' 1 |olojojolo|o|o|olo]O
25-36 1432-406-009-00 | K—rF 4 » 7 1 (ol folofo| [ofjojo| [~1+
25-37 V211-360-801-60 | I # &K b (SP) M8BX16 2 |ofiojolojolo|{o|o|0]O}]
25-38 1544-406-002-00 | << &—x() 1 |0{ofolojo|o|0l0|0]|O
25-39 .1544-406-003-00 | <4 —X(R) 1|0l0|ofojo|0|Oj0]O|O
25-40 V720-102-401-80 | "0 "y >/ P18 2 (0flolojolol0j0|0|0}0
25-41 1550-406-004-00 | #A vy —a 0S18243 | 1 |o0foj{0j0|0j0|0|0|0O|O
25-42 V201-260-804-50 | =4 ZHEa b M8X45 3 |ofolo|ojolo|o|o]o|0
25-43 V201-260-807-00 | = # £xn b M8X70 -1{olo|ofojo|o|ofol0]|0
2544 V411-260-008-00 | I HFFH X M8 g8 |ojojolo|ojo|olojo|o
25-45 V301-260-008-00 | +» b MB 2va 4 |0lofojofojolo|ojo]O
25-46 V201-260-802-50 | =4 #x b MBX25 2 |0folo|ojofo|olo]olo
25-47 V401-160-008-00 | S . W M8 2loflolo|ojofo|o|0|0|O
25-48 4101-102-038-00 | £33 A2 VI I FHF 2 |o0j{olo|ojofo|o|o|o|O
25-49 1550-406-220-00 | =~=n¥¥ (14) 1io0fo|o|ojolo|olojolo
25-50 1544-406-005-00 | <~A¥¥ (16) 1|0lojojofolo|oj0|0}0

67



17220

220F-24QF
BHES| #&a- k| & g |ELRO T
| X |B[x|oslU|p|%
25-51 1544-406-006-10 | X5 =} H 5—(A) 1 ]ojofojofolofolalo
25-52 1544-406-007-00 | X5 X} » 5 —(B) 170(0j0j0fofo]olo]0O
25-53 V653-318-241-20 | =— FMA( vz a7 252) 3]0lolojololo]ojo]o




Fig.23-1 P

 Fig.28l RF7UVIER

@ O B R
= . . . @ 5‘2-18 220F-240F
BRHES Ms&Hm A - F oa % %5 X DXXUUUUX‘,%
. 06/ Y [D!X |06
26— 1 1544-407-260-00 | X577 Y >»2 ASSY 1 (0fojo]o|o]o]
26— 2 1544-407-270-00 e —n+ 5 b ASSY 1 |olotlolol|o]|o
26~ 3 1544-407-261-00 ek A— ¥ T b 1 (ofojolo]o|o
26— 4 1544-407-262-00 o ) X ohyoi— 1 |o0j0f0of0oj0]0
26— 5 1544-407-280-00 ¥4 MHo<— ASSY 1(0lolofojo|o
26— 6 1429-406-207-00 s A A N— 1({0]0[/0(030]0
26— 7 1429-406-208-00 cH A MHS—rty 1|o0|ofolojo]o
26— 8 1429-406-209-00 e ¥ Hoi— s SET 1|0(olojoj0|0
26— 9 1429-406-211-00 c TSR bAZY o 1|olo|ofo|olo
26— 10 1429-406-212-00 e 7Y +RPARZ Y avas SET 1]{0|ofoj0folo
26— 11 1544-407-263-00 cU—NT y v 1]o|ofolofo}o
26~ 12 | 1429-406-213-00 | s aHxHKA b 3 |o|ololofo]o
26— 13 1429-406-214-00 e aH AKN ) 4 |ololojolo]lo
26~ 14 1544-407-264-00 *Fy b 1]0|ofojofo]|0O
26- 15 V332-460-020-00 * 5y b (B/AIM20X15 7T 35 | 1 10|0[0{0|0]|0
26~ 16 | V401-160-008-00 | ¢S . W M8 7 {0fo|ofo]o|o
26— 17 V401-160-020-00 S .W M20 1(0|ofolofo]|o
26— 18 1429-406-216-00 """ Yy 11]0/of{ojolofo
26— 19 1429-406-202-00 s XUTS Y PT1/4 1|0|ofojojfojo
26- 20 | 1552-407-201-00 | ¥» b=>T—a 1|olojolofo]o
26— 21 V252-341-003-20 | v =3 3K b M10x32 7T] 4 {0|0j0|0j0]|0
26- 22 | V401-160-010-00 | S . W M10 4 |0fojolojoio0
26- 23 V303-200-010-00 | = #%%+» } M10 4 {0lojo|ofol0

69



Fig.27 NDRF7YU2I8R(UR)

#@ O B K
T == » - | 550 2208 240F .
RHES| 88 & 3 — F ga- - _ % %" i DXXGUUUXﬁ CoE
06(“|D|X|06 .
27- 1° Ry—=xFTY)vs SET 1 0{0[0|0|Fig28&8R o
27- 2 V252-341-003-20 | 9 =3 3K b M10X32 7T | 4 olofolo
27- 3 V401-160-010-00 | S . W M10 4 olofolo]-
27- 4 V303-200-010-00 | = #£F » b M10 7T 4 olofolo
27- 5 7963-201-003-00 | / » 2 £ 2 olofofo
27- 6 K135-016-000-00 | ¥¥#>7 ASSY 1 0000
27- 7 K135-017-006-00 | « &> 7 Hoi— 1 ololoio
27- 8 V744-114-280-70 | A4 rv—n TC14287 1 0(0]0{0
27- 9 K135-002-008-00 | = "O "V >z P6 1 olo|o|o
27-10 V720-112-402-20 | = "0 ")/ P22 4 olofofo
27-11 V721-113-105-00 | = "O "y G50 1 olo|o|o
27-12 K135-002-009-00 | « a4 Z&1 b M8%28 11T | 6 ololo]o
27-13 V401-140-008-00 | S . W M8 6 ojolo|o{
27-14 1404-503-006-00 | A4 AR TS, %> 1 olofolo
27-15 1550-408-240-20 | 241~ %>2 COMP 1 ololo|o
27-16 - 1488-408-330-00 | #4744 ASSY 1 olololo]
27-17 V720-102-401-20 c"O0"Yrs P12 1 olo|o|o
27-18 V720-103-503-10 | » "Q 'V >z P31 . 1 o{o|o]o
27-19 1444-408-005-10 | XD RFL_AF— a 1 ololofo
27-20 V211-360-801-60 | = #&x A b (SP) M8XI16. 4| olololo
27-21 V210-260-601-20 | & h(S) M6X1 2 1 0l0(0]0
27-22 V781-100-000-60 | Ta=v 757 PT3,/8 1 ololo]o
27-23 1550-408-001-10 | 2> 27 25— 1 olofofo
27-24 1550-408-002-10 | 7 5 v 1 010400
27-25 1550~408-003-00 | 45° =z 1 olofolo
27-26 V210-260-602—00 | w2 }(S) M6X20 4 olo|o|o




Fig.27 NDZF7YU Y ImR (UR)

e

N B G B X
— - = 220 220p-240F —
RHES) a2 - F L : & 5| X DXXUUUUX(!E c 2
: i : 06[°[D|X|o6l.. ~ ... .. . .
27-27 V720-112-402-00 "o'"Yyvyr P20 1 0(0(010
27-28 1550-408-250-20 | FV)-SYsk—x ASSY 1 ~lojolo |0
27-29 1550-408-260-00 | ¥ V-3V -4 7(4) COMP 1 ojo|ofo|-
27-30 1550-408-270-00 | ¥ 2+ s>-34 7 (A) COMP 1 glofo|o
27-31 1513-408-004-00 | #—22 5>7 (22) 2 0|o{o o -
27-32 1426-506-002-00 | =% 2 & 2 0lofo|o
27-33 1550-408-280-00 | ¥2 v a >34 7(B) COMP 1 o|lolo|o].
27-34 1550-408-005-00 | #2 v s ¥&=—X(4) 1 ojo|olo
27-35 1550-408-006~00 | %2 v 3 ¥+=—=(B) 1 g{oloto
27-36 V210-260-602-50 | &, MS) M6X25 4 olofolol.
27-37 V720-112-402-00 | "O" V2 P20 1 olofolo =
27-38 1513-408-004-00 | AF—X25>7(22) 1 0lo|o|o
27-39 1550-408-290-10 | X v Z2xx5— COMP 1 olololo
27-40 V211-360-801-60 | I H £+t (SP) MBX16 3 olo{d|o
27-41 1444-510-004-00 | 5-3—(&) 1 olofo]o|m@~
27-42 3748-185-003-00 | Y= )<} (185) 1 0]0(0[0 | NMB~
220F| 240F
|@® 111311150
® | 1083[1103

71



Fig.28 /XOZFPU>4 SET(UR)

#H L B R

v ~ & |oio|  220F-2408
El‘ﬂg? gﬁm;’: _F : 41:‘1:11:1 B % ) X TTUTOR ﬁ

— * = | [X] |DiX|os/Y[p|xlos
28- 1 ¥r4&—=x ASSY I 0l0|0l0 | o
28- 2 *N.R.B 1 olojoloia
28— 3 cUNy x> 1 ofofolo|a
28~ 4 1550-408-234-00 s x4 n—o 1 10]0101}0
28- 5 eFrur) s 1 ololofo|a
28— 6 'O Yyrs S30 1 olololo|a
28— 7 K—n+y» b ASSY 1 ofolofoia
28— 8 « Ry RN — 1 010100 |~
28- 9 c"0" Yy G50 1 olo|olo|a
28- 10 Z7maxyppos— ASSY 1 0lojolo|a
28— 11 .*N.R.B 1 00|00 |
28- 12 sFyar vy 1 ololojo &
28~ 13 "0 Yy 530 1 olojofo|a
28— 14 e "0O" Y>>z JASO 66053056 1 olo|olo|&
28— 15 . ATy oy ASSY 1 olo|ojolea
28- 16 1550-408-321-00 | « 757 PT1,/8 2 0/0{0]{0
28- 17 o s YR EX b 4 0({0]0f0 |
28~ 18 LI I (PRS- S 2 0jololo]a
28— 19 'O Yy JASO 1016 1 olojojola
28— 20 R A 1 olofolo|a
28- 21 L= el 1 olofafo |-
28- 22 TV RPRZ ) a 1 ofo|o|0 |
28- 23 emyZFy b 1 Jolojolofa
28~ 24 ¥4 Fhos— ASSY 1 olo|o|o|a
28— 25 I sN.R.B 1 o|lojo|o|a
28-| 26] «'0'Y>r  G6O 1 ojojofo|a




Fig.28 NTOXF7UYT SET(UR)

R v

i ] - P %ﬁg " 220F-240F
RHE=S a3 - F oo = % X DXXUUUUX @
: 06) | D|X |06
28-27 V7 A-— ASSY 1 olojolo]a
28-28 *N.R.B 1 olololo|a
28-29 1550-408-343-00 | esAAfrv—n 1 olo|o]o
28-30 1550-408-344-00 e XFy T Y 1 olojo{o] .
28-31 €2 #—+7 b ASSY 1 0i0(0|0]a
28-32 e TV X PRI a i 0{0(0|0|aa
28-33 e Ty XA 1 olojo]o|a
28-34 A b M10X1.25 2 olojolo|a
28-35 b M10X1.5 4 olo|ojo|a
28-36 S.wW M10 7 olojofola
28-37 1550-408-213-00 "o"Yyrrs 570 2 0lo|0]0
28-38 "O"Yyrzs P8 2 olofo}o|a
28-39 Ty 2 s b 1 olojolo|a
28-40 h5— 2 olofoofa
28-41 H 35— 1 olo|olo|a
28-42 HI— 1 0i0[0|0|a
28-43 N.R.B 1| ololojo|a
28-44 AF v T )L 1 0|0{0]0]|a
28-45 F b 1 0(0{0]0]
28-46 F v b 1 0/0|0(0]|
28-47 A .2 0/0|0|0|a
28-48 A AFy Kl 1 ololoio|a
28-49 1550-408-222-00 | F v b 1 ololofo
28-50 a® " Yo ¥ IT 5y 2 olelolo]|a
. 28~51 1522-408-201-00 | ¥y b=>T—ua 1 o{ololo

73



Fig.23 70O ko —/LER(2WD)

1la
11
12 Za 4
1 3@ 5
6
e —ka TV
_..,‘_..._-__;_ [ . , . -_m - - {@ %ig ] 220F-240F - = =
BEHES :gﬂ g 32— K CLI _ % X1 1GTU 0 {jﬁ ' %
Sk : . B X] P Xi0s|U|Dix o6

29- 177 | 1551-411-210-00 | &4 Y4 (300DX15) 2 |ofo ] .
29- 2 V888-144-001-50 | x4 * 4.00-15-4PLY 2|0 No 1 ~7B5
29- 2a | 1510-416-211-00 | &4 ¥ (5-15-4) 2 |olo NFE~ |
29- 3 VB889-004-001-50 | F+=a—7  4.00-15 210 NL 1 ~7<88
29~ 3a | V889-005-001-50 | ¥ =—7 500-15. 2 (0|0 N B ~
20- 4 V999-200-003-00 | #A4A ¥ ST %+ » 7 CLHA 2 10/0
29- 5 1412-411-001-00 | 7 o b4 L= 2 {glo
29- 6 1411-411-002-00 | FArF 4 5 7 2 |olo
29- 7 1411-411-003-00 | ~S» > 2 j0|0]
29- 8 V210-260-601-20 | v h(S). M6X12 6 0|0
29- 9 V201-261-202-50 | I HL2FNm b M12X25 8 (0|0
29-10 V401-160-012-00 | S . W M12 8 |0{0 _
29-11 V888-145-001-50 | #4 % 500-15 4PLY 2|0 Ne1l~7<B8 )
29-11a 1510-416-211-00 | £#4x¥ (5-15-4) 2100 NOREE ~ }2402
29-12 | V889-005-001-50 | ¥ a—> 500-15 2(0]0

74



Fig.30 7AaYhRC—IVERK4WD)

B o B K
, = @ %ﬁg 220F-240F .

BHES| & & 3 — k. Ga % X100k, &

A . SN o B\ IR |DXgel UlD | X t0sl:

30- 1 1552-441-210-00 | x4 ) 4 (5IX14) 2 0j00|o]0|0]|0{0|)

30- 2 1446-417-211-00 | £4 % 7-14-4PR 2 olojo| {o]ofo _ :
30-2-1 1552-441-231-10 .| £ ¥ (7-14~4) 2 0 0| F220F8
30— 3 V883-000-071-40 | F2—7 7-14 2 olojolo|ofolo|O :

30- 4 V999-200-003-00 | g4 ¥-<n7*y » 7 CLHZ 2 olofofo]ofoto]o |/

30— 5 1553-441-210-00 | &4~ ) & (5.50FX16) 2 olofolololofolo |

30— 6 1447-417-212-00 | £4% 7-16-4PR 2 0101010010100 ||,
30— 7 V883-000-071-60 | Fa—77-16 ‘ 2 ojofojo|ololo|o _

30— 8 V999-200-003-00 | A ¥ SAFFx+ » 7 CLHX 2 olo|o|o|ofojolo]|.

30- 9 V201-461-202-00 | =1 #H XK b M12X20 9T{ 12 0lolo|0|of0jo 0

30-10 V401-160-012-00 | S . W M12 12 plojojo|ofo|oi0

30-11 1552-317-211-00 | 5T &4 ¥ (Fa—7 SET) 2 otolotolojolo|o|220F&
30~11-1 SYTNMEAL X (Fa—7 SET) 2 olojo|oo|0|0]|0|240FE

' 1553-317-211-00

75



Fig.31 K54 7%+ 7 NEH(4WD)

Fig.9-1
Y
A T @ |ado|  220F-240F -
BEHEES| & &% 2 — F & : & o DxXUUUUXﬁ E
: 06/ Y{D|X o6
31- 1 1552-431-001-00 | NS4 7o+ 7 MA) 1 olololo]o|o|ojo
31- 2 1427-431-220-00 | < a4 > MB) ASSY 2 olojolo|o|olo]o
31- 3 1427-431-011-00 | * x7 54 > 3—2(B) 4 olololo|o]ololo
"31- 4 1427-431-009-00 | * Yr—Fr %, I 2 ofolofo|olalo]o
31- 5 V705-140-020-00 | «CHZF AU (TF) 20 1 8. olololo|o|ojolo
31- 6 V580-140-603-20 | X7 ) > W) 6X32 3 ololojo|olofo]o
31- 7 : | Ty 1.0X120 3 olojofolo|olofo|a
31~ 8 1550-431-200-00 | Y= 4>~ b &#—=x COMP 1 olojolojolo]o]o
31- 9 1427-431-013-00 | % » bRA} 1 {olololo|olololo
31-10 V401-160-012-00 | S . W M12 1 ololojo|alololo
31-11 1427-431-014-00 | 7 » /= (21) o 1 ololojo|o]ololo
31-12 V742-120-320-50 | A4 rv—n VC20325 | 1| ololoto{olololo
31-13 1544-431-230-00 | a4 >~ #-— SET 1 ololo] |oloto]| |%
31-14 1544-431-220-00 e Hoi—kax COMP i 0|0|0 01010 |4
31-15 V211-260-801-60 | *3aHAKALMS)  MBX16 3 ololo| |ololo] [%k

76



23
26

18

19-19a

Fig.32 "Ny —2BEFR(4WD)

21 19-19a
2lacd—a0
N #@ 5 B2 R

T - & || 2208200 »
RHES gﬂ.éﬁ a - F an % % < nlxIX] g o[ox i\

- Alo6l [D|Xog| - -
32~ 1 1550-432-200-00 | =~ ¥=z> SET 1 olololofololofo
32- 2 1550-432-001-10 | <= r— = 1 olojolo|ofolofo
32- 3 V744-120-350-80 | A4 v—n TC20358 1 ololo|ofofolo]o]|
32- 4 1444-411-210-00 | =¥ =x{amv2sv s ASSY 1 ololololololofof:
32- 5 1444-411-008-00 | # 5— (48X56%4) 1 o0lololo|o|0|ofo
32— 6 1444-411-009-00 | »a(s)’ T=0.2 AR olofojoiolofo]o
32- 7 1444-411-011-00 | + 4(B) T=01 AR| | [o]ofojolo|0]0]|0
32- 8 1444-411-012-00 | +&(Q) T=02 AR ololofo|olofo]o
329 1444-411-013-00 | ¥ 4(D T=01 AR ofofofofo(ojofo
32-10 1444-411-014-00 | m» 2% » b 1 oiolololololofo]
32-11 V705-140-056-00 | CHA L AV (TFH) 56 1 0lo|o|o|o]o|o|0
32-12 1444~411-003-00 | 7 # & 2 0Olo|ojo|o|o|o|o0
32-13 1444~-411-004-00 | < a(a) 8 0lo|ojo|0|0|0}0
32-14 1444-411-005-00 | (B) AR olo|lojo|o(0|0]|0
32-15 V201-260-802-00 | = #H x& b M8X20 8 olololojo|ojolo0
32-16 V401-160-008-00 | S . W M8 8 ololojolololo]o
32-17 1550~432-002-00 | 7=~ FF7 &r—=X 1 ololojo|o|ofo]o
32-18 1444-411-006-00 | F7 &¥=4>v+ 7 } 1 ololojojo|0j0]|0 _
32~19 1427-432-003-00 | F7&€=4#>(11) 2 ofo]|o ololo| |NM1~B
32-19a 1560-432-002-30 | ¥=F> (==, 1 1) 2 0|0|o|o|o0|{0|0]|0|N@®~
32-20 1427~301-005-00 | ¥=4>Y X5} H5— 2 ololojo{olojo]|o
32-21 1427-432-004-00 | ¥7 ¥4 F¥¥ (15) 2 0lo|o0 ololo| |M1~®
32-21a 1560-432-003-30 | ¥ (—=~=u, 16) 2 ololojo|olojo]o[m®~
32-22 1427-432-005-00 | X5 2 F#5— (30X45%X1) 2 olojlolo|olofo]|o
32-23 1550-432-004-00 | ~4 =¥ A4 1 olojojo]olojo]o
32-24 1550-432-003-00 | ~4 =¥ E(A) 1 olofo|ojolofo|0

77



# T =¥

= 2201 220r-240F
RHES B e 2 - F gm % X ool & =z
. B 1X] |D|%|oslUlp % o5
32-25 1544-304-006-10 I H AR P (M8X20) 4 0{010{0|0(0
32-26 V600-110-600-80 R.B.B 6008 2 0ij0|0j0|0]|0
32-27 V401 160-008-00 S . W M8 6 0fojo0(0lol0]0
220F) 240F
@ | 20582101
® | 20592102

78



Fig.33 ZOYR7Z2ILER(4WD)

24 0F
i8 2 ®| 43 44
14 ® | 44 | 45
& L B8O
_ . . ~ @ %ﬁg 220F-240F
EHES o LT e B L] % 5 = DXXUUUUXﬁ 3
06/ Y |D|X |06
33- 1 1550-433-200-10 | 72 A~y v s COMP 1 ololofo|ojofolo
33- 2 V521-101-002-00 | ~4 = & £ >/(B) 10X20 2 olofofo|ojofolo
33— 3 1444-412-001-00 | 7V —¥ 757 PT3/8 1 plojolo|olojolo
33- 4 1444-412-002-00 | wxo$avh (o—my27 )MLOX25 224 8 010 {0 olofjo] [N.1~@
33- 4a 1480~433-001-00 | wxo3snb (—my,2)MIOX22 2= 8 0jojo|0|0{0|0]0 |Na®~
33- 5 V401-160-010-00 | S . W M10 8 olojofolofojolo
33- 6 V300~260-010-00 | +» b M1 0 8 ofolofolojolojo
33- 7 1550-433-210-00 | Ex v b A 2MF) SET 1 0lofo|0]0|0|0]0
33- 8 1550-433-212-00 | = 7'v o= (70X75X25) 1 olofofolofoloio
33- 9 | V742-170-950-70 | AA nv—o (§3878220y 1 olojofo|ofofalo
33-10 1550-433-220-00 ExRy b A£AR) SET 1 ofol|o|o|ololOl0
33-11 1550-433-222-00 | * 7 v = (70X25X30) 1 olojojo|olo|oijo
33-12 1488-412-006-00 | XV >~7 1 0i0lojojo|0f0}0
33-13 V520-101-001-60 | ~4 3 ¥ & =(A) 10X16 4 ofofojololo|o]o
33-14 V201-361-203-50 | = HAHn b M12x35 7TT| 4 ololojojolololo
33-15 V401-160-012-00 | S . W M1l2 4 plolojojo|o|o|o
33-16 V201-361-403-50 | A4 &K} M14X35 9T | 2 ofofojojofololo
33-17 V401-160-014-00 | S . W M14 2 polofojofofo|o]o
33-18 W201-461-205-50 | I H AKX FMI2X55(/UAY) 9T | 1 ololofojojololo
33-19 V302-260-012-00 | F+» b M12 3v= | 1 olojojof0f0]0]O
33-20 1550-433-004-00 | 52 b #5—(57X69X5) 1 olojo|ofojolof0
33-21 V742-150-270-60 | F4rv—an eI | 1 | olojolofofo]olo
33-22 V761-400-000-00 | 27 ) ==y 70 A-PT1,/8 | 2 olojolo|olo}o]o
33-23 V720-105-707-10 | "0 " V> s P71 1 olojolololojolo

79




Fig.34 74 FILo—XBH(4WD)

®@ 13 . 49
24%# @i 2620 51
25—-@.'{ Pl
S >
le—=L=~ 6%{ r
5.3 ) \ \l
11——@‘; ﬁaa/@/ 8

& L

B Ok B R

e AL . " %Zg 220F-240F -~ -

EHES & :...,—'}' aa Z %5 - DXXUUUU}G i =
06/ " [D| X |06

34- 1 | 1421-433-001-30 | 7 7 4 #r o —=(A) 2 olofojo|ololofo
34— 2 1444-413-002-10 | =<u¥¥ (13) | 2 olojojo|ojolo|o
34— 3 V600-110-620-70 | R.B.B 6207 2 Ofojolojo(olofo
34— 4 1444-413-003-10 | 774 FAF54 T+ 7 b 2 0olo 0lof0] |N1~@
34~ 4a 1560~435-001-30 [ <+ 7 b 2 0f{ofof{0({0]|0|0]|0 |Na®~
34- 5 V201-361-002-50 | 3 H&xn b M10X25 7T 12 olojolo|o{olo]o
34- 6 V401-160-010-00 | S . W M10 12 olojolo|0]|0jo0 o
34- 7 1421-433-004-00 | / v 2 E> 4 ololojojolofo]o
34- 8 1444-413-004-10 | ==Ax¥ (17) 2 olofolo|olofo|o
34- 9 V600-110-601-00 | R.B.B 6010 2 olojofofojololo
34-10 1444-413-005-10 | #v > &< %7 b 2 olojofo|o]|0]oi0
34-11 V704-140-025-00 | CHAFAD (v2) 25 2 0000 |0|0f010
34-12 1421-433-009-10 | =T V) > Hh-Si— 2 olofofofolo]o]o 3
34-13 V211-260-802-50 | = # £K1 M) M8X25 12 oflofojo|ojolo|o
34-14 1444-413-210-30 | 7 74 #»4&—XZ(BfL) ASSY 1 ololofolojo]o|o
34-15 1421-433-014-10 | e =*7 » = (50X55%X30) 1 olofofofofofo]o
34-16 1444-413-240-00 | 7 74+ 5 —x(BR) ASSY 1 olojolofo|olo]o
34-17 1421-433-014-10 | e <=*7 » ~ = (50X55%X30) 1 olojolo|ololo}o
34-18 V610-115-110-60 | ~f A X5 X} () 51106 2 0/0|0[0]|0}j0]|0 10
34-19 1488-413-023-10 | Y2z v F¥—n QLN5068914.5 2 oiofofo|ofojolo
34-20 1550-434~200-00 | F3 » 27 7—4(l) COMP 1 olojofofo]o]ofo-
34-21 1550-434-210-00 | V3 » 277 —a{R COMP 1 olojojo|ofo|o (o
34-22 V761-400-000-00 | 77 ) 2x=p 70 A-PT1/8 2 ololofo|ojololo
34-23 1421-433-031-00 | FA A v—a 0830374 2 olofofo|olojo|o
34-24 1421-951-008-00 | < &(B)(05) AR olofolo|o|o]|o|O
34~25 1421-951-009-00 | < 4(B)(1.0) AR of{o|ofo]o(olo|o

80



Fig.3d 774 FNWo—XBR(4WD)

34-49

1550—403-220-00

' & o B &
& |5a0|  220F-240F :
BEHES| & & 3 — F G % XTI oTooR &
- . ;X |D2IXos| Y (D] X |o8] -
34-26 V201-361-002-50 | I H & &r b M10X25 7T| 8 olojolo|o]olo|o
34-27 V401-160-010-00 | § . W M10 8 plojolololololo
34-28 V520-101-002-20 | ~4 35 & >(4) 10%22 2 olojofofaloto]o
34-29 1444-413-013-10 | =~u¥¥ (16) 2 ojolofofalololo
34-30 V600-110-620-50 | R .B . B 6205 2 ojololo{o|ololo
34-31 V705-140-052-00 | CHAMAD(TF) 52 2 ololojolofofolo
34-32 1421-201-003-00 | 52y —n 2 ololololololo]o
34-33 1444-413-014-10 | A4 v 7 b 2 pl{olo] Jolojo| |M1~Q
34-33a 1444-413-014-20 | "4+ 7 b 2 olo|ofo|o{o]o |0 [NeO~
34-34 1444-413-015-10 | _X=<a¥¥ (44) 2 o{ojojo|ofojolo}-
- 34-35 1421-433-022-00 | = v 7Y > 2 olojolo|ofofo]o
34-36 1421-433-023-00 | X5} H 35— 2 10lojolo|olofo]o
34-37 V600-110-630-70 | R .B . B- 6307 2 0lojolo|ofo]olo
34-38 V600-110-620-60 | R .B . B 6206 2 ojojolo|olofo]o
34-39 1444-413-022-00 | w4 v v 7 b hos— 2 olo{olo{olo]olo
34-40 | V742-150-720-90 | A4 rv—n (H32861E0y| 2 ofofo]| |ofo]o| [M1~O
34-40a2 1444-413-023-00 | 2y xv—n 12 ololojo|ofolo]|0 D~
34-41 | V744-150-721-20 | A4 ro—n (fE28E4A05) 2 ofofo| lofolo| [M1~0
34-42 V520-100-802-20 | ~4 32 () 8X22 4 olojojojofofolo
34-43 1444-413-017-00 | v—n T v v a 2 ojo|o| {ofojo] |NM1~O
34-44 V781-100-000-80 | 7A<v &7 57 PTL/2 4 olojofololofolo| -
3445 V720-105-704-00 o'y rrz P40 2 olo|o ofojo! [Mm1~O
34-46 V211-261-002-50 | = #&xr (S " M10X25 24 olololojolololo
34-47 1550~434-221-00 | 24 my V 2 oiofo|ojofoloijo
34-48 1550-403-210-00 | #4 = » K> ML) ASSY 2 olofjofo|ojofolo
£24my Vx> MR) ASSY 2 plofolojojolo]o

81



bic| & v
. 20 220F-240F
AMES| &3 - k| & z |BE0 oo B
B X [D[Xlge|U|p|x Jos
34-50 1550-403-202-00 | J » b M17X15 3ia| 2 of{olofo|o|ofoio
34-51 1550-403-203-00 | » b (&YEY) M17X15 3va| 2 olojo|olofo|0]o
34-52 V327-262-110-00 | IU9%Fu b (F4IM10X125 1va| 4 01010 0{0]0] |Nu1~7<EH
34-52a V328-262-112~00 | IAHLIVYFEF, MFAIMIOXIZS 1= | 4 01{0/0|0|0]0{0{0 |NuAEE~
34-53 V500-162-502-50 | 7 ) K> 25%X25 4 010 |0 010/0] |Na1~788
34-53a V500-163-002-00 | v ) v 3%20 4 0]0]0|0{0/0|0 |0 |NaABE~
34-54 V401-160-010-00 | S . W Mi0 4 0100 00|10 |No1~7BH
34-54a V401-160-012-00 | S . W Mi12 4 0{0{0(0|0]0{0 [0 |NeABE~
220F | 240F |
® | 205812101
® | 2059|2102
© | 893] 951
© | 894 952

82



Fig.35 YUYy—4—2E@EE%

36—&

T 7=
2l 16 2223 Fig_15_1_{"§;\\§;r@/ﬁ/

w/ oo B O
B} :. P 2201 2202408
RHuES| &l & 23 - F an % % . DXXUUUUXﬁ
06/ [D|X |06
35- 1 1550-501-200-00 | Yy >&sr—=x BSET 1lo] [ofo]o olofo| MB~O
35- 1a 1550-501-200-20 | ) »x&—=x SET 10| |0]|0]0O ololo] |M1~@
35- 1b 1550-501-200-30 | v V¥ g & —=x SET 1|oj{oflolofofolofo|oo MaO~D
35- 2 1480-501-002-00 | e <=*7 v ¢ = (45X48X35) 1|ojolojojo|0|ofololO
35— 3 1480-501-003-00 | *=%7 » v = (40X43X30) 1|ojoflojojo|olofolo|o
35— 4 1550-501-002-00 | <YL r—zy 1{ojolojo|o|olo|oloi0
35- 5 V211-261-003-50 | = #H £& hS) M10X35 gi{ojojojo|ojojololo]o
35- 6 V401-160-010-00 | S . W Mig 21o0|olojofojojolo|o]O
35— 7 V304-260-010-00 | = H&xF v b M10 2va 2!o0flojo|ofo|olofo|olo
35- 8 1550~-501-003-00 | Y&~y V¥ 1|o| |ofofo ololo] [Mi1~@
35— 8a 1550-501-003-20 | vV ¥&F~y ¥ 1]ofloflofojofojolo|o|0 | MaB®~
35- 9 V780-100-000-20 | v X3 757 PT1/8 1(ojoflolojo|o0|olo|0]|0
35-10 V720-112-401-20 | "O" 9 >»7s P12 21afolofo|ofojololojo
35-11 V721-113-106-50 "o'yrzr G65 1|0 olo|o o|ofo N1 ~@
35-11a V721-113-107-00 | "O "V >z G70 1|o0foflojo|ofof{olo|o|0 NB®~
35-12 V201-461-203-50 | = H &xA} M12x35 9T | 2 |o|o|ojolo|o|0|olo0]O
35-13 V201-461-205-50 | = # &4 b M12%x55 9T | 2|o|l0jojojoto|0|0]|0|0
35-14 V201-461-208-50 | I HAHFEN} M12x85 9T | 1|o|olofolo|olo|ojo]O
35-15 V401-160-012-00 | S . W M12 s|oflolojlo|olojolololo
35-16 1444-503-220-00 | xm—Y 2—>F= » 7> ASSY 1|0|o|ofo|ofol0|0|0]O
35-17 1444-503-230-10 | €75 1-3»7 ASSY 1|o| [ojo]o olojo| |M1~@
35-17a | K250-007-000-00 | D) J)—7-n7 ASSY 1|oflolojlo|o|olo|o{ol0|NMB~
35-18 1550-501-210-00 | 25> 27 x bt 5% COMP 1|o|lolojo|o|ojolof0}0
35-19 V401-160-010-00 | S . W M10 2|ojolojo|o|o|ofoj0]0
35-20 V300-400-010-00 | F» b M10 7T 2|ololojojo|o|0l0|0]|0
35-21 1444-503-007-00 | 7% A by Pov 1|{ofl0|ofojo|o|o|0|0]0

83



. 1| g3 =
=. = %ﬁg 220F - 240F
AiE=S| 8 & 3 — Fk an % ﬁ - DXXUUUUX{;‘:,; Z
06/ “ID| X |08
35-22 V580-140~401-60 | X7 Y >z W) 4X16 3lolojojolofofolo]o]o
35-23 Ty 1.0X70 3iolololojo|olo]o]|ofo|a
35-24 1550-501-220-00 | {4~ COMP 1]0{o|ojolofolofo]olo
35-25 1427-611-001-00 | =&y %> ijo0|oflojojo|ololofalo
35-26 7954-205-101-00 | A4 %+ » 7 (30) 1,0j0(cjolo|0|o0lofojo
35-27 V211-260-801-60 | 3 #H 2w MS) M8X16 2|o0flololo|ojo]oiofolo
35-28 1550-503~001-00 | ¥x p > 10 ofo(ol [o|0f{Of |M1~®
35-28a 1444-503-001-00 | €xX b 1[0|0|c|ojo|o]|o|0|0]0 |N@®~
35-29 V720-115-706-50 "O'"Yyrrs P65 1]0fojojojolo|olo|ofo
35-30 1550-503-002-00 | Yo 2T » 7Y 2 10, (o0]o]o 0(0(0] |[M1~®
35-30a 1415-505-006-00 | Sy 2T o 7 Y2 1{0({0|olojo|o|ofo|ol0 (M@~
35-31 1550-503-0038-00 | = » M 10| |ojolo olofo]| |Ne1~@
35-31a 1550~503-003-10 | = » ¥ 1|0l0|ojojo|{0|0|{0]0]0 |MB~O
35-31b 1550-503-003-20 | v » I 1|0/0|oloj0o{0]0[0]|0f0 [N®~
35-32 1544-641-250-10 | xu—7+>% ASSY 1{0|o|ojojo|ofolo]|ofo
35-33 1550-501-005-00 | 'S4 » b 1(0/o|lojolo|o|0|0|0]0
35-34 1550-501-004-00 | 2 » s> =a 2|0j0|ofojojofolololo
35-35 V200-260-603-50 | wr b M6%X35 2]o|olojolo|o|0|o|ol0
35-36 V300-260~006-00 | + v b M6 2(0l0folojo|o]o]olo]o
35-37 V401-160-006-00 | S . W- M6 2lojo|ojojojoj{ofojofo
35-38 1550-501-006-00 | &> ¥ H-— 110/ofolojo]|o]o|ololo
35-39 3737-172-011-00 | 75 » ¥+~ —FR2 542 1{0|o|0|0|o|o|olo|0l0
35-40 V211-261-003-00 | = # £K 1 K{S) M10X30 2|0 0010 0[0]0] |fIBLR&®
35-41 V251-341-002-50 | v == 3 Kb M10x25 7T | 2 |o|o|ololoiojo|0|0f0
o S aE 220]220F[240][ 240F
@] 1900|1465 — | —
®]191|1466] — | —
= - f-- 1 © ] 248(2059(196|2094 | -
d D] 249[2060[197[2095
® | 203|1781|146]1779
® | 204|1782(147]|1780
@ | 248|2059|196]2094
@] 249]|2060/197]| 2095

84



Fig.36 UTKN7—LERF

B\ O B R

= & %ig 220F-240F

BHES| & & 3 - F & . X[ Uy & %z
B [X] [D|Xlge|Y{D|x |06 ~

36- 1 1480-502-001-00 V7 by 7 b 10| (ofo]o 0j0|0| |No1~@®
36- 1a 1550-502-002-00 | Y7 b/ v 7 b , 1|0(olofolo|ololo]O|O M@~
36- 2 V742-140-520-50 | A4 rv—n 77 VC40525 2 {olojololg|0|ololo]oO
36— 3 1550-502-001-00 | Y7 b2 5> = 7 "l 11d| jololo| |ofolo] [Mm1~O
36— 3a 1550-502-001-20 | V7 +25>2 1(olofofolo|o|0]0|{0{0|NuD~
36— 4 1480-502-201-00 | V7 rT7— & 10| {0}ofo 0(0]|0] [M1~O©
36— 4a 1550-502-202-00 | V7 b T— 4 1|olojolojolololo]o|0 (MO~
36— 5 1550-502-200-00 | V7 +r7—al) COMP 110{ |0l0]o ololo] |Mm1~©
36- 5a 1550-502-200-10 | V7 b 7—4@) COMP 1 ({0j0|0folo|0|0f0|0(0 NND~
36— 6 V704-140-040-00 | CHA AU (¥ 2) 40 2 |0j0lofofoiofololo|O| -
36— 7 V704~140-045-00 | CHA AT (Y2 ) 45 1|o0|ofofo|gfolofol0Ofo
36— 8 1444-502-002-00 | V7 bpT— 2t 2 (olofofojo]jo|o|o|O]|O
36— 9 1404-502-013-00 | = H 2K b (M8X25) 2 (o] [ofo 0lo
36-10 V304-260-008-00 | aH &+ » + M8 2v= 2 (ol |ofo 010
36-11 1444-502-220-00 | Y7 +7 54 » b 7+—2 COMP | 2 |0|0|0|O|p|0{0O(0]0Of0
36-12 1491-511-004-00 | I 2% (M8X14) 2 0 olo olo
36-13 1550-502-210-00 ZJ+—=277%%» b COMP 1 0 0|0 0|0
36-14 1550~-502-220-00 | Y7 +T—an2Z €% ASSY 1 0 olo 010
36-15 o kY Hot— 1 0 0|0 00|
36-16 e YK a—2 1 0 olo 0/0|a
36-17 e Tty b 1 0 olo 00|
36-18 e &r¥za—} ASSY 1 0 00 0{0|&
36-19 1550-502-225-00 | =<y %> 1 0 ol0 00
36-20 V111-163-000-80 | »F>x+~_=F M3XS8 4 0 olo 0]0
36-21 V401-160-003-00 | =S . W M3 4 0 olo 0o
36-22 V300-260-003-00 | 5o b M3 4 0 olo olo

85




—

B/ K 'H =
} = = 20 220F-240F
RHEE W &ma—- F oo % % . DXXUUUUX{E E
06/~ ID{X|os
36-23 1550-502-226-00 | < H-s~ 1 0 0o 00
36-24 1550-502-227-00 | * 245 , 75 1 0 0lo 00
36-25 1550-502-228-00 | ea—v s>7L—}t 1 0 010 0o
36-26 1550-502-229-00 YISy ()T L) 1 0 0{0 0lo
36-27 1550-502-231-00 | et 57— 1 0 00 010
36-28 V211-360-801-60 | = H &%+ (SP) M8X16 2 0 0lo 00
36-29 V580-140-502-50 | 7 > 2 &) 5X25 1 0 0(0 010
36-30 1425~621-004~00 | ~— %225+ 1 0 010 010
36-31 1480-508-200-00 | = » F¥> COMP 1|ojojofolofololololoO
36-32 V211-561-002-00 | =24 &1 1 (S) "M10X20 7T 1 |o|ofoJojololo|ofo]o
36-33 1550-503-200-00 | =~ b a—nr-<1¥ ASSY 1]0|ojofofo|olo|olo]O
36-34 V720-112-401-20 | "O "y P12 2 1ojolojo|0|olo]olo]o
36-35 V211-260-804-00 | =% &1 M) M8X40 4 |0|lojofolofo]ololo]o
36-36 1550-503-004-00 | F>v s> X7 ) (84) 1 {0/ojofo]o|olo|olo]|0
36-37 1550-503-210-00 | x7—r ) > 2 COMP 1 |ololojololo|ololo]lo
36-38 1550-503-005-00 | 74— FRp 2 )2 1(oflojofofofofolojo]o
36-39 V710-140-004~00 | EH A+ A D 4 2 ]0|ojofo]ojololololo
36-40 V550-503-006-00 | 7 4 —FoSy 2 > 1|o0tofofolo|ojolololo
36-41 V580-140-301-60 | X7 ) > 2 & W) 3X16 1 (0l0|0foj0|0lo|olo|0O
36-42 1434~503-002-00 | ¥'> (5X17) 1]0|ofofojololojolo]o
36-43 V500-162-001~-50 | 7y ' 2X15 . 1 (0lojofolojolojololo
36-44 V411-260-005-00 | 3 A&+ 4% M5 1 |0(0lofofo|ojolo]o]o
36-45 1550-503-220-00 | +&—+ 2 COMP ‘1 /0|o0lojo]ololojo]o|o
36-46 1550-503-230-00 | #:5"—r > COMP 1 (ojofofofojo]ololo|o
36-47 V720-101-900-70 | "O ")z P7 1{0|0j0j0oj0]o|0(|0]0!0
36-48 V211-260-801-60 | =4 xx 0 }(S) M8X16 1]0f0j0l0jo|oj{0|0]|0 |0 .

36-49 1550-503-240-10 | V>2 7 b 7—5" COMP ‘1 ]of0jojofofojofofo]o
36-50 V742-114-240-60 | A4 rvv—n VC14246 | 1(|0|0joj0o(o|o|0lo]0]|0O

220!220F|240|240F

® | 248|2059[196(2094

® | 249(2060{197{2095

©|203{1781]146]1779

O] 204|1782{147|1780

86



Fig.37 /NILJBER

| !
=, B
=) PR
N
/.," -
"

I Y

. T Tml5iy|  2z0P-2408
EHES| & & 3 - F | & 5 % X ToT0ToX
B X [P]X|os|Y|D|x los
37- 1 1550-504-200-10 | 7m—754 %Y 54,17 ASSY| 1 0 0|0 0|0
37- 2 V720-111-901-00 | « "O"V>z P10 13 |o olol | |olo
37- 3 1491-541-220-10 | yv ./ 4 F-ia s ASSY 1 0 0lo 0lo
37- 4 V720-112-401-20 | « "O" V> - P12 . 2 0 010 010
37- 5 v201-260—809—‘50 aH AR} MB8X95 1| |0 0|0 010
37- 6 V211-260-805-00 | = # £ M(S) M8X50 2| |0 0lo 0o
37- 7 V201-260-806-00 | = #H &K n b M8X60 2 0 0]0 0|0
37- 8 V401-160-008-00 | S . W M8 3 0 0]0 0)0
37- 9 1513-541-003-00 | =% 2 £(A PT1,/8 2 0 0|0 010
37-10 1513-541-300-00 | FY <Yk —~=x COMP 2 0 010 0lo

37-11 1544-504-001-00 | x4 ~4 A &n 1]o| (o]0 00

37-12 V720-112-401-40 | "O" ) > P14 3 00 0l0

37-13 V211-260-802-50 | = H £&n MS) M8X25 3 (0| |o]o 0/0

87




Fig.38 A bhO—LL/N—BFE -

@ | 239(2040(192|2051
® | 240(2041]193|2052 E o B =%
& = , pe 2201 2z20m240r
RHES %B:fa_:l-—F “@m - ) =2 % = D~xXUUUUXﬁ *#
‘ 06/ [D| X 106

38— 1. | 1544-505-200-00 |.KJvs>TFT—2a COMP 1{o| lo 0 N 1~@
38— 1a 1550-505-240-00 | #vv s >»T—a COMP 1{0| {o 0 N B~
38— 2 V850-140-502-50 | X7 Y2 & W) 5X25 10| |0 0

38— 3 ' Fy 10X70 110( |0 0 A

38— 4, 1550-505-002~00 | = » M (80) 1(o0|0|ojo0foj0|0l0]|0]O

38- 5 1544-505-004-00 | =y F(42) 1|o0lo0|olo|olofolo]|olo

38~ 6 1444-122-002-00 | £#—> -3, 20 (M8) 1{o0/0lofo|olo|ofolo]o

38— 7 V302-260-008-00 | +» } M8 3va 1|0|/0jolojolo]olo]lolo

38— 8- V411-260-008-00 | I HF¥rHx M8 20| |o 0

38— 9 V500-162-002-00 | v ) e 2X20 210| |0 0

38-10 1550-505-210-10 | vo3—ska & COMP 10| |0 0

38-10a 1550-505-210-30 | voi—&na g% COMP 10| |0 0

38-11 V211-260-802-00 | =# &+ M) M8X%X20 2]of |o 0 E
38-12 1550-505-220-00 | v-3—(4) COMP 10| |o 0 (N1 ~@
38-12a 1550-505-003~00 | v-s—(4) COMP 10| |0 0 N B~
38-13 1444-116-006~00 | 54 =2 2|of |0 0 N1 ~@®
38~13a 1414-117-005-00 | 54 =>2 (13X50X3) 20| |o 0 - |Ne®~
38-14 1444-116-007-00 | U » & (11X30X2) 20| |0 0 M 1~®@
38-14a 1444-116-007-00 | 7 » &+ (11X30X2) 10| |0 0 N B~
38-15 -1404-117-008-00 | vy v+ XTI )2 (22) 1]0 0] 0

38-16 V304-260-010-00 | I #H %5 » b M10 2v= | 1]0| |o 0

38-17 V302-260-010-00 | +» b M10 322 | 1|0 |oO 0

38-18 1550-505-001-00 | HK¥v s >1-<— 1|of |o 0 N 1~@
38-18a 1550-505-001-10 | AT s r.— 1]olojolofo|0]|0{0]|0]|0 {M®~
38-19 V210-260-802-00 | wxa k(S) M8X20 2|0f{ojojolo|olofolo]o

38-20 V301-260-008-00 | F » b M8 2= 2 |oflofo|olofo|o]ofolo

38-21 1434-242-004-00 | 2V » 7(B) 1|o0f{ojotofofojo|olo]o

38-22 -1560-511-012-00 [ Z'v— b 1(0| |o 0




Fig. 39 N1ROUvINRAEYTEEK

. ®w oo 82 K -
_ . . & loi0| 220F240F

RHES| 8 & 3 — K - % X oo & %

- B [X] |P{X]os|Y|D|xX |06
39~ 1 1550-508-200-00 | ¥+ s >34 74 COMP 1 (o] jolofo| |ofofo| [w1~788
39- 1a | 1544-508-200-10 | %2 v = >34 7(A) COMP 1o|ololo|o]o|o|ofo |0 |Na7BE~
39- 2 V720-103-502-40 | "O")>rs P24 1(ofololofofofo]o]o |0
39- 3 V211-260-802-00 | I# Z& b M8X20 2 (0lolofofofo|o]o]o |0
39- 4 1550-508-001-00 | +x—=(70) 2o} folofjo| {olo]o| |N1~7EH
39- 4a 1550-508-001-10 | &—=(90) 2 (olololofofo|o]|o|o |0 |MABE~
39- 5 1427-101-011-00 | 25>7(37) 4|ojotololo]o|o]olojo :
39- 6 1550-508~210-00 | ¥ 2 < a >34 7(B) COMP 1(of{ {olofo| |olo|o]| [No1~7RER
39- 6a 1550-508-210-10 | #2 v s >4 7(B) COMP 1|ololololo|o|o]o|o |0 [Ne7REE~
39- 7 1423-616-004-00 | 2 » 3> =4 (10%X25) i|o|ojolojofo]ofo|o]|O]|
39- 8 V304-260-008-00 | =5 £ 5 b M8 2va 1lologlolojo|ofofo]o]O
39- 9 V211-260-801-20 | = # £ MB) M8X12 1(o0lololoto]ofofo]o]O
39-10 1544-508-270-10 | 2 v s>»7 4% ASSY 1{0jolofofofo|o]ofo]oO
39-11 1444-510-222-00 | & —= 1|ololojojolofololo]o
39-12 1444-510-250-00 | =24 + ASSY 1|ololojofolofolo]o]o
39-13 | 1444-510-220-00 | » v— b~y %> 1}ololofojolo]ololo]o
39-14 1544-508-271-00 | ezl A} 1]ololofo]jolo|olo]o]o
39-15 1444-510-226-00 | <y %> 1|ololofolo]o|olo]o]o
39-16 1444-510~227-00 | e a4 AXT Y 1loflololojolo|olofo]o
39-17 1444-510-231-00 | = "O" V7 1i{0|ololofolo|o|o|o]0 .
39-18 1544-508-220-00 | 7 4 »&<*—X COMP 10| {ofolo]| |olo|o| [M1~7EH
39-19 V211-260-802-00 | = # £#&K A b (S) M8X20 4olololofolo|olofolo
39-20 V211-260-803-50 | = # &% F(S) M8X35 1/0|olofo]|ol|o|o]o]o |0
39-21 V211-260-801-60 | I H #Hn bS) M8X16 1(0folojojojo(0O[0]O
39-22 1550-508-002-00 | =&k —x(A) 1|0|ojojo|ofofo]o]o]|o0
39-23 1427-101-011-00 | 75 >7 (37) 2 |olofojojofofojofo]|o

89



' G

—_—

&

2T I
3 = 260l 22082408
El‘ﬁ%? ;EHS I:II:I‘:I =] = F DDD % ﬁ X Dlx X UlUIoX ﬁ %
06/ U [D| ¥ los :
38-24 1550-508-230-10 | ¥z v = >34 7 () COMP 1|0(0joj0jo|o|olololo
39-25 V720-102-402-00 | "O "y >z P20 110/0fofojolololololo
39-26 V210-260-604-00 | . MS) M6X40 . 310/0|lofo|ojolo|ofo]|o
39-27 1550-508-003-10 | =" &4—x(B) 1|0jofojojofofafo|ofo
39-28 1427-101-011-00 | 25>7(37) 210lofofofolo]o]olo]o
39-29 1550-508-240-10 | %2 v 5 >34 7D) COMP 1]ojofofolo|o]o]|ololo
39-30 V210-260-802-00 | & MS) M8%20 .- 210(0fo|0fojoj0l0|0]O
39-31 1550-508-250-10 | F V-39 <4 (A COMP 1/0| |ofolo 010f0]| |No1~7E8
39-31a 1550-508-250~20 | FY-Y-‘47A) COMP 1(0(0j0|0[0|0|0|0|0]|0|NTBE~
39-32 V720-112-402-00 | "O " )y>y P20 1]ofolojolo]olofo]o]o
39-33 V210-260-603-00 | & K(S) " M6X%X30 41o|ofolo|olofojololo
39-34 K135-011-000-00 | *¥+%#> 7 ASSY 1{0jofojojolololo]olo
39-35 K135-017-006-00 | o &> 7' hoi— 1|ofojofo]ofo]olo|ofo
39-36 V744-114-280-70 | e A Af v —a TC14287 1]ofolofojolo|ofo]olo
39-37 V721-113-105-00 | * "0 " Yy G50 1|o|ojojojololo]o]olo
39-38 V720-112-402-20 | = "0 "y P22 4]0lolofololo|ololo]o
39-39 V720-111-900-60 « "O "y Pé 1|o0j0falo|ofololololo
39-40 K135-002-009-00 | ¢ I #H 2K} M8x%28 11T | 6 {o0f{0lofojo|o|of{o{olo
39-41 V401~140-008-00 | S . W M8 6|0flofofolo]o|olo]olo
39-42 V411-260-008-00 | S H¥¥Hx M8 4{ojojolojo|olojofo]o
39-43 V304-260-008-00 | 2 H&F » b M8 2va 210|o|ojolofojololojo
39-44 V401-160-008-00 | S . W M8 4|o0fojololojolo{o]0]0
39-45 1444-510-002-00 | 72 a5 } (M8) 2]of0fojolo|olo]|alo]o
39-46 1550-508-260-00 | ¥V <)k —=x COMP 1{0| folofo| |o|ojo| [mMo1~7<EB
39-46a 1550-508-260-10" |. 7 V-8 Yk~ COMP 1/0{0({0]0]|0]|0{0{0|0|0|Na7RBE~
39-47 1550-508-004-00 | & 2 & 2|0jo0jofofojofolo]olo|n1~7mm
39-47a | 1550-508-005-00 | =2 2(4). 1]o0lo0lojo]ofofofo|0fo |npEE~ "
39-48 1544-508-006~00 | ¥ 7 = > f-i— 1lolofolojolalolololo.
39-49 V720-112-401-40 | "O ") J» . P14 1(0fofofolololololo]o
39-50 | V211-360-802-50 | =% £ b (SP) M8X25 3 [ojojolofojo|olafolo
39-51 1550-508-270-00 | ) Y—7-sn'>7 ASSY “1{o| |ojojo| jojo{0] |m1~7eR
39-51a | K250-013-000-00 | Y Y —7-<n> ASSY "110]0(0|0|0(0]|0|0|0[0|NaABE~
39-52 V720-112-402-00] | s'"O" Yy ‘ P20 1{o0fofofolo]ololo{o]|o]
39-53 1550-508-280-00 | 'FY-3Y-31F(B) COMP " “1]0| |ofo]o 0100 {No1~7<B8
39-53a 1550-508-280-10 | 5 <Y 34 (B), COMP 1|0jojo|ofo|0}0|0{0]|0|MABE~
39-54 V720-112-401-40 | "0 'y z P14 2|ololololo{o|alo]lolof
39-55 V211-260-802-50 | T4 &£xn +(S) M8X25 2|ofofojolo]|o]ololo]o
39-56 V211-260-803-50 | =4 z&n 1(S) M8X35 2|olojolo]o|o|o]o]0]0
39-57 1544-508-008-00 | =i 2 %(A) 1]0(0folofo]o|0|of0]|0"
39-58 1404-503-006~00 | #4n K> T3y % 1|0l0]ofo|ooy0[0|0]0 “} m:%;_'-
39-59 V721-113-103-00 | "0 "y G30 1|0jojo|olo|olololao]lo :

90



Fig.40 3PY> iR

12927 L/A

f\,
4445
® OB B X
& 01 2208-240F
BEHES ;M Hmad - B an. % X UUUXﬁE
- B X1 2| Xos|U|D{x o6l
40- 1 1444-514-220-00 | = 7—V > 7 COMP 2|olofololo|olo|ofo|o
40~ 2 1444-514-002-00 | "mF7—VY vz > 2|0jojolo|o|o|ofo|0}0
40- 3 V411-160-022-00 | I AF¥HF M22 2|olojolofo|olololo|o
40- 4 V500-154-003~50 | 7V ¥ 4X35 21ojololofololo]ololo
40— 5 7963-611-230-00 | F= » 7 F = —>(4) COMP 2(0flofo|0jo|ojol0j0]0
40— 6 7963-611-240-00 | F= »2 F=—>(B) COMP 2 |olojofofo|of0]|OfOO
40~ 7 1444-514-230-00 | 2—> %y 2 MA) COMP 2|olololofo|ololofo]o
40— 8 V304-260-016-00 | I #£F » b M16 2va | 2(0]0(|0{0j0]0}0[0]|0]0
40— 9 7963-611-003-00 | ¥>(12X48) 4lofololololojojolo]o
40-10 V500-163-002-50 | 7 ) £ 3X25 4|olojolo|o|ojolojo]o
40-11 7963-611-001-00 | Fxz - ~2|olololo|o|o]olo]o]o
40-12 V304-260-016-00 | =#£F» b M6 2 2|ojolololo]o|o]o|o|o
40~13 V401-160-016-00 | § . W M16 2|0jolo|ofo|olololo|o
40-14 1416-511-400-00 | =7—Y 2 F=> COMP 21ojojojojo|ololo|o]O
40-15 1550-514-200-00 | Y7 b= ML) COMP 1|0l {o]oo ojolo| |M1~®
40-15a 1550-514-310~10 Y7 b=y ML) COMP 1/0{olo|o|o|o]0|0|0|0 |Na®~
40-16 1550-514-210-00 | =x2 ) a(l) COMP 1{of {olo0 0lo N1 ~@
40-16a 1550-514-210-10 | =2 VY ={) COMP 1(0| {0]o 0|0 N B~
40-17 1444-514-260-10 | =2 Y =R) COMP 1(0| |0]o 0|0
40-18 1444-514-270-00 | £#—>-3y 7 {B) COMP 110} |0]|0 0l0
40-19 V302-260-020-00 | F» b M20 3v= | 1|0 {0]0 0l0
40-20 1444-514-003-00 | ¥ (19X72) 20| lolo olo
40-20-1| 1444-514-003-00 | £ (19X72) 1 0 010 ojo
40-21 V500-164-003-50 | vy 4X35 210! (o]0 0|0
40-21-1| V500-164-003-50 | 7 ) K> 4X35 1 “lolo 0o
40-22 7963-613—-005-00 | &> (16X60) 2|olojolofojofolofo]o

?1



- bic| F2 A 2V
B e 201 2208-240¢
RHES| #& 3 - F & B | D[ X[o 0o %
06/ °|D[X |06
40-23 1305-931-003-00 | F>v s Erav~y— vy 2 |10{ofo|ololo]olo]o]o
40-24 7963-905-004-00 | =—2 (m—4&Y ) 4lolololojolofa]o]ofo
40-25 7963-905-005-00 | =—2 (v &) 4 |0|0jofolojolo|olofo
40-26 1444-514-280-10 by ) 2(L) COMP 1 |0flo|ojololololololo
40-27 1444-514-300-00 | b » 7Y > 2R) COMP 1{0i0fo|oloflo]o]jojolo
40-28 1550-514-290-00 | #—>-3, 2. COMP 1]0(ofojojolololo]lo]o
40-29 1402-511-600-00 | by 'Y >2my 25+ COMP | 1 [0|0l0|0]0]0]0]0]0]0
40-30 1444-514~004-00 by 7Y 2 E(a) 1/0(0(0|0{0|0]0|0]O]O
40-31 1444-514-005-10 | ~¥—>(19) 2 |0(0jofojlo|oj{0|0|0]0O
40-32 1444-514-006-00 | F » 7 Y > 2 £ (B) 1(ofofojofo]o|c|ojo]o
40-33 1550-514-220-00 YZbrvY)rx ASSY 1 0 0 0 M1~@  ,Fig4l-
40-33a K186-004-000-00 | + )+ & ASSY 1 0 1o]o0 00| B~ }~22§ﬁ
40-34 1513-541-005-00 | =% 2 £(0) PT1,/8,459 2 0 0(0 00
40-35 1488-541-006-00 | £> (16X65) 1| o 0|0 olo
40-36 V411-160-016-00 | S HF¥HF M16 1| {0 0l0 0l0
40-37 | V500-153-003-00.| 7y 3%30 1| |o 0|0 00
40-38 1550-514-250-00 | X bm—2+t>¥% ASSY 1 0 010 0]0| Figdl-23~402FK
40-39 1550~514-280~-00 | 7v— F(A) COMP 1 0 00 010
40-40 1550-514-001-00 | 7v'— }(B) 1 0 00 0|0
40-41 V211-360-802-00 | = # &+ b (SP) M8X20 1 0 00 00
40-49. V120-266~001-60 | 73 XF~z=x(S) M6X16 2 0 oo 0|0
40-43 V411-260-010-00 | S Hx¥H% M10 1 0 1010 00
40-44 V411-260-008-00 | I A+ ¥H % M8 1 0 olo {1olo
40-45 V500-152-502-00 | 7 ) &' 25%X20 2 0 0|0 0|0
220 220F | 240| 240F
@®| 21911917({170]1907
®| 220{1918{171|1908

92



Fig.dl UTZhoUYY, 2hO—0E04 ASSY

& O B R
N . —T@loio| 220F-240F

Etﬁ%? I & 3 T % % X - X(;%U g 38)6( &
41-0-1 | K186-004-000-00 | +) >4 ASSY 1 0 0o 0o
41~ 1 : etxbrmy I COMP 1 0 0|0 0lo|a
41- 2 K186-004-001-00 | » €x b > 1 0 0|0 0o
41- 3 V723-111-501-60 | * 0 ) > S16 1 0 00 010
41~ 4 V720-113-504-40 | =0 ) > 7 P44 2 0 010 010
41- 5 V730-105-004-40 | ¢55 27 5 F )2 P44 2 0 01{0 0|0
41- 6 K185-004-003-00.| *UF » b 1 0 0o 0|0
41- 7 K186-004-300-00 | * = » F#-3— SET 1 0 0o o0lo
41- 8 V723-102-005-30 | *0 Y >z $53 1 0 0o 010
41- 9 K221-001-002-00 | *-$4m 5 bxT—n 1 0 00 0o
41-10 ' *x)—7 1 0 0|0 00|l
41-11 V723-111-501-40 | *0Y) > 7 S14 1 0 0lo 0o
41-12 - s E~y b 1| {o| { |ofo 0lo|a
41-13 K110-001-106-00 | * #—AAFITRT Y > 2 1 0 010 0|0
41-14 K186-003-009-00 | 735 ' 1 0 010 )
41-15 V720-112-401-80 | *0 V> s P18 1 0 010 0o
41-16 K211-001-008-00 | 75~ 1 0 olo olo
41-17 V720-112-401-20 | *0 ) > 2 P12 1 0 olo 00
41~18 | K186-004-004-00 | &~y b 1 0 olo olo
41-19 K221-001-007-00 | s 7’527 1 0 olo olo
41~20 V720-111-900-80 Qs P8 1 0 0lo olo
41-21 K211-001-011-00 | * v X3 757 1 0 0{0 010
41~0-2 | 1550-514-250-00 | X b m—7+«>¥ ASSY 1 ol | lolo 010
41-22 | 1550-514-252-00 | *F4 395> 1] o] | |ofo 00
41-23 1550-514-253-00 | o ='a & 2% 2 0 00 00
41-24 1550-514-254-00. | e%5 b 71—} % 0 0|0 0|0




B G

&

—_

I - = I
} n @ | 240| 220240
RHES | 8 &% 10 - F oh £ " DXXUUUUXﬁ #

06/ “iD|X |06
41-25 1550-514-255-00 | e %7 b 1 0 oo 0 {0
41-26 1550-514-256-00 | *X54 Fo'my 2 ASSY 1| |o 0o o o
41-27 1550-514-257-00 | e &= p v—an 1 0 0o 0o
41-28 1550-514-258-00 | * T& 7 & 1! |0 0|0 010
41-29 1550~514-259-00 | = "O" V> o 1 0 010 010
41-30 1550-514-261-00 o J o3~ 1 0 0|0 010
41-31 1550-514-262-00 | e=aZm A5 b 1 0 0|0 0|0
41-32 1550-514-263-00 | *~—%x ASSY 1 0 0|0 olo
41-33 1550-514-264-00 | s X7 ) vy 2X12 1 0 010 010
41-34 1550-514-265~00 | *EH £+ 21 5 1 0 00 00
41-35 1550-514-266~00 | *=2 3 AKE Y2 1 0 00 0o
41-36 1550-514-267-00 | =75 2¥% 35 2%y M3X4 4 0 00 0o
41-37 V111-163-000F60 | =5 =x¥%5a3%xy M3X6 6 0 00 0o
41-38 V401-160-003-00 | S . W M3 6| |0 010 010
41-39 1550~514~268-00 | *2—v s >7L—} 1 0 0o 010

%4



. Fig.42 F—hO—%USET

B O O

pe 2201 220r-200
Em%% gﬁ n=||:l a1 — F Dnﬂ % i X UTUIuX ﬁ %

B | 1% 1PiXlos|Y|D|X |06
42-0-1 1550-531-200-40 | #—ba—4%1) SET 1({0lojolo|olo|o]0]|o h
42- 1 1480-531-330-00 | »F£5<> ASSY 1({0| |ofo]of |o]olo N0 1 ~7<B8
42— 1a K240-002-000-00 | eF&3>-S47 ASSY 1/0{0flolofojo|0lof0 (0| [NuABEA~
42— 2 1550-531-210-00 | « 7Y+ x b= » ¥ COMP 10| (o]olo 0l0!0 N1 ~OQ
42— 2a 1550-531~-210-10 | s 7Y+ X}t m v I COMP 1]0lofojofo{o|ofolo(0] MDD~
42— 3 1550-531-220-00 | »7'v ¥ =27 —4 COMP 110] |oloto glo]lo N1 ~OQ
42— 3a 1550-531-220-10 | ¢« 7y v 27 —4 COMP 110/olojo|oi0|ololo|0]| Ne@~
42— 4 V201-260-802-50 | ez H & b M8X%X25 1]0lofojofojo|o]ofolo
42- 5 V301-260-008-00 | <3 » b M8 2v= 1(0{0f0Jofo{o|o]o|O|0
42— 6 V580-140-402-00 | e« X7 Y2 4X20 1(0fojo|ofofo|ofojo]O “ (D, X,X06,
42- 7 *F ok 1.0X70 1|0lojojojol0|o|olo]O A_UD,UlX,UX06
42— 8 1550-531-230-00 | e = » Mk COMP 1(0{ (0]|0]0 0{0]|0 N1 ~O DaRE)
42— 8a 1550-531-230-10 | » = » Mk & COMP 1|0j0fojolojolo|ofol0 JNuD~
42— 9 V211-360~-802-00 | « a3 &K1} (SP) M8X20 2|0(0/ojofo|0|O|0]0O]O
42-10 1550-531-240-00 | s 7Y+ X+ J 2 COMP 1|0lofojofolo|olofolo0
42-11 V411-160-010-00 | o S Hx¥H K M10 110|0flojofolofo|ofolo
42-12 V500-152-002-00 | e 7V > 2%20 1]0|oflojofolofol|ofolo
42-13 1414-312-002-00 | e F> v a X7 YV (53) 1{0|oflojofofo]jolo|o]o
42-14 1444-531-002-00 | e =y Fr—3 1{0|olololo]ololo]olo
42-15 V410-260-008-00 | e H 2¥H* M8 1{0/oflojofojo|olo|Of0
42-16 V500-152-002-00 | DV K> 2X20 1/0j0folofofo|o]o|0|0
42-17 1544-531-002-00 | a7 v—+h 1]0joflojololofo|ofolo
42-18 V211-360-802-50 | ez H &K b+ (SP) MEX25 2 |olofolofolo|olo|o}o
42-19 1550-505-001-00 | * HY v a X v-s— - 1{olojolojojo]o|olofo
42-20 1432-242-004~00 | 2V » 7(B) 1jo0l0fojofolo|olo]o}o }an'\-@
42-21 V210-260-602-00 e K MMS) M6X20 21]o|olofolo|o]o|ojolo]|)




CaE I 'O
m — 20 22082408

RHES| & & 2 - k an % s | 1x| TolxIX T & o

X106|Y{D! X jos
42-22 V301-260-006-00 | =3, M6 2va= 2 ]0j0jofolojo|ofofojo|)Me1~0
42-23 1550-531-250-00 | *V-S—FS54, b COMP 1|0{ (0j0j0] |ololo N1 ~Q
42-23a 1550-531-250-10 | s V-3—2'3 4, } COMP 1]0|0j0|olofofofololo]| MmO~
42-24 V211-260~-801-60 | = # £x +(S) M8X16 2 |0fofolofolo|o]|ololo
42-25 1550-531-260-00: | * voS—kax(P) COMP 11ojalo|ofo]olololoio
12-26 1444-116-006-00 | «5{ =2 2 [olojofololo|o]ololo }N““@)
42-27 1444-116-007-00 | 7 » v+ (11X30%2) 230|0fololofo]olololo
42-28 1404-117-008-00 TV veRT Vs (22) 2 10|0|0l0ojo(0|0fo]lo0O
49-29 V304-260-010-00 | e = # &5 5 b M10 2+ | 2 |olojofololo|olololo
42-30 1550-531-001-00 ¢ F IR — 110 0 01010 M1 ~0O
42-30a 1550-531-001-10 | s F 7R L3 110]0 0(0(0(0]0i0|] MO~
42-31 1432-242-004-00 =20y 7(B) 110 0 0j070 N1 ~Q
42-31a 1415-505-015-00 e LS —=x1) 1(0(0 0(0]0(0|0{0|| MO~
42-32 V210-260-502-00 | =& h(S) M6X20 210 0| |olofo N1 ~O
42-32a V210-260-802-00 RPN M8X20 210[0 olo|ofoloio] | MO~
42-33 V301-260-006-00 | ¢+ M6 2= 210 0| |ofol0 M 1~0
42-33a | V301-260-008-00 | *F 4 b M8 2= 2 lolo 0|0 (ololo{o|| MDD~
42-34 1550-531-270-00 | * vos—k (D) COMP 1(0]0 olofolofolfo] ]|
42-35 1444~116-006~00 | sS4 =z 2 10]o 010{0lojo |0
42-36 | 1444-116-007-00 | e 7 o o4 (11X30X2) 2|0/l0 oj0|0jol0|0]| FN1~0
42-37 1404-117-008-00 | * 7V y v+ 27 Y > (22) 1{0|0 0l0]olofo |0
42-38 V304-260-010-00 | ez #H &5, b M10 2va | 2 |0f0 010]0(0]00|%(D,X,X06,
42-39 1550-531-280-00 | ¢«Yas4>brm, I COMP 1(0(0 0]0|ofofolo|[UD, UX,UX06
42-40 1550-505-002-00 | = s F(80) 1lolofolofafolo|o]o o] | BREE
42-41 1544-505-004-00 | * =5 F(40) 100 o S N L
42-42 1444-122-002-00 o B—oXy v (M8) 1{0(0 0(0{0]0]o |0
42-43 V302-260-008-00 | s 5 b .- M8 3va 1 |olo ololofolo]o]|J :
42-44 V411-260-008-00 |.« I H*¥FHx M8 210(0 olofojofolo )
42-45 V500-152-002-00 | <7 V) > 2X20 210l0 010 |o0lolo{o i
42-46 1550-531-290-00 | «F¥7 27545 b COMP 1o ol |ofofo N1~
42-46a 1550-531-290-19 s FITRTSH5 5 b COMP 1(0/0 010f{0|0|0{0|| ND~
42-47 V201-260-812-50 | eI £t M8X125 1olo olo|olo|olo
42-48 V201-260-808-50 | s a3 H 2w} M8X85 2 {ofo 0{0|0iofo0]o
42-49 V401-160-008-00 | «S .W M8 31{0]0 olojofofa]o
42-50 V411-160-008-00 | « S AF¥H%x M8 310(0 o(0]ofofo]o
42-51 1550-531-300-00 | « 7—4akAk COMP 1]o0fo0 0lo|ojolo]o
42-52 V411-160-010-00 | 3 % ¥ H % M10 210l0 0|0{o|olo|o]
42-53 V500-152-002-00 s EY 2%X20 2100 0{0]0f0f0}0
42-54 1550~531-310-00 | ez2 v ¥ F—A ASSY 1040 0ol0jo|olo]o
42-55 1444-531-001-00 |  » 75 /2 (10X12X20) 1{0|0 ololojolojo
42-56 1550-531-330-00 | &Y s >7—4a(A) COMP 10 0| |olofo N1 ~©
42-56a 1550—-531-330-10 e R ar7T—ud) COMP 1/0(0 0{0f0jojo|0]| | MO~
42-57 1550-531-340-00 e Ky s»7—a(B) COMP 1]0f0 0l0jolojo|o
42-58 V581-140-502-50 | X7 Y > W) 5%X25 1/0]0 olo|ololo]|o
42-59 °* Ty 10X7 "1 0|0 0|0f0j0f0|0]|a
42-60 1550-531-002-00 cTFryayRITYr/(85) 1(o0f0 0l0|olo|o]o
42-61 1544-531-360-00 | « 74 ¥rr(A) COMP 10]0 ofojofolo]o
42-62 7957-501-004-00 | *~¥— &> (10=4r) 1lo0lo olololololo
42-63 1550-531-350-1p |. e 74— V<, 2D A4¥ ASSY 100 0|0|ololo|o
42-64 1544-531-370-00 | * v Ak 4(B) COMP 1(0/0 0(0|ofalo]o
42-65 1305-241-001-00 | ekxA4A g v~y—t> 1(0/0 0|0|ojolo]o
42-66 V411-160-005-00 | = 3 HxFH% M5 1]0lo ofolofofo|o
42~67 1444-531-005-20 | s -&>¥4—x ’ 1/0(0 ololojololo
42-68 V211-360-802-00 | e = # &x b (SP) M8X20 4|00 olojafofo]o
42-69 1444-531-320-00 | e 7—a COMP 1{olo ojolofololo

96



Fig.42 A—hO—5USET

o B %

' = 20 2202408
BHES| 8 & 3 — F & % =l 1 DXXUUUUX"{’% %
_ 06 ¥{D | X |og| -
42-70 | 1444-531-006-00 | « &> (88) 1]0|olojololo|o]o]o]o
42-71 V411~160-008-00 | = S #F¥FH* M8 1]0lojolofofo|ojololo|
42-72 V500-152-002-00 | 7)) e 2X20 2 |of{ojolo|o|o|ofo]o]|o
42-73 1444-531-330-00 | e= 5 ¥ COMP 1 [olojofoiolololojolo .
42-74 7995-401-001-00 | » &>+ 71—} 10| |ojole] {o]o]o N -
42-74a | 7995-401+001-10 |- &% 71—} ‘1 {olololofo]ololo|olo] |MFEE~
42-75 1305-241-001=00 | eRAn IO ~F—E> 2 |ofolofolofofolofolo| | [x(D,X, X086,
42-76 V411-160-008-00 | « 3 #x¥FHH M8’ 2lofololo|ofo|ojolo]o| HUD, UX, UX06
42-77 V211-260+-801-60 | « = # 2K 1(S) M8X16 2|ofololo|o|o|o]o|olof | EEEE
42-78 1550-531-003-10 | MY TUHA €T AL s 1]ojo0jojojofo|ojofo|ol |-
42-79 1550-505-003-00 | = v-S—(A) 2 |olololofofojolololo|
42-80° | 1560-511-012-00 | »7v—} 3 |ofojofofojojolof0fol:l | 0
42-81 1414-117-005-00 | 54 =>2 (13X50X3) 4|ofolololofofolofojof |] -
42-82 V302-260-010-00 [« b M10 3= | 2 |o|ojofolo|o]|olofofo]
| 220]220F | 240] 240F
1@ 105{ 660| 74|. 849
J®]| 106 661| 75| 850} -
© ] 239[2040]192] 2051
10| 240(2041(193|2052

97



Fig.43 ZAA1{O—5USET(AT>a>)

) ®\ O B R
T — & la50|  220F-240F
RHUEFES| B & 3 - k. | & % - XTI ToTooR &
‘ . : B (x| |p|x|gluly
43-0-1 | 1550-532-200-10 | X4 ~A4 a— %1 SET(OPT) " 10| [ofo 0{0]
43- 1 1544-641-250-10 | sXo—7+>¥% ASSY 1ol lo]o olo
43~ 2 1550-501-005-00 | 7545 } 1|0} lolo olo
43~ 3 V211-261-003-50 | *=3# ##& 1 MS) M10X%35 20| Jolo 1olo
43- 4 1550-501-004-00 | *2 v o a4 , 210| lolo olo
43- 5 V200~260-603~50 | exa b M6X35 20| lofo 0|o
43- 6 V300-260-006-00 | eF» b - M6 2|0} |ojo 0[0
43~ 7 V401-160-006-00 | S . W M6 2ol jolo| | .Jolo
43- 8 3737-172-011-00 | *7 5 » v 4~ —% XZ 54 10| (o]0 0|o0]
43- 9 1550-502-210-00 | 7 +—2754# 5 b COMP 1]/0| |o]o 0|0
43-10 1550-502~220-00 | Y7 b T—abz k¥ ASSY | 1]o| |olo 0{0
43-11 1550-502-221-00 oo A I— 1[0 |of0 0|0
43-12 1550-502-222-00 :| s* &> ¥ K o —4 10| lojo 0|0
43-13 1550-502-223-00 | s* 2 m %, } 1/0{ |o]o 10]o
43-14 1550-502-224-00 | **+>¥%a—} ASSY 10| |o]o o|o
43-15 1550-502-225-00 | s <y %> : 10} {ofo olof
43-16 V111-163-000-80 | =* 75 xF~<= % M3X8 4o |olo o|o
43-17 V401-160-003-00 | e+ S . W M3 40| {0jo] 0.0
43-18 V300-260-003-00 | es 5, M3 4 (0] |0]0 ojol
43-19 1550-502-226-00 | ee Ho<— 10| |ojo olo
43-20 1550-502-227-00 | e® 24 5 5 752 1{0] o]0 olo}
43-21 1550-502-228-00 | sea—s 571 —} 1]0| . |o]o )
43-22 1550-502-229-00 | s> ¥% 7545 F (Y7 }) 10| (0]|o0] 0]0
43-23 1550-502-231-00 | s*+&>¥T—a 1{0| |olo 00
43-24 V200-260-501-00 | =&} M5x08x10| 10| {o]o 0{0
43~25 V211-360-801-60"| s a# £xA bk (SP) M8X16 20| lofo 0|0

'



Fig.43 ZA~A(O—5JUSETHATYaY)

Fig.36-5

B O HOR
4 ’ &350 | 220F-240F :
RHES %ﬁﬁﬂ—,l‘ an % %5 " DXXUUUUX{’E E-3
: Alo6| ¥ [D| X |06 .

43-26 V580-140-502-50 | s x7 V> 5X25 10| jo}l0 olo
43-27 1425-621-004-00 | ¢ ~—%RZ 527 1|0l lo]o 0|0
43-28 1550-504—200-10 | s 7u—754F)54-v7 ASSY | 10| (0|0 0|0
43-29 V720-111-901-00 | == "O" Y7 P10 3|0l (o]|o] 0|0
43-30 1491-541-220-10 | =/ v/ 4 F-svF ASSY 1lo0] [0]0 0f0 -
43-31 V720-112-401-20 e 'O" Y2 P12 210] |o]|o 0|0
43-32 V201-260-809-50 | e I HAXNM} M8X95 i{ol {ojo olo
43-33 V211-260-805-00 o T H ZHKN MS) M8X50 20| |olo 0|0
43-34 V201-260-806-00 | e« aH&xKXNL M8X60 210} |0]0 olo
43-35 V401-160-008-00 | S . W ms8 : 3ol (0}0 0]0
43-36 1513-541-003-00 | * 3% 27 £#(8) PT1/8, 459 20| |ofo 0|0
43-37 1513-541-300-00 | = FV)-<Y&s—=2 COMP 210! {olo 0l0
43-38 K186-004-000-00 | .» )& ASSY 10| (0|0 olo Figdl-1~21&R
43-39 1513-541-005-00 | =% 2 #(C) PT1,/8, 459 20| j0]0 010
43-40 1488-541-006-00 | o £ (16X65) 1{o| (o]0 0|0
43-41 V411-260-016-00 | * I AF¥FHAX M16 10| (00 ofo
43-42 V500-163-003-00 | =7 ) E> 3X30 110l folo olo
43-43 1550-514-250-00 | * Ata—27%&>¥% ASSY 1{o| [0]0 ofo Figdl-22~3958%
43—44 1550-514-280-00 | « 71— 1A COMP 1{0] (0|0 0|0
43—45 1550-514-001-00 « 7v—1}(B) 10| |ojo olo
43-46 V211-360-802-00 | * a#&x, b (SP) M8X20 10| |ofo 0|0
43-47 V120-266-001-60 e 752F~aHAS)  M6X16 20l lofo 0{0
43-48 V411-260-010-00 e I AFFHF M10 1|01 |0j0 ofo
43-49 V411-260-008-00 | « I HF¥FH*% M8 110] 10]0 0|0
43-50 V500-152-502-00 | = v Yt 25%X20 2i0| (o]o 0(0
43-51 1544-641-210-00 | e x4 »FHKy 2 x ASSY 1|/0| jofo 00

?9



Pl

iy

&

—

= I

cHEs] =8 o . D = 20l 220F-2408
= ol on an % . olx 8% - g g% {@ *

43-52 1544-641-211-00 | » « #—=x ASSY 1 (0] |0]0 010
43-53 1544-641-212-00 | o ¢ Ho3— 10| |ofo 0|0
43-54 1544-641-213-00 | & o Sy F v 10| (oo 010
43-55 1544-641-214-00 | « e ~—%x ASSY 10| |olo 0o
43-56 1544-641-215-00 | o« 7 m 2 5 M4 10| (oo 0|0
43-57 1544-641-216-00 [ » « 2= 2, }(B) 10| |00 0f0
43-58 1544-641-217-00 | s e F V) Hhx XA » F 11]0| |o]o 010
43-59 1544-641-218-00 | o e /o MU X4 » F 10| |o]|o 010
43-60 1544-641-219-00 | e oty FFY o—a 1(0] [o]o 0|0
43-61 1544-641-221-00 | o e v =3 2 ol |olo 0|0
43-62 V300-260-006-00 | « 35 b M6 2 10| |0]o 00
43-63 V401-160-006-00 | » «S . W M6 2 10| (oo 00
43-64 1544-641-222-00 | » sM3P 24 } 4 (0| (oo 010
43-65 1550-641-210-00 | s 2> bm—=Ky 27X ASSY 10| Jolo 0]0
43-66 V120-366-001-60 | e 5x3~<=a%<(SP) M6X16| 4 |0| (0]0 0l0
43-67 1550-641-220-00 | *#F=TV*FYHhxx4 »F ASSY| 1 |0| |0]0 0|0
43-68 1376-402-003-00 | =« U4 ¥} (140) 20| lotfo 010
43-69 1480-541-004-00 | e 2g—<=—2 ( 29 #K) 1|0l |o}o 0|0
43-70 1421-621-038-00 | * U A <> }F(170) 10| lo]o 0]0
43-71 1491-511-004-00 | o F A%< (M8X14) 210l (oo 0|0
43-72 1550-532-001-10 | * FYTY A4 €Y A{ s 10| |0]0 0l0

100



Fig.4d RZxv NBR

T R =Y

= 2201 2z08-240F
RHUHES| 88 & 3 - F oo % X ol &

B X [P]X{06Y|D|x o6
44- 1 1550-601-200-10 | ®>* » FA) COMP 1/0/0|ojo(0j0|0[0j0]|O
44~ 2 1550-601-210-00 | w*> % » FB) COMP 1(0(0({0j{0|0|0|0|0[{0]|0
44— 3 1544-601-240-00 | ®> % » b COMP 1{ojof{olo]jojolo|of0O]|0
44— 4 V211-360-802-00 | =4 2K+ (SP) M8X20 4|0flofojojo{ojo|o|O]|O
44— 5 1544-601-001-00 | ®> % » b b () 1{o0{olojojo|o|0|0|0O]|O
44~ 6 1544-601-002-00 | #> % » b ¥ I(R) 1|0f0j0jojojo|ojofC]|O
44- 7 1544-601-003-00 | v—an 1|ofojo|ojolojo|of0]|0
44~ 8 1376-754-023-00 | #a k (M10X32) 2lolololojolo|olololo
44~ 9 3560-201-018-00 | & » Y 2 <2 FHAR(B). 2{o0|ojololojo|o|o|0}0
44-10 1444-116-006-00 | S4=>2 4i0|ojo|olojojolofolo
44-11 V304-260-010-00 | = H&F+ » b M10 2va 2|olojolojo{o|o|o|0|0
44-12 V211-360-802-00 | = &K b (SP) M8X20 4]0|o0jolo|ojo|ololo]0
44-13 V301-260~-008-00 | F+» b M8 2= 410{ofofofoto|o|lo|o]|O
44-14 1544-601-250-00 | X} »~-° COMP 1|o0lojol|ofojololo|o|O
44-15 1509-601-001-00 | k> &==x= » b 1|o0|olojo|o|o|o|ofo]0
44-16 1444-601-003-00 | 7 » &+ (10X20X15) 1{o0flojo|olofofo|0|0O|0
44-17 V302-260-006-00 | + » b M6 3/a 2{o0lojolofoflojofo|o|O
44-18 1444-601-025-00 | 7 » &+ (10X40X2) 1]0|ojo|o|o|ojolo|0]0

101



Fig.45 Z0OYKJYUJVER

Flg.44-3

B O B2 R
T — = = & |oh0|  220F-240F -
AHES| B @ 3 - F L A % X1 1oTolod & £
: ' . B X [P[X|o6/Y|D|x |06
45- 1 ©1550-602-200-00 | 7= 2z Yn ASSY 1{ 0l olo|o|o]o|o]o|ol0
45- 2 1544-602-202-00 cy4 FY7 vy L) 11 0j0folo|ojo|0j0]jO]0O
45— 3 1544-602-203-00 | ¥4 F) 7 vz £{R) 1] 0{ojololojololojo|o
45— 4 1544-602-210-00 | 27V x5— COMP 1/ 0{olololojof{o|lojofo
45- 5 V210-360-601-60 | wa b+ ( SP) M6X16 410/ 0jolojojo]olololo
45— 6 V210-360-601-20 | wA+ ( SP) M6X12 3| 0/ofojololojololo|o
45— 7 1544-602-001~10 | 3% 1j0{0j0lojo|0|o0lolo]O
45- 8 V350-150-006-00 | x&— V55 MP) 6 5/0/o0fololo|o|olalolo
45- 9 1544-603-002-10 | XF7 Y > ZHE= ML) 1{o0{0lolojo|0|0|0|O}O
45-10 1544-603-003-10 | XF7 V> /K= MR 110j0jolojo|o|ojolo]o
45-11 V120-166-001-20 | 75 2FaxJP) M6X12 6|0/olojolo|o|0|0]lolO
45-12 1544-603-004-00 | 2 » & s> =4 (8X23X3) 4|0j0i0|o|o|0}j0]jofo]|0

102



Fig.46 #/\—Bf% -

®w N B O
== ‘ 50|  220F-240F
RHES| # & 3 - F & 4 s | x| o< Xo]C]0E
. 06" {D|X]os| - -
46- 1 1550-604-200-00 | 7 7 > #-—1) COMP 1|olojofololojoio|olo
46— 2 1550-604-210-00 | =75 =25 — COMP 1|olojofololo|ololo]o
46— 3 V211-360-801-60 | = #H &K+ (SP) M8X16 4 |0flololojo|ololo|o]o
46— 4 1550~ 604-220-00 | 7 7 > #»-<—@R) COMP 1|ololofololo]|ofolo]0
46- 5 1550~604-001-10 | ¥4 F=xF— 1{ofofofolo|o|ojofo|o
46~ 6 V211-360-801-60 | = # &K b (SP) M8X16 3|0|ojojofo]olojo]o]o
46— 7 1550-604-230-00 | 7> # #-<—(1) COMP 1|0|ofojo|o|o|ojolo]o
46- 8 1550-604-240-00 | 7> & #-3—R) COMP 1|olololofo]|olojolo]o
46— 9 1544-604-400-00 | -~> Fa  COMP 2 |ololololojolojolo]o
46-10 1544-604-015-10 | 7 » 2 7 v — b 2 (ololojolololofololo|
46-11 V411-260-008-00 | I HF¥H* M8 2|0|ofojojo|olof0]|0]0O
46-12 V401-160-008-00 | S . W M8 2 0lolofololololo]|o{o
46-13 V300-260-008-00 | #» b M8 2 (olojojojojololo}o]o0
46-14 1550-604—-250-00 | #-3—7 » (L) COMP 1|o|ojoiofojololofo]o
46-15 1550-604-2€0-00 | #-3—7 » Z(R) COMP 1{oflojolofolo|olofo]o
46-16 V211-360-801-60 | = H &Kk (SP) M8BX16 4|ofolofofolololalo]o
46-17 1421-602-005-10 | Z » ¥ = > = 4(B) 4|0|0lofojojolofofo]o
46-18 V304-260-008-00 | = #&F 5 b M8 2= 4 |ojololofo|ololololo
46-19 1544-604-290-00 | 7 =~} #-3i— COMP 1 |ojololofo|ojololo]o
46-20 V120-366-002-00 | 75 xF+~<=a %< (SP) M6X20 2 |ojofolojololo|ofo |0
46-21 1544-607-200-10 | 7 =~ b #-3— COMP 11o] |olofo| |olojo| [Mo1~7RER
46-21a 1544-607—-200~-30 | 7 m~} #-.3— COMP 1]olofofofo]o|0lo[0|0 [NaFREE~
46-22 V211-260-801-60 | = # £ b(S) M8X1 6 12|ojololojo|ofo|ojolo
46-23 1550-607-001-00 | ¥4 FH-s—(I) 1lofolofololo|olofo]o0
46-24 1550-607-002-00 | ¥4 F»-<—R) 1jo|ojolojojololofo]o
46-25 1550-607-003-00 | 7 x> &} ) & 2 {0l/ojololojofoio|o|o




|/ G

=

—

& I
N = 201 220r-2408

RHES| # & 3 - F aa % " R TToToa & ES
06{Y|D|X |06

46-26 1550-607-210-00 | Y ¥ #-—1) COMP 11o0lo|ofofolojofofolo

46-27 1550-607-220-00 | J - »-—R) COMP 1(0] (o]o]o ololo] |Na1~7BH

46-272 1550-607-220-10 | V¥ #-*—R) COMP 1(0/0j0|0]|0{0]0|0]|0]|0|NFBE~

46-28 V211-360-801-60 | 2 H &K b (SP) M8B8X16 g8 |olojolojoj0]0|o|o(0

46-29 V201-460-801-60 | = # &K b M8x16 9T| 2 |0|lojojofolo|olololo

46-30 V401-160-008-00 | S . W M8 2 {0lofojojo|olololojo

46-31 V411-260-008-00 | S A Hx M8 2 |0l0jofolofof0o|o{0]0

46-32 1544-606-018-00 | s/ = » b (8X13X2) lj0fojojol0j010|0|0|0

46-33 1444-621-016-00 | =4 %+ » 7(9) 1 j0jojojojlo|o|ofoflo]O

46-34 1550-607-230-00 | 4 V-3 —SET 1|ofojojolojo|ojololo!ly

46-35 1550-607-240-00 | « »-3—(L) COMP 1|ofo|ofofolo]o|0lo]|0]|4

46-36 1550-607-250-00 | « #-3—@R) COMP 1]o(o0folofolo{olo]|ofo|%

46-37 V211-360-802-50 | = a#H w1+ (SP) MB8X25 6 |0lo|ojolojo|0l0|0|0]|Hk

46~38 1550-607-260-00 | » =5 — COMP 2 |0fojolololo|o]ofo|o|x

46-39 e 3 H 2w MS) M10X30 2 |0lolojojolo|ofololo|¥

V211-261-003-00

104



Fig.47 72 5BfRk

TV v
pe 220 2205-240
REHES| 88 % 3 - B &h % % n DXXUUUUXﬁ
06|~ |D|X |06
47- 1 1550-606-200-20 | 7 = >4 COMP 1|0fof{olofo|lojolojolo
47- 2 1550-606-001-20 | =—(L) i1lo0/ojolofolo|olojo|0
47- 3 1550-606-002-20 | =—1@® 1l0| [o]o]. 0l0
47- 4 1550-606-005-10 | =—1(R)(A) 1 0 olo olo
47- 5 1544-606-016-10 | =— A (R)(B) 1 0 0|0 ofo
47— 6 1544-606-006-00 | %+ » 7 (23) 4(0{0]0|0]0 olojo|o
47— 7 V211-260-801-60 | = # £ b(S) M8X16 4ol |olo]o 0i0|0
47— 8 1550-606-240-10 | = > #4 L) COMP 10| {0fo]jo 0/0/0| |Ne1~7EH
47— 8a 1550-606-240-20 | =>4 4 ML) COMP 1|ofl0jofo]0 0/0[0[0|NeA BB~
47- 9 1550-606-250-10 | F = > #A FR) COMP 1|0f{olo|o]o0 ojofolo
47-10 1544-606—004~10 | 7 v AHA N A4 ) 10| |o|ojo 0fojo No. 1 ~7<BA
47-102 1544-606-004-20 | v 7 b HA F( 24 >) 1|0fofo|0]0]|0o[0]0]|0|0 |NAERE~
47-11 1550-606-004-00 | v 7 bFHA N (¥ 7)) 110 |ojolo olo|o No. 1 ~<B§
47-11a 1550-606-004-10 | v7 b #H4 M (H7) 1)o0lo0|ojofoflo|oflo|lo]|0|NFAEE~
47-12 1544-606-001-10 | ¥z > <71 —} 2 |oflolofolo|0]o|olo]0
47-13 V300-260-006-00 | ¥ » b M6 8 (ol |0f0]0O 0{0/0] [No1~7<ER
47-13a 1544-606-019-00 | 7S =x¥ 52 % M6X25 "8 lolojolofo|o|ololo|o|NneRBE~
47-14 V401-160-006-00 | S . W M6 g (0l |0|0]0O ololo| [Me1~7<E8
47-15 3614-321-001-00 | 5 Yx—FH—my 7 T4 6 |0j{0lojojolo|o|lolo]o
47-16 1544-606-007-00 | 77 —F—v 10l0|/olo|o|o|olo|o]O
47-17 1432-651-028-00 | 2= A » F (9X13X2) 210] |olo]o 010j0| [N1~7EH
47-17a 1544-606-018-00 | '@ A+ } (8X13X2) 210/0(0jo|o|0|0]0t0|0 |Na7RBE~
47-18 V200-260~-602-00 | Kb M6X20 2 |¢0|0lojo]ojojo|o|o]0
47-19 V300-260-006-00 | +» b M6 4 |olojofojojo|ojo|olo
47-20 3728-364-015-00 | X4 » FHK v 7 AFH Z 4|0]0jolo|ofo]|ojolo]oO
1544-606-005-10 | X} » % 1]0/o|ofo|olofojolo]0

47-21

105



e} = v
- - ' - p 2201 220r-240F
BEHEES ;& O - F oo Z x5 . olx éSU g g 0N {i& x
06
47-22 V211-360-801-60 | = H&&A b (SP)  mgx16 1|0f(0jofojojololololo
47-23 1544-606-260-00 | ~> F*F+ »F+ COMP 2 10| |o]o]o 0/0(0] |N1~@
47-233 1544-606-260-10 | -~ FF 4 »F+ COMP 210/0{0|040|0|0]|0[0]0|NaB~
47-24 1544-606-008-00 | > 3532 2 |(0jofolojojo|olofoi0
47-25 V300-260-008-00 | ., + M8 4 |olojofofdijolofo]olfo
47-26 V401-160-008-00 | S . W M8 4 {0lo|olojojolo|olo]o
47-27 3560-201-015-00 | & » Y 2 U 2¥H% 4 (0/0|0j0]0]l0|0(|0|0]0
47-28 1544-606-270-00 | VY7 vz & ASSY 2 (ojojojojojo|ojolo]o
47-29 V300-260-006-00 | + » + M6 2 {ofojofololofololo]o
47-30 V401-160-006-00 | S . W M6 2 |(ojo|ojolololololo]o
47-31 V411-260-006-00 | 3 #*F¥H % M6 2 |0|ojofofolo|olo|ofo
47-32 1544-606-280-10 [ X} »-3A) COMP 1(0(0|0|0j0l0|0|0|0O]O
47-33 2701-101-052-00 | 77—V b VY FrKRRIUFHF 1|o0lojofofofofola]olo
47-34 V120-266-001-60 | 75 RF~<=axS) M6X16 1 |0]ofofolojo|ojofolo
47-35 1544-606-012-10 | v—r 4 —=x l 11]0] |ojojo 00
47-36 1544-606-014~00 | %+ » 7 (30) 20| {olofo 0]0
47-37 1548-606-003-00 | x~X—¥ 210flolofo]o 010]0
47-38 1488-541-015-00 | Z a4 » b (14X28X2) 1 0 0

220)220F | 240 |240F

225|1950(179]1935

8|®

226)1951(18011936

106



| Fig.48 >¥—KE&

#H K B2 &

& 220 220p-2408
BHES| B & 3 -~ k &t % XTI ojopx &

B X [P} X]|os|YiD[x]os
48- 1 1427-612-240-20 | +—F ASSY 1|olololojolo|ofo]o|0
48— 2 1427-612-241-00 | » v— MA) 1|ofojolofofololo|o}o
48— 3 1422-668-202-20 | « +— }B) 1|/o0(ofo|ojo|ojolo|Of0
48- 4 V200-260-603-00 | ¢Fab M6X30 2 |olojolo|o{0|0]0|0|0
48- 5 V200-260-602-00 | =&t M6X20 2 |ololofofjololojo|0!0
48~ 6 V401-160-006-00 [ S . W M6 4 |olojololojololo|olo
48— 7 V413-160-006-00 | s3I <A ¥FH% M6 4|ofolofololofofololo
48- 8 1544-611-210-00 | v—PF 7o+ x (L) ASSY 1]ofolo|ojo|ojolo|0]0
48- 9 1544-611-220-00 | v—FTF7 v+ 2 £[R) ASSY 1t{ojojlojolojo|o|0fo|o0
48-10 V300-200-008-00 | F+ v b M8 4 |o0jolofolofofojofolo
48-11 V401-160-008-00 | S . W M8 4 |0jolo|o|olojo|o|o]0
48-12 V411-260-008-00 | I H2HFH % M8 4 |o0folojolojofofo}o]oO
48-13 1544-611-200-00 | +¥— +7 54 » b COMP 1|olojofolojololo|0O(0
48-14 V300-260-008-00 | +» b M8 4 |olojolojolojojo]olo
48-15 V401-160-008-00 | 8 . W M8 4 |olojolololo]o]ofol|o
48-16 1488-611-001-00 | 2 » v = = 4(A) 2 |olofotojojofofo(0]0
48-17 1488-611-003-10 | +— P Py v & 1 |ojo|olo|o|ojolojo]o
48-18 V500-162-502-00 | 7 ) > 25X20 1 |ojolofo|ojolc|olo]o
48-19 1488~611-002-00 | 2 » v 3 > = 4(B) "2 |ololojolo|ofolo|O]0.
48-20 V300-260-008-00 | +» M8 2 |olojojofolo|o]ololo
48-21 V411-260-008-00 | 3 #*¥FHH M8 2 |ololo|ofojo|0|0l0]0
48-22 1544-611-001-00 | 2 » s> =4 4 |oto{o|o|ofo|0|0]|0 [0 (N0 1~ EF

107



Fig.49 Ja1—I)L5 >V IB8%

TR '@ G B R
: 3 - g ' @ 338 220F+240F
AHES| B8 & 3 - F.| & - % T ook & #
B |X] ID|Xige|U[D]|x |06 '

49- 1 | 1550-612-200-00 | 7 =a—xrx>2 COMP 1|ofolololofo|o|ofo]|0O
49~ 2 V211-260-801~-60 | = # & b(S) M8X16 4 |ololololojolololo]o
49— 3 1544-612-001-00 | &2} (30) 4 |o|ololo|ojo|alolo]o
49— 4 1376-606-005-00 | 7 » +~+ (9X32%X2) 4 |ololololojo|ololo]o
49~ 5 V500-162-002-00 | vy &> 2%20 4 |0fofofofofo|ofo|o]oO
49- 6 "1407-111-001-00 | ¥ #H X (BX12X2) 1|0|olojojojolojolo]fo
49- 7 V200-260-801-20 | = b M8X12 1|oloiolojolofo]lo|o]|o0
49- 8 1518-621-310-00 | 7 a—=xzaA x4 »F ASSY 1{o0jolojojojo|ojo|ofoO
49- 9 V200-260-501-00 | b M5X08X10| 5 |0j0{ojo|ojo|0|0|a]o0
49-10 1421-111-210-00 | %+ » 7 ASSY 11o0fojolololo|olofo]o
49-11 1513-111-009-00 | < h v —3 1|0lofojolofo]|olojofo
49-12 1550-105-200-20 | 7 a—xax—x COMP 1|0|ojojo|ojo|ololo|oO]-
49-13 1550-105-001-20 | 7 = —x A &—X(B) 1(oflofojolojo|o|olo]|o
49-14 3768-164-006-00 | k—RZ Y NT o7 Y (11) 2 |olofjolo|o|o]ofolofo
49-15 3741-141-005-00 | &A—=x-3> } ASSY (12) 2j0|olo|ojololo|of0]0O
49-16 3737-172-011-00 | 75 vy w4+ ~—F X7 S5 A 1|ofofolojolo|o|oj0]o
49-17 1444-102-200-00 | 7 4~ 235 2 ASSY 10/olofololo|o]|ojofo
49-18 V720-102-401-00 | = "Q " V> P10A 10{o|o|ofofo|olofo]|0O
49-19 1415-102-009-00 | e % » 7 1|0]lofo|ofololo|ofoto
49-~20 1444-102-204-00 | e V> 255 b 1|0lofo|olojojol|ojolo
49-21 V720-101-004-40 | « "O "y >z P44 1jo0flolo|lofojojololo]|o
49-22 1415-102-011-00 | s xv A >} 1|o|ofolololo|olojo]o
49-23 1415-102-012-00 | e =T7—X*757 2 10jo|ojololo|olo|of0
49-24 1415-102-013-00 | o -%u %> 21{ololojolo|o|ololo]o
49-25 V201-260-807-00 | = H&KXA b M8X70 1lolofololojo|ojolo]|0O
49-26 V401-160-008-00 | S . W M8 1{0|oflo|olofo{o[0]0]0O

108



Fig. 49 Ja—TIYIBEE

B O R R
| Y _ & |oho|  220B200F T
RHES| #8 & 3 - F e -' % s | x| Jolx & ulo[uE
‘ . : S A . x . 06|~ |D|X|06} - - -
49-27 1550-105-210-00 | 7 a~x A7 40 5£xF— COMP | 1 [0(0(0|0{0[0 00|00
49-28 1550-606-260-00 | £>2 754 s + COMP 1 ]|olojo]oljofofofo]o]o
49-29 V211-360-801-60 | =4 25 b (SP) M8X16 3 |ojololojofo]|olo]o]o
49-30 V211-361-002-00 | =4 &KXk (SP) M10X20 2 {olololofofo|0|o]o-0
49-31 1550-606-003-00 Jy¥aYITA 11]0lofojo|o|ofO 0 O 0
49-32 1432-621-012-00 | ®p > =a 8 lojojofofolo]ofolo|o

109



Fig.50 X5 JE%

"B O B

i ) & | ai0 | " 2208240
E%"S = nu-' =] % 4 X DXO)%-)U[DIEB%(”E %
50- 1 1544-616-200-10 | 7 =725, 7{I) COMP 1 0|/00]j0|0|olofofo0]0

50- 2 1550-616-230-00 | 7 =725 » 7(R) COMP 1]0; (ojo]o 0l0|0 N1 ~@
50— 2a 1544-616-210-20 | a7 =%, 7R COMP 1i0|0|0io]jojo|ofo|0|0 M@~
50— 3 1544~616-001-00 | 7o 7 &> ¥+ 1]ojolofolo]o{olololo
50— 4 V211-360-801-60 | = # &=+ (SP) M8X16 10({0/0fojojolo]o|clo|o]|
50~ 5 1544-616-002-00 | o7 =, h 1 (0] [o]o]o 0(0j0] |M1~@
50~ 5a 1544-616-002-30 | Ja 7=y b 1 (0jo|ojojo|o|o|o]0|0 [NB~
50— 6 1550-616-200-00 | ¥ x5 » 7 COMP 1(0fofojojojo|0fo|o]o
50- 7 V304-260~-008-00 | a#H &4 5 M8 2va 2 |0fojojojolo|olololo
50— 8 V401-160-008-00 | S . W _ M8 2 |ojofolojolololo|olo
50— 9 1550-616-210-20 | 7w >+ o+ —n COMP 1({0]| |ofolo 0(0{0]| |Na1~>REH
50— 9a 1550-616-210-30 | o bt os—arx5— 1|0j0fojojojo|olo|0]|0 |NTBE~
50-10 1544-616-015-00 | 7o~ b 4 —n x5 — 2 (0| {o|olo| {olo[o
50-11 V211-360-802-00 | =4 #xA b (SP) M8X20 4 10| |ololo 0/0}0 }N“ng
50—12 1544-616-013-00 | Zm 2y b ( A—5—T 1) 1|0j0folojojo|ojololo
50~-13 1544-616-014-00 | Za 2y b (~—%R) 1|0j0fojojo|ojolo]|o|O
50-14 1544-616-003-10 | 4 £H-s— .1 {0|ofojojolo|ofolo]o
50-15 1432-654-007-00 | o=+, 7 (80) 1|0/0fololojofololo]o
50-16 1444-621-017-00 | 75 2~z % (M6X12) 310(0|ojojojo|ofolo]O
50-17 1444-621~-018-00 I=AFH A (M6) 3 |ojojojololofolo|o]o
50—-18 1544-616-004-00 | 94 ¥ F( xF 5 7) 2:0|0|ofofofo|ojofo |0
50~19 1544-616-005-00 | v—ATAa(XF 5 7) 2 |0fo|ojo|ofofo|ofo}0
50-20 1427-621-012-00 | 7o 2.5 b (10X14) 1/0|ojojolo|o|Ofo]o |0
50-21 1550-616-001-00 | v — I 1|0(0fojotojo|olo]o}0
50-22 1550-616-002-00 | v~ o4 1|0{oflojololojolofo]o
50-23 1544-616-008-00 | 7— Fer—a(l) 1 (0jofojololalofo]o]o

110



Fig.50 X7v JEf%

&5 O B &
. - & 20 2z0F-2e0
BEHEZ| s & 3 — F an £ %5 X DXXUUUUX{E
A 3 06/ [D[X |06
50-24 1544-616-009-00 | 7— Fv—2®R) 1i0lolojololo|ofojolo
50-25 1544-616-011-00 | 2 » v s> =& 14|0j0|ofofojolo|olo]o
50-26 V111-166-002-00 | 7S xF<ax v M6%20 6 (ojo|o|o]jo|ofa|o]o|0
50-27 3728-364-015-00 | A4 9 FHR vy Z R¥HF g (ololo|ololo|o|ojo]O
50-28 V300-260—-006-00 | F+ v M6 2 ]olofolofojolofololo
50-29 V120-366-001-60 | 75 2F <= % (SP)M6X16 4 olofolofolofofotlo|o
50-30 1544~616-260-00 | ®>F vy b7 » 27—+ COMP | 1 (0f0{0]|0|0|0|0|0]|0O]|0
50-31 1544-616-012-00 | KAk o b 7 v 2 RXT Y7 1/o0fofojojo|o|o|o|o]lo
50-32 v211-360-601-00 | 2 # &+~ b (SP) M6X16 210lololof{o]olololofo
50-33 V111-166-001-60 | 75 AF~= i M6X16 1|olojojolololalolo]0
50-34 V411-260-006-00 |  H¥H 3 M6 1|olofolo|o|o|o|o]o]o
50-35 V401-160-006-00 | S . W M6 11]o0fofojojolo|ojo|olo
50-36 | V300-260-006-00 [ + v b M6 1|0j0fojoiclololo|oio
50-37 Vv210-360-601-60 | #xr b (SP) M6X16 3|0|ojofofofolofojolO
50-38 V210-260-601-20 | & k(S) M6X12 110|ofololofo]lo]o|ofo }Nu@-»
50-39 3737-172-009-00 | A4 ¥ ~"—FRZ 52w &) 1{0lofofojo|o|ofolo]0
220|220F| 240 | 240F
® | 81| 465| 53| 503
® | 82| 466| 54| 504
© | 235/2004|186]1996 |

111



Fig. 511 BREIR(1)

220
@ | 235 - 2004
® | 236 2005 187 1997
© [247(&#E) | 2068( FKK) | 197( B/#) | 2028( &) aHOn B R
. . & 220 220r-240F =
RHES| 8l &% 2 - Fk . % 4 x| [plxI X [OTu X i@ -
06 ¥ |D|X |06
51~ 1°° | 1544-619-220-00 | S 23 5—1+% SET 1|0flolofoflo|lo]|o|of ol
51- 2 V300-260-008-00 | + v b M8 210) |o|lojo|l |0|0| 0 [N1~7ER
51- 2a V304-260-008-00 | o4&y b M8 2va 1|10{0/0[0|0j0] 0|0 0[0|NABH~
51- 3 V401-160-008~00 | S . W ' M8 20| |0jol0]| |[ofO|o0| [N 1~FBE
51- 3a | V211-360-802-50 | 3 #&x1 b M8X%25 210/0/0{0|0|0]|0[0| 0{0{NTBRE~
51— 4 V411-260-008-00 | S HF¥H% M8 2|10f |o|ojo| |olofo } b 1~
51- 5 V201-260-802~00 | = H a1 b M8X%X20 210| |ojojo] {o0j0]o0
51~ 6 1550-621-200-00 | 2 — %% ASSY 1]/0/ololololo]olo]olo
51- 7 1444-621~017-00 | 7S5 x+~=% v (M6X12) 4|0[l0lolojol{o]|o]|ofolo
51- 8 1444-621-018-00 | F+ 3 =4 H % (M6) 4|0{0|l0|0|0]0}0]0O| 0|0
51- 9 1550-621-40000 | #— 44— SET 1|0 {oflojo| jo|lo|oO] |[M1~®
51- 9a 1550-621-001-10 | A—24—Tn 1|0/0(0j0j0jo|o0|0]00NB®~O
51-10 3728-173-003-00 | F¥+27F>F¥x» 2% ASSY 1|0flolojolojo|o]o|ofo
51~-11 3728-173-005-00 o F— ' 110/0{0]o|0|0jo0|0|0lO
51-12 1491-622-200-00 | 57 ( g—> o2 F1) _ASSY | 2{0|ojojololo|o|o| o]0
51-13 1444-621-242-00 | A7 ( 5>7,/12V 20W) 2|0flojo|o|ojo|olo]olo
51-14 1427-621-263-00 | s L ¥ < _ 4(0/o0flo|olojo|o]lo]o|o
51-15 1427-621-246-00 | e 2o €22 X2 Y o 4X25 g |ojojojojolojolo|ofo|
51-16 1427-621-267-00 | %, %> 2(0|ofololo|lofo|o| o]0
51-17 V401-160-010-00 | S . W M10 2(o0|0|ololojo]|olalolo
51-18 V330-260-010-00 | o b (F A) M10Xx125 | 2 |o0}olo|ojo|o|ofololo
51-19 1488-621-270-20 | ~» ¥5> 7 ASSY 210lojojolo|o}olofofo
51-20 1488-621-272-00 | e3n7(52»712V 45/45W) | 2 |alojo|ololo]|olo] ofo
51-21 | V211-360-801-60 | =% ##u b (SP)  MBX16 4| ojojojojofo|o]o] 0|0

112



Fig.50 ZEBEFEE)

1919a
24| 20 21 23

22

/
X

[ . \\“\J
o 3
?/}’/ © Fig.
7~ 50-9
%N" ~ 11 1
8 Fig. 4-14  ®-12 AN

Fig.23-25

:;gf’ 18
i 17
#H O OBE.ORK
- & 1500|  220F-240F __
BEHEE| B & 13 - K & % s | 1x| TolxIXlo Q[0 L]
: : - 06{ " | D|X |06 —
52- 1 1427-621-008-00 | s~ 1{ololololo|o|ofofo]o
52— 2 'V200-260-601-20 | Ak M6X12 2 lojolololojolololo]o
52— 3 V401-160-006-00 | S . W M6 2 1ojofojojololo|olo|0
52— 4 1425-621-004-00 | ~—FXZ 5T 1|o|ofolojo|o]|ololo]o
52- 5 v300-260-006-00 | +» b M6 2 |ol0jo|ofofojo|o]ofoO
59-0-1 | 1544-623-200-10 | *#—#Xx4 »5 ASSY 1jolojolofololololof0
52~ 6 1488-621-220-10 | *x#— & =4 »¥ SET 1|ofololofo|o|ololo]|o
52— 7 1544-621-320-00 | « ¢e¥— ASSY 1{o|ojojolo|ojololo]|o
52— 8 1544-621-009-00 | X4 v FH-5— 1{o|o|o|o|o{o|o|ofo]|o
52— 9 1544-623-006-10 s f ¥~ —FZ (N 4) 1]ol0|o|ofo|o|0j0|0]|O
52-10 1544-623-001-00 | =~ ¥ x4 »F ASSY t{o|0lo|o|o|ojofolo]|O
52-11 3615-264-002-10 | F+—vY A r=2=y } 1|o|olojolo]ofololo]|o
52-12 V210-360~602-00 | *n b (SP) M6X20 1|ololo|o]o{o|ojolo]o
52-13 1426-621-035-00 | 75 » ~+ ASSY 1/ojolo|ojofofolofo]o
52-14 1426-621-036-00 | 7T v ¥y 2=y b X—X 1{o|ojololo|oto|olo]|o
52-15 V210-360-602-00 | ®a b+ (SP) M6X20 1|ololojolo|o|olol0]0
52-16 1444-621-300-00 | ¥= » #x4 »F ASSY 1|o|ololojo|o|ojolofo
52-17 1491-623-220-10 | £—7 754 x4 »F ASSY 1{ololo|ojolo|ololo]of
52-18 1491-623-222-00 | *M20F 5 b 1{o|ojlolo|o|olololo]oO
52-19 1550-623-001-10 | v 4 ¥ ~—% = (M1 ) ASSY 1|0 {ojo]o] |o]ojo| |Mm1~®
52-19a 1550-623-001-30 | {4 ¥~—%= (N1l ) ASSY 110[{0]/0]0|0|0({0[0]|0[0|MB®~
52-20 3625-261-204-00 | sk a—Y 7Y 11ololololololololo]o
52-21 1544-616-014-00 | 222y F (»~—%X) 1|o|0flojo|ofo]ololo]0
52-22 1423-62i-201-00 | s v 2a—xX#>(15AX30) 15A | 2 |0|0|ojo|olofojof0f0
52-23 1432-621-272-00 | e o—XH> (10AX30) 10A | 1 |0|0f0|0l0}0|0|0O|0O]
52-24 1411-621-005-00 | * & a—X 5A 1 |olololofo|o|olcjofo




220

_ @ | 240 220F-240F

EHES) B8 & 3 - Fk &h % - XT-oTood & %
B X {PX]os|U]p|x|og

52-25 1560-664-210-30 | » Yy — ASSY 1lololojojolofololo]o

52-26 1550-623-002-10 | 4 ¥~—%=2(M2) ASSY 1 /0jofolofolofololofo

52-27 1432-621-272-00 | *x 2—xX%»>(10AX30) 10A | 1 |olo|ojolo]o|o|o]o]o

52-28 1509-623-009-00 | Y4 ¥ ~—% = (N6 ) 1 |ojolofojofo|ojolo]o

52-29 1545-623-002-10 | 74 ¥~—% 2 (N 6) 1 |ofojolojololololo]o

52-30 1544-623-008-10 | 74 ¥~ —%x (N8 ) 1olofofolo]|olololofo

52-31 1545-623-003~00 | w4 ¥ ~—%=x (N9 ) 1|olojololo{o|ofojo]o

52-32 1376-402~003-00 | 74 ¥-3> M (140) 10/olo|ojo|olo]olojofo

52-33 1550-623-003-00 | 74 ¥~—% (N3 ) 1 |ofojofolojo{0[0]0|0|M@®~

52~34 3737-172-011-00 | 75 vy o4 ~n—%RZ 54 1(ojolofjolololololo]|o

5235 V211-260-801-20 | = # & xn b(S) M8X12 olojojolo|o|olo|o]o } O~

[ T220]220r 240 240F
234/2003 (1851995
235[2004,18611996
249/2125]/198 (2194

Q8®

114



Fig.b3 |REFEEQ) (XE)

& o EH O
» = 2201 22082408

RHES| B &% 3 - F &a % % - DXXUUUUX(EE

06 “ |D|X |06
53— 1 1544-641-210-00 | x4 y F+¥» 22 ASSY 1 0 010 0|0
53- 2 1544-641-211-00 | = #—=x ASSY 1 0 0|0 0(0
53- 3 1544-641-212-00 | = Ho3— 1 0 0o 00
53- 4 1544-641-213-00 | » Tay F 1 0 0|0 0{0
53- 5 1544-641-214-00 | e ~—3* % ASSY 1 0 olo 0lo
53— 6 1544-641-215-00 | » 2= A 5 MA) 1 0 ofo 0|0
53— 7 1544-641-216-00 | » o= 4 » MB) 1 0 0|0 0|0
53— 8 1544-641-217-00 | s ¥ YH T A4 »F 1 0 010 010
53— 9 1544-641-218-00 | o v =2 MU X4 » F 1 0 0|0 0}0
53-10 1544-641-219-00 | e £y FF ) a—a 1 0 0|0 0|0
53-11 1544-641-221-00 | e v =3 2 0 0|0 0|0
53-12 V300-260-006-00 | ey b M6 2 0 olo 0|0
53-13 V401-160-006-00 | « S . W M6 2 0 0l0 0l0
53-14 1544-641-222-00 | M3 P #4 b 4 0 0|0 010
53—15 1544-641~-223~00 e TAHY—I 1 0 00 0{0
53-16 1544-641-224-00 | e Y—FE& 1 0 0|0 0|0
53-17 1550-641-210-00 | =3~ tm—nx» 2 X ASSY 1 0 0|0 00
53-18 V120-366-001-60 | 75 2> -<a %Y (SP) M6%X16 4 0 0|0 00
53-19 1550-641-220-00 | #F =TV *YHhxx1»F ASSY | 1 0 0l0 0]0
53-20 1376-402-003-00 | v A4 ¥ F(140) 2 0 00 0}0
53-21 3737-172-011-00 | 7 3 » v+ ~—%F RZ 3 % 2 0 0|0 0/0

118



Fig.50 D1 ¥UYIILTI5

oM
Al M d N_
mww,vo i . ) )
- . R 93
MO gy .‘ _ _nn -
g —rLrn . =
B T . T |
I O = 2SO ‘ i BTAFIV
u} v A g . @ = .
o8 £6 )Y : ) P PN
rnA‘%@\ﬁALo a<c. ® b D@
x ) JATTAALLL M - AB¢ . b -
mw 37 it : ABZ e m[.wﬂ%nc
¥ 1 T —
M m 304 gt GNULE-T1 ®
m m D [ Y
g T o
0 d @\ﬂ =
E5 g h [
ElE I@h % . - .
EIEEIERT e - )
LB (2[5 mA t_ .
M i .@1 ) O“n_ 2 m
i TR A R Y e
Bl JhzTE— =
N\
lm\_ : v £46 )Y 473 Eu
= | ™ iy @. N} vy E £-nlAT asl1
wmil SRR o v
) LT.(I/ — J———ls — s A9 ._m
X0 BROGRARARR 10 o
I Zan N Ve NV NV >
Dl\@l{xmw.— ]
Vol
SRY-L
[}
|A
— LJ
M_!/

om

) .
— ABZ HA
AN /(/\Wu@\ ;

A

116



Figiss v—UB%

25

e & o B R
_— = > 220 2z0-200F -

RHEE| # & 3 — F sa & YT olooa & *
B | X [P[X|os|Y|D|X |06

55— 1 1544-901-002-00 | X= » b r=—2 1|.0{olololo|o|0joj0]0O

55— 2 1544-901-003-00 | 4 tx=—2 2|olololofololojojolo

55— 3 1544-901-004-10 | &= b=—2(1) 1|ofojofololojofo]o]o

55— 4 1544-901-005-10 | #=x F =—2(R) 1|olofojolo]|olofo]o]o

55— 5 1421-903-013-00 | F7my s =—2 ~1(0lojofo|o|0{0{0|00

55— 6 1421-904-007-00 | FZAFa3—vs>¥=—2 1 |ololojolo|olojolo]o

55— 7 1421-903-010-00 | 7 oz =—2 1|ojolojojojolo|o]jojo

55~ 8 2132-901-007-10 | F+ v F=—2 1|ojojojofofoio|o|0}0

55— 9 1552-902-001-00 | ¥4 F<—2() 1|olojo|d|o|ofololojo|220.220F®

55- 9-1 | 1553-902-001=00 | ¥4 F=—2(L) 1|olofloflofojo|0|0|0|0]|240.240F &

55-10 1552-902-002-00 { ¥4 F=—2([®) 1|of{oflojojoto|0|0f0|0[220.220F%

55-10-1 | 1553-902-002-00 | ¥4 F<=—2(R) . 1{0|0lo|0o|0|0lo|0|0|0|240.240F &

55-11 1550-902-003-20 | =~ Fm—n<—2() ~1|0|ofofo|ofojolo|0(0

55-12 1550-902-004-10 | =~ b a—n<—2R) 1]|ojlofojoiojolo|0l0]0

55-13 1444-904-012-00 | V54 7<=—2 1{0/0fofoj0o|0}0}0]0{0

55-14 1545-902-005-00 | ¥— =4 » F<==20D) 1|o|ofofofofo|ojolo]o

55-15 1550-902-005-00 | V¥ =—2 1lo0lofofojojo|o|of0}0

55-16 1544-902-009-10 | AA ¥F= > I =—2 1]ofolojo|ofofololo]o

55-17 - 1544-902-008-00 | Y a—=—7 : 1|olojojofolo|ofolo]o

55-18 3640-901-018-00 | ¥¥—44 8 0 #<=—2 1{0lojo|otojo|0|O|0O]O

55-19 1480-901-007-00 | =7y a—var=<=—2 1|olofolofolojolofo|o

55-20 1544-902-012-00 | ¥ 7 R<=—2 1| lol {ofolo| lojolo

55-21 1552-903-001-00 | ¥+ a<=—2 11{0}o0 1| {220.220F®

55-21—-1 | 1553-903-001-00 | v =a<=—2 1(0]0 240.240F &

55-22 1552-904-001-00 | *F =<—2(F) 1 ojolo|o|ojolofol220.220F®

55-22—-1 | 1553-904-001-00 | F+ ==—2(F) 1 0|ojoj0|0f0[0l0]|240.240FF!

117



& T

=

-

£5S  gny
- p= %8 220F-240F

RHES| & 3 - F & o [ R & %
06/ Y[ DX o6

55-23 1544-904-003-00 | 7o b Fz v I=w—2 1 ololojo]olofolo

55-24 | 1488-541-023-00 | = ~vsv<=—2 1 0 0]0 0|0

55-25 1544-905-002-00 | <=—2(X) 1 |o olo olo

55-26 1480-902-005-00 | x4 ~=—2( 3v®y) 11 |o 0lo 0lo

55-27 1544-905-003-00 | =— (D) 1 0 0

55-28 1480-902-004-00 | ¥4 F<=—2 ( XR) 1 0 0 No 1 ~7<8H

55-28a | 1480-531-004-00 | Xx—=—2 1 0 0 N0 7<BE ~

55-29 1550-905-001-00 | U~—2 1 ' o|ojofo

55-30 1544-901-007-00 | ~—%> 2 =—2p 1 |ololololofolofo]o]o

55-31 | 1544-901-006-00 | s 3 m~-—2 1|olololofolololololo

55-32 1550-902-006-10 | ¥ 7 F=z > =—2 1|olo|ololololojololo

55-33 1550-902-007-00 | & N a—~vsv=w—2 1 |olofolojololololo]o

118



S —

26

119

Fig. 55 DV —2 S48

rory |
go" &

18

[ERRRN

S Tt :

/ Yy 1
’ N

0
]
A

©-

—
(0)}

S 7=y

a
v
N

o~
-

By
B
ot




Fig.b6! TESXURY 2Ty

®w O B X

- < - pe 201 2z0m-240F -
RHES %ﬂ:ﬁ,: - F da % | Ix DxXUUUUX'ﬁ *.

- : 06/ Y ID|x |06
56— 1 1421-906-001-00 | Ky 2 x=2"F (22) 1 [ojofofo]ololofo]olo
56— 2 1401-906-005-00 | AHFL>F 1i0|ofojolo|o|{0jofo|o
56— 3 V936-150-015-00 | 54+ 150 , 1 |olololololofo|o]olo
56— 4 2130-931-210-00 | ¥~ A FM54-< ASSY 1|o|ojololo]o|ofo]olo
56— 5 V920-550-801-00 | Y=y F=x<3(=a) 8Xx10| 1 |0|ofololojo|o]ololo|
56— 6 V920-551-201-40 | Vs Y723+ (=a) 12X14| 1 |ojololo|olo|o|ofolo]
56— 7 V920-551-301-70 | Ya v rF=-3+(=nr) 13x17| 1 |o|lo{ojo]olololo]ofo
56— 8 V920-551-902-20 | Y swrF=x<5 (=) 19%X22| 1 |o|olojojolo|olololo
56~ 9 1421-906-002-00 | /) 2K > 1 |ojololoofo|olololo
56-10 3750-412-003-00 | 77 54+ 1tololojololo|olololo
56-11 1427-906-201-00 | 5w = 1{o|ofofojofo|ojofolo
56—12 1444-621-242-00 | <> 12V,/20W 1 {ofofolojofo]olo]o]o
56-13 1488-621-241-00 | <7 12vV45/745W| 1 (o|o|ojolo|o|o|o|o]o|~4+
56-14 1488-621-272-00 | <A 7 12v45,/45W| 2 [o|ojojolo]o|o]ololo
56-15 . 1421-502-002-00 | Y>> 2 |olojolojojo|ojojolo
56-16 1444-514-005-10 | ~¥— > (19) 2 |ojojolojojofolojolo
56-17 1550-913-001-10 | P YT Y H AtV 24 s 1 |ofofofojojo|ofofolo

120



Fig.57 wzA hNEGHATY3Y)

& o #2 K

— , e B lo50| 220F-2e0F T
BHES gﬂﬂnj‘F f - % » - X UUUX'ﬁ
Tk , . B |X| |D[{X|os|UlD{x |06l -
57- 1 1444-952-280-00 | ~<¥ <y x4 } 4|ojojolo|ofo]ojo|-0fo0
57- 2 W201-261-205-50 | » a#XxKA b M12X55(vwx)| 3:{0(0j0lofo|0]|0|0[0]0
57- 3 V302-260-012~00 | *F» b M12 3va 3|oflojojo(ojotofof0lo
57— 4 1445-952-200-10 | 7= > b &4 vy =4 b - SET 1]0]0 ‘
57- 5 V201-261-203-00 | A ZxEAF M12X30 8lofo
57— 6 V401-160-012-00 | «S . W M1 2 "810[0
57~ 7 V413-160-012-00,| s+ 3=A¥Hx  M12 8|olo
57-0-1 1546-924-200-00 | V¥ &xAf A ¥ =4 +1) SET 1|o]ojajolojojolo|o0]o
57-0-2 | 1546-924-210-00 | V¥ *Ar v =4 M2) SET 1|olo|ojolo|olo]o]|o]0-
57-0-3 1546-924-220-00 | Vx4 ¥ =4 M3) SET 1|ojolojojo|ofofofO]o
57- 8 1444-952-230-00 | = Y¥xAf v z4 M4 SET 1lolololo|o|ololo]o]o
57— 9 1444-952-220-00 | « e MA) COMP g8lolofojojojolofojo|o
57-10 V300-260-016-00 | = »F » } M16 16|0j0j0jo|o|ojofo]o|o
57-11 V401-160-016-00 | *S . W M16 16{0fo|olojojo|0|o|0f0]
57-12 V413-160-016-00 | « *FI=A¥FH% Ml 16{0fo|ofojo]olo|o|0]o]
57-13 1444-952-240-00 | * Y¥*+4 12 =4 FB(D) SET 1lo|olalojo|o|ofol0{o )
57-14 1444-952-003-00 | * s ¥ HEA AT x4 HB) 2 |o|ojofofo|o|0fo|o0l0 -
57-15 V201-261-604-00 | « e H AXA L M1 6X40 8|o|ojolo|o|o|{0{0|0f0|}M0O-1F
57-16 V401-160-016-00 | = » S . W M16 g8|ojlo|ololololofo|o|o
57-17 V413-160-016-00 | * ¢ FI<AFHE M16 8|ojo|olojojojofo|o]ol
57-18 1444-952-250-00 | * Y&+ =4 MB)Y2) SET 1|ojo]ojolojolojofofo|)
57-19 1444-952-003-00" | » » V¥ KA ¥ = 4 }B) 4lolojofolojol0]|o]|0]o
57-20 V201-261-607-50 | * s a3 HAXMb M16X75 glolo|of0|o|o|ojolofo]| Mo~ 28
57-21 V401-160-016-00 | *» *S.W M16 glolofololo|o|olo]0o]o
57-22 V413-160-016-00 s eFIwAYHE M6 gl{olo|olo|o|o|olo|o]o |
57-23 1444-952-260-00 | * Y¥&4 rv =4 MB)3) SET 1|ofolojojo|o|0l0{0O]O }NnO— 38

121



= %i(o) 220F-240F
EHES| # & 3 — F & % X[ ooy & £
- _ B (x| o] E vl S|V
57-24 1444-952-003-00 | « « Yxh 1w = { h(B), 6 0loloofo|olofoo]o
57-25 V201-261-611-00 e eI HAKNE M16X110 810/010(0]|0(0j0|0{0]|0 N0 O - 3 5
57-26 V401-160-016-00 e s S W M16 810|0 0 0ojojojofolo|o
g |ojlojofololololol0l0

57-27 V413~160-016-00 e FITNAYFHE M6

122



Fig.58 Y hO—5(H—K~/~R—Z)SETHTvaV)

T R T+ Y
| oh0|  220F-240F
EHES| 8 & 3 — F A . % w | x| Dl o]Y o
06/ ° |D[X |06

58-0-1 1550-531-450-00 | s> rm—5(#—t,/~—=x)SET 1 |0} |0 0

58- 1 K240-002-000-00 e Fx 3507 ASSY 110 0 0

58--2 1550-531-210-10 | « 7Y+ Xxbm» I COMP 1{o| |o 0

58— 3 | 1550-531-220-10 | 7 » a7 —4 COMP 10| |o 0

58— 4 V201-260-802-50 | « 3 H &HA b M8X25 10 |0 0

58— 5 V301-260-008--00. | =+ » b M8 2va= 1(0| {0 0

58— 6 V580-140-502-00 ex7 YV sy W) 5X20 110 0 0

58— 7 « Ty 1.0X70 1ol |o 0 a
58— 8 1550-531-230-10 | e my FHAax COMP 10| {of 0

58— 9 V211-360-802-00 | e =5 xx b (SP) M8X20 210{ |0 0

58-10 1550-531-240-00 | « 7Y ¥ x}+Y>2 COMP 10| |o] 0

58-11 V411-160-010-00 | « S #F¥FH % M10 10} |0 0

58-12 V500-162-002-00 | ey J > 2X20 10| |0 0

58-13 1414-312-002-00 o Fyvyav AT ) (53) 110 |0 0

58-14 1444-531-002-00 | e =@y Fu—3 1(o0] {0 0

58-15 V410-260-008-00 | o =4 Z¥FH X M8 1lo] |o 0

58-16 V500-162-002-00 | s 7 ) E> 2X20 1(o0| |o 0

58-17 1544-531-002-00 | e H&HTLU— b 10| {o 0

58-18 V211-360-802-50 e HaEAL L (SP) M8X25 21{0| |o 0

58-19 1550-531-250-10 | e vs—F 3545 b COMP 10| |o 0

58-20 V211-260-801-60 | « = & 1(S) M8X16 2|0} |o 0

58-21 1550-505—003-00 | » v-3—(a) 210| |0 0

58-22 1560-511-012-00 | « 7L —1t , 3 (o] |0 0

58-23 1414-117-005-00 | « 54 =>2 (13X50X3) 40| |o 0

58-24 1444-116-007-00 | 7 » >+ (11X30X2) 2 0| |o 0

58-25 e T Vo X7V (22) 210 0 0

1404-117-008-00

123



220

[ I — . @ | 240 220F-240F
abd non ao % ﬁ X olx X 9 TIU R {f?m %
: 06| ¥ | D| X |06
58-26 V304-260-010-00 | s3I HEXF » b M10 2v= | 20| |0 0
58~27 V302-260-010-00 | s, b M10 3vs | 2]0]| |0O 0
58-28 1550-531-001-10 |  F7 XL — 10| {0 0
58-29 1415-505-015F00 el —=x 1|0 0 0
58-30 V210-260-802-00 | « & MS) M8X20 20| |0 0
58-31 V301-260-008-00 e F b M8 2va 210 0 0
58-32 1550~-531-280-00 eYasf¥bruy ¥ COMP 10 0 0
58-33 V411-260-008-00 | o I Ax¥FHx M8 20| |0 0
58-34 V500~-162-002-00 | e 7Y £ 2X20 210] 10 0
58-35 1550-531-290-10 « FITATSH v b COMP 110 0 0
58-36 V201-260-812-50 | s I H &KL} M8X125 10| |0 0
58-37 V201-260-808-50 | e« 2 H &K} M8X85 210] |o 0
58-38 V401-160-008-00 | =S . W _ M8 3|0| |0 0
58-39 V411-160-008-00 | « I #xv¥HH M8 310] |0 0
58-40 1550-531-300-00 | o T—amnx COMP 10| |o 0|
58-41 V411-160-010-00 | o I Hx¥HH M10 210| |0 0
58~42 V500-162-002-00 | ey &y 2%X20 210| |o 0
58-43 1550-531-310-00 | e a3 v >F7—a4a ASSY 1{0| |0 0
58-44 1444-531-001-00 | o o 7" » 22 (10X12%X20) 110/ {0 0
58-45 1550-531-330-10 e KV s rT7T—au@ COMP 1(0{ |0 0
58-46 | 1550-531-340-00 | ¢ #® Y3 >T—a4B) COMP 10/ (0 0
58-47 V580-140-502-00 | « X7 Y > W  5%20 10| |0 0
58-48 e Ty 1.0X70 110| |0 0
58—49 1550-531-002-00 | «F> v s> X7 Y2 (85) 10| |0 0
58-50 1550-531-460-00 | o » 4 ¥xx(d) COMP 1]0{ {0 0
58-51 7957-501-004-00 | s~¥—E>(10=n) 10| [0 0
58-52| - | 1560-531-500-00 | *#—7r  ASSY ol 1)o| {o|l || o
58-53 1550-531-470-00 | = 7 4 ¥ &8 COMP 10| [0 0
58-54 | 1305-241-001-00 | sAAfr3v~yr—E> 1 (0] jo 0
58-55 V500-162-002-00 | s 7 ) &y 10| {0 0
58-56 1444-531~-005-20 | s > ¥4+ —x 10| |o 0
58-57 V201-260-802-00 | s H &K} M8X20 40| |o 0
58-58 V304-260—-008-00 | s 2 H &5, b M8 2v= | 4 (0] |0 0
58-59 V401-160-008-00 | S . W M8 - | 4]0l (o 0
58-60 V411-260-008-00 | o 3 Hx¥Hx M8 40| {0 0
58-61 1560-531-021-00 | s 754 » F (140X167) 10| |o 0
58-62 V211-260-802-00 | o = &K bS) M8X20 410] |0 0
58-63 1550-531-480-00 [ «7—A COMP 10| |o 0
58-64 1444-531-006-00 | « &> (88) 1(0f |0 0
58-65 V411-160-008~00 | o I Ax¥FHx M8 10| [0 0
58-66 V500-162~-002-00 72 I g 2X2 0 110 0 0
5867 1560-531-300-50 | == » I COMP 1]0| |0 0
58-68 1560-531-311-50 | s =y 10| {o 0
58-69 1550-531-005-00 | >3 7L —} 10| {o 0
58-70 1305-241-001-00 [ e kA4 nao~T—E> 30/ |0 0 -
58-71 V411-160-008-00 | « § HE¥HF M8 210| |o 0
58-72 V211-260-801-60 | = =4 ZxA MS) M8X16 210 0 0
58-73 1550-531-006-00 | s <==a7F o 110f ]o 0

124



Fig.59 757 v NFA—K/R—=2)SET (A 7> aY)

=

= OB B R

— ; - & %ﬁg 220F- 240F
RHES M &3 - F | & - % x| x| Io|x[X[o]g0py &

. 5 06/ Y |D| X o6l -
59-0-1 | 1550-531-500-00 | ¥5 & » b (A—}+,/~<—2)SET | 1 ol fofofo] fofo]o
59- 1 1550-531-460-00 |- * 74 ¥HA (4 COMP 1| lof [ofofo} jolo]o
59- ‘2 1560-531-500-00 | = 4—>» ASSY il ol lolofo] |o]o]o
59- 3 1550-531-470-00 | * 74 ¥& (B COMP 1 0| |o]o|o0 ofo|o
59- 4 1560-531-021-00 | * 754 » b (140X167) 1 ol {oloo]| lolofo
59- 5 V201-260-802-00. | = I3 #HZH } M8X20 4 ol lolofo| Jololo
59~ 6 V304-260-008-00 | *=#HZxF» b M8 2v- | 4| |o} [ofolo} [olo]o
59- 7 V401-160-008-00 | *S . W : M8 4 ol lofolo]. [o|o]o
59- 8 V411-260-008-00 | = $ HFF A% M8 4| |o| lololo]| [ojolo|
59- 9 V211-260-802-00 | = H £HN MS) M8X20 4 o |0lojo| [0j0]|O].
59-10 1550-531-480-00 | * 7—4 COMP 1 o| [ofojo]| lojo]o
59-11 1560-531-300-50 | e= » ' COMP 1 ol lolofo] |o]o]o
59-12 1560-531-311-50 | s= » I 1 o| lolofo]| |ojojo
59-13 1305-241-001-00 i| ek frav~t—E> 1 ol lojofo]|.lolofo].
59-14 1550-531-005-00 | s £ ¥ 7L — 1} 1 ol |olojo{ |o|o]o
59-15 1550~531-006-00 | *===a7 1 ol lololo]| |o|ofo

125



- Fig.80] LA=X)SET (7 3>): .

Fig.42-46

5
5
=N
6
% 10
BH G B X
% = = — &350 | 220F-240F -
RH%ES gﬂnq 3— f““, LI % x50 X D;XXUUUUXZﬁ x .
: - 06/ |D|X |06
60 1 = | 1550-531-380-10 |'v-<—X SET . 1| |0 [ofo]jo} [0]0]0
60- 2 1550-531-250-10 | s L»S—F 54 » 1 COMP 1{ o} [o]o]of |ofo]o
60- 3 1550-505-003-00 | v-<—(4). - 2| (o] |o]o]o| |o]olo
60- 4 1550-531-330-10: | * #~ = »T—4@) COMP 1| lof| folojo| |o]o]o
60- 5 1414-117-005-00 | .* 54 => 7 (13X50X3) 4| |of jofolol [ofofo
60- 6 1444-116-007-00. |- « ¥ » &+ (11X30X2) 2| |o| Jojoto| [ofo]o
60- 7 1404-117-008-00" | « 7V v+ 2T Y7 (22) 2| lo| jolofo| fojofo|
60- 8 1560-511-012-00 | »F'Lv—} 3| {o| {olojo| lojofo]
60- 9 V304-260-010-00. | ¢ I HAEF » b M10 2v= | 2| lo| |ofo|o]| |o|ofo
60~-10 V302-260-010-00 |.«F » b M10 3va | 2| |o| |ofo|o| [ofolo
60~11 1550-505-001-10 | » # Y3 > Lt 1| o} [ofo|o| {o]ofo
60-12 1550-531-001-10 | *F 7 AL~ 1| {o} |olo|o| [o|o]o
60-13 V210-260-802-00 | =& H(S) M8Xx40 41 (0§ [0f0|O|-]0]|0]O
60-14 V301-260-008-00 | «F» b M8 2va | 4|.|0| [o|ojo| [o]o]o-
60-15 1415-505-015-00 | o LoS— =% |1 1| |o| |o]ojo| [ofofo

126



Fig.81 APYSETNDTD—=2UVY) (AT 3Y)

€

]
w

s

l/
76y

/&

T
(G

I
~ K E30|  220F-240F

RHBEES| & &% 3 - F & =2 0 | |x olxIX|g ooy
61-0-1 | K300-002-000-00 | =7 SET(<y—v &) 1|o|olojojo|olofofo|o
61- 1 K182-017-000-00 | =+ ) >4 - ASSY 1|olojolofolo]olo]|0O]o0
61~ 2 K182-017-100-00- | o ¢ & ) > % COMP 1|olojofojo]o|ofolo]|0
61- 3 K182-017-001-00 | * ¢ E'x }p > 1]olojolofofofo|ojoloO
61- 4 K182-009-002-00 | ® » €xb X b 5o~ 11o0l/ofolo]o]o|olofOf0
61~ 5 K185-005-005-00 | * « m 5 N5y %> 1]ofolofolofo|olojolo
61- 6 K185-005~006-00" | e e xx hr—a 1j0j0f0|0|0l0O|0O|0|O}O
61~ 7 1513-541-300-00 | *FV)-<Ysx—=x COMP 1|olofolojolo|o]o|o]0
61— 8 1513-541-003-00 | * 22 % (A) 2 |olo|olo|olofolofo|oO
61— 9 K300-002-100-00 | » 75 #» + COMP 1|ofofofololo|o]olojo]|
61~10 V201-261-207-00 | = A& b M12x70 | 2 |ojo|o|o]o|o|ofo|o]|o0
61-11 | V201-261-204-00 | = 3 # &1 b M12x40 | 2 |olololofolofojo|o]o
61-12 K300-001-002-00 | = £> (19%X81) 1|olojofo|ojololofo|o
61-13 K300-001-003-00 | -ty ha b (MBX25)A 1{olololololo]olo]olo
61-14 V304-260-008-00 | eI H 2F » b M8 2v- | 1 |ojolo|ofofo|o]|a]of0
61-15 K300-001-004-00 o 2 (22X83) 1 /o0{oflojo]|o|lo|O|0|OlO
61-16 V411-260-022-00 | * S A%V H M22 1/ofolofo|o|o|ojo|o]o
61-17 V500-165-003-50 | =7 ) £ 5X35 1{0{olojololo{olofo|o
61-18 3737-172-011-00 | * 75y v 4 ~—F %2 5 >4 2|o0|ojolojojo|olofo|o

127



Fig.62 €774 7L—L(SFIY)SET(AT73Y)

®H O B

| ‘ & |od0|  220F-240F

BRHES| 8 & 3 - E ot % XTI ToTo & g
B [X] |P[XoslU|D|xlog

62-0-1 1550-631-200-00 | €75 4+ 7v—a (SF114)SET 1(0(0f0|0|0 olofo
62— 1 1550-631-210-00 | « <4 ¥ 7L —4u COMP 1(olofojo]o ololo
62— 2 1550-631-230-00 | = Y¥ 7 v—a(l) COMP 1|o0|0fofo|o0 o|o|o
62- 3 1550-631-240-00 | = V¥ 7 v —4(R) COMP 1(00{0]|0}0 0(0f0
62— 4 1550—-631-001-00 e N4 7 (117) 2 |ololo|ofo| {0]0]0
62— 5 V201-461-616-00 | = =4 AF1 b M16X%160 9T| 8 {0|0|0|0]0 00|0
62— 6 V303-460-016-00 | e T2 H&KF » b M16 7T 6 |oflofofo]o olo|o
62— 7 V401-160-016-00 | « S . W M16 g lofotofojo 0|00
62— 8 1550-631-250-00 | e 2T VY2754 b (L) COMP| 1 |0|0|0|0]0 0|0(0
62— 9 1550-631-260-00 | =T V)>2 7545 b (R COMP| 1 (0|0(0|0(0| |0[0]0
62-10 1550-631-270-00 e7ux 7 L—au(AXL) COMP 1(ofofolo}o 0l0{0
62-11 1550~631-280-00 | s 7 =>t 7L — 4R COMP 1|olol0lo]|0 o{ofo
62-12 V201-261-205-50 | I # ZXEr b M12X55 4|ololofolo| |oflofo
62-13 V201-261-202-50 | e T HRZHNmb M12X25 4|olo|oj0|0 0{0]0
62-14 V304-260-012-00 | <« HXF» b M12 2va | 4 |0lofofofo olo|o
62-15 V401-160-012-00 | «S . W M12 g |olo|olo|o olofo
62-16 1432-665-014-00 e/ 12y b (10X17X5) 4(0|o|o|0]|0 0|0|o0
62-17 1550-631-290~00 | s7 =+ 71 —4(B) COMP 2 |0fo|0fofo olo|o
62-18 1550-631-002-00 -r]wk\i'(A) 2 |0(0]|0l0]|0 olofo
62-19 1550-631-003-00 | « &A#(B) 2 |0lojofolo ololo
62-20 V201-261-406~00 | e=H AKX b M14X60 4|o0lojofo]|o ololo
62-21 V303-260-014-00 | = I HARF» b Mi4 410l0j0(0]|0 0l0]0
62-22 V401-160-014-00 | =S . W Mi4 410lo0|o|0|0 0}0j0
52-23 V201-261-203-50 | ¢ I H LKL L M12X35 g|(0lofo|0]0 ololo
62-24 V304-260-012-00 | =3 H£F» b M12 2v= | 8|0[0(0]0f0 olo|o
62-25 V401-160-012-00 | * S . W ' M12 g |ojo|ojojo| jof0l0

128



Fig.62- €754 IL—A(SFII)SET(A Ty aY)

R -
o e @ lai0| 220F240F
RHEEES| B &3 — F 4 & 5 % XTI ToTook
BN I PN g X| |DX|gslU|D|x o6
62-26 1550-631-300-00 | *7=a> 7545+ COMP 1{o0jo{o|0fo]| [0]|0]|O
62-27 V201-361-203-50"|. 3 AxA b M12%X35 7T| 4 |0|0f0[0}0] |0{0]O]
62-28 V401-160-012-00 |- =8 W M12 4 |ofojojojo| |ofof0
62-29 1550-631-320-00 | =~ COMP 1|ojofofofo| |o|0jO
62-30 1550-631-004-00 | .o 7= ° 2 |ojojojo]o| |o|lofof
62-31 1550-631-005-00 | ey > pp-<—". | 1|olojolofol [o|o]O
62-32 1432-621-012-00 L S 7 N 410[lo0jolo]o ol-o| 0
62-33 V201-260-807-00 | = #x1} M8X70 4 {0|o0lojo|o| |0j0|O
62-34 V304-260-008-00 |- «aH&F» I~ M8 2va "8 {ojojo|o|o} |ofof0
62-35 V411-260-008-00 | = SAHF¥H % - M8 4|o0flojofofo]- |0{O[O
62-36 1550-631-007-00 |.. e &> ¥ =IO H s vaby 1-{0|olo|ofo{ |ojo0l0
62-37 1550-631-008-00 | e &>¥ &4 tFr =y v 1.]0/0{0f0f0| [0]0O}O
62-38 1550-631-009-00 | e 7FT &7 71—t 1|0fojojofo| (0j0|0
62-39 | V201-261-203-50"| eaHxxEA} M12X35 -8 |ol-0|ojofo} {o|o]0
62-40 V304-260-012-00 | eI H&xF 5+ MLl2: 2va 8.|ojofolo|o| |o|ojoO
62-41 V401-160-012-00 | « § ;W - M12- 8 |ojojofojo| [o|o]oO
62-42 1550-631-006-00 | e b)Y T Hh4 £ A4 s (SF1I4 1|0{0(0|0{0| 0{0}0O

129



R

5

B & a— F

REBS

B & a— K

REES

& — K

BE

dii—

1302- 225—003— 00
1302— 225~ 003~ 00
1302— 225~ 003 — 00
1302— 225— 003~ 00
1305— 241—001— 00
1305— 241— 001 — 00
1305—241—001— 00
1305— 241— 001 — 00
1305— 241— 001 — 00
1305—931— 003 — 00
1305—931— 003 — 00
1325—930— 105— 00
1326—708— 005— 00
1340— 253 — 002 — 00
1370 — 405— 003 — 00
1376 — 402— 003 — 00
1376~ 402— 003 — 00
1376~ 402~ 003 — 00
1376 — 606— 005~ 00
1376— 754~ 023 — 00
1401 —122— 005~ 00
1401~ 304— 011 — 00
1401—304— 011~ 00
1401 — 806— 005 — 00

1402—511—600—00

1402—621—014— 00
1404— 007— 008 — 00
1404— 117— 008 — 00
1404—117—008— 00
1404~ 117— 008 — 00
1404—117—008— 00
1404—117—008— 00
1404—502—013—00
1404—502—013— 00
1404 — 503 — 006— 00

1404~ 503006 — 00 -

1407—111—-001—-00

1407—403— 002—_00 :

1407— 406— 002— 00
1407— 406— 004 — 00
1411—401—001— 00
1411—411—002— 00
1411—411—003— 00

1411—621—005— 00

1412—401—004—00
1412—411—-001—00
1414—1317—-005—00

13—45
13—-14
14— 21
21—18
42175
42—-65
58— 54
58— 170
59—13
22—14
40— 23
24— 27
24—33
9—10
19— 23
43—68
52—32
53— 20
49—4

448
19—-15

13—31
14~ 41
56— 2
40— 29
4—11
38—15
5—12
42—37
42— 28
58— 25
60—7

21-31

36—9
2714
39— 58
49§
24— 25

252

25—3
24—2
28—6
29-7
52—-24
24—3
29—5

. 38—13a.

1414—117— 005— 00
1414— 117— 005— 00
1414—117—005— 00
1414— 312— 002— 00
1414—312—002— 00
1414— 403— 004— 00
1415—101— 040— 00
1415— 102~ 009 00
1415~ 102— 011~ 00
1415—102—012— 00
1415—102—013— 00
1415~ 121— 009~ 00
1415—125— 025— 00
1415— 505— 006~ 00
1415~ 505— 015— 00
1415—505— 015— 00
1415~ 505— 015— 00

1415—621— 01700

1416—511—400— 00
1417— 102~ 005— 00
1419~ 403—001— 00
1421~ 101~ 203—00
1421~ 101 204— 00
1421~ 101—313—00
1421~ 111-210—00
1421~ 201-003— 00
1421-301— 01200

1421—400—052—00

1421~—403—007— 00
1421—403—008— 00

1421—-433-001—-30

1421—433—-004—00
1421—-433—004—00
1421—433—-009—10

1421 —433—-014—10 .
1421 —433—-014—10"-

1421—433—-022-00

1421—-433-023—-00
1421—433—031—-00.
1421—-502~002—00 .
1421—502-002— 00

1421—602—005— 10
1421—621—038— 00
1421~ 803—010— 00
1421903~ 013— 00

1421—-906— 001—-00
1421—806— 002—00

42— 81
58— 23
60—5
42—13
58— 13
24— 124
3—10
49—~ 18
49—22
49— 23
49—24
6—19
8—21
35— 30a
42—31a
58— 29
60— 15
4—39
40—14
1—13
24—121
1—6
1-7
e
49—10
34—32
16—7
25—1
24—34

24—35

34—1
157
347
3412
34—15
34-17
34—35
34— 36
34—-23
22—8
56—15
46—17
43170
55—17
55—5
56—1
56—9

' 1421—951—006— 00

1421—951—007— 00
1421—-951—008— 00
1421—951-008— 00
1422—668~202— 20
1423—616—004—00

1423—621— 201 — 00

1424—101— 005— 00
1425—431— 015~ 00
1425—431—021— 00
1425— 621~ 004— 00
1425— 621~ 004— 00
1425—621— 004 — 00
1426 — 506 — 002— 00
1426— 621 — 035— 00
1426— 621~ 036= 00
1427—101—011— 00
1427—101— 011~ 00
1427—101— 011~ 00

1427—101~011— 00

1427—101—012— 00
1427—101—012— 00
1427—101—022— 00
1427 201—007— 00
1427 201—007— 00
1427— 201— 008 — 00

1427—201— 008~ 00

1427—201—016— 00
1427— 203~ 008~ 10
1427 — 204~ 003 — 10
1427— 210~ 003 — 00
1427— 210~ 004~ 00
1427—301— 005— 00
1427~ 301~ 005— 00
1427—301—021— 00
1427—317— 004— 00
1427—431— 008 00
1427—431—011— 00
1427—431—013— 00
1427—431—014— 00
1427— 431 220— 00
1427— 432~ 003— 00
1427—432— 004 — 00
1427~ 432— 005— 00
1427—611— 001~ 00
1427612~ 240— 20
1427— 612~ 241 — 00

2437

24—38

34—24
34-125

48—3

39~7
52—22
1-30
16—4
16— 8
36— 30
43—127
52—4
27—32
52—13
52— 14
1-10

39— 28

38—-123

1395
‘ 1-11

1-11
3-8

612

8—3
6—13
9—¢
23—5
7—2
11— 125
13—3
9—g’

16—5

32—20
16—30

a

22—-5

31-3
31-3

31-11

312
32-19

31—4

32—121 .

32—-22

35—25

48—1

48—12

130




Mma— F

| REES

W& - K

2 HES

BRI - K

BHES

1427—621—003— 00
1427—621— 008— 00
1427—621— 012~ 00
1427— 621 — 246— 00
1427—621—263— 00
1427—621—267—00
1427—804— 007 — 00
1427— 906 — 201— 00
1429—406— 202— 00
1429— 406 — 205— 00
1429— 406 — 205— 00
1429— 406 — 207— 00
1429— 406 — 208 — 00
1429 — 406— 209— 00
1429— 406 —211—00

1429—406—212—00

1429— 406— 213~ 00
1429~ 406 — 214— 00
1429~ 406~ 216— 00
1432~ 216— 003 — 00
1432— 242~ 001~ 00
1432~ 242—004— 00
1432— 242— 004~ 00
1432—242—004— 00
1432— 406— 008— 00
1432—406— 009~ 00
1432— 406 —330— 00
1432— 406— 341~ 00
1432—616— 002~ 00
1432 616— 002~ 00

1432—-621—012—00

1432—621—012— 00
1432—621—272— 00
1432—621— 272— 00
1432—651—028— 00
1432—654—007— 00
1432— 665—014— 00
1434—122—004—10
1434—122—004—10
1434—503—002— 00
1434—602—002— 00
1434—602— 224~ 10
1444—101—012—00
1444—102—200— 00
1444—102— 204— 00
1444 —116—006— 00
1444—116—006— 00

4—4
52—1
50— 20
51-15
51— 14
51— 16
55— 6
56— 11
26— 19
25— 27
25— 14
26—6
26—17
%—8
26—8"
26—10
26— 12
26—13
26— 18
12-31
19-7
38— 191
42-31
4220
25— 35
25— 36
25—34
25— 18
8—5
23— 28
49— 32
62— 32
5= 7]
52— 23
47-17
50— 15
62—16
8— 14
18— 10
36—42
3—13
3—-15
1-12
49—17
49— 20
38—13
4226

1444 —116— 006— 00
1444—116— 006— 00
1444—116—007—00
1444—116—007—00
1444— 116~ 007— 00
1444 —116— 007— 00
1444—116—007— 00
1444—122—002— 00
1444—122—002—00
1444—307—005— 00
1444 —307— 005— 00
1444—314—008—10
1444—331—220—10
1444—331—220— 10
1444—402— 004— 00
1444—404— 001 — 00
1444—404— 200— 00
1444—408—005— 10
1444—411—003— 00

1444—411—004~-00

1444—411—005— 00
1444—411—006— 00
1444—411—008— 00
1444—411—009— 00
1444—411—011—00
1444—411—012— 00
1444—411—013— 00
1444—411~014— 00
1444—411—210— 00
1444—412—001— 00
1444—412—002— 00
1444—413—002— 10
1444—413—003— 10
1444—413—004—10
1444—413—005—10
1444—413—013—10
1444—413—014—10

1444—413—014—20°

1444413 —015— 10
1444—413—017— 00
1444—413—022— 00
1444—413— 210~ 30
1444— 413 — 240— 00
1444—502— 002— 00
1444—502— 220— 00
1444— 503 — 001— 00
1444—503—007—00

4235
44— 10
38— 14
42— 27
42— 36
58— 24
60—6

38—6

42—42
13—29°
14— 39
22—9

20— 14
20—1

24—14
24— 30
24—20
27-19
32—12
32-13
32—14
3218
32_—5

32—6

32—7

32—8
32-9

32— 10
- 32—4

33—3
33—4
34~2
34—14
34— 38
34—10
34—29
34—33
34— 33a
34—34
34—43
34—39
34—14
34— 16
36— 8
35f‘ 11
35— 28a
35— 21

1444—503—220—-00
1444—503—230—10
1444—-510—002—100
1444—510—004—00
1444—510—222—-00
1444—510—226—00
1444—510—227—100
1444—510~229—00
1444—510—231—-00

1444—510— 250—00

1444—514—002—00
1444—514—003—00

1444—-514—003—00 .

1444~ 514~ 004~ 00
1444—514— 005— 10
1444—514— 005— 10
1444—514— 006— 00
1444— 514 — 220— 00
1444— 514 — 230— 00

1444—514— 260— 10

1444— 514~ 270— 00
1444—514— 280—10
1444— 514~ 300— 00
1444—531— 001 — 00
1444—531— 001 — 00
1444— 531 — 002— 00
1444—531— 002— 00
1444— 531 — 004— 20
1444— 531 — 005— 20
1444—531— 006— 00
1444— 531— 006— 00
1444— 531 — 320— 00
1444— 531 — 330— 00
1444—601— 003— 00
1444—601— 025— 00
1444—607— 002— 00
1444—621— 016— 00
1444—621—017— 00
1444—621—017—00
1444— 621 — 018~ 00
1444—621— 018— 00
1444— 621 — 242— 00

. 1444—621— 242—00

1444—621—300—00
1444— 621 — 320~ 00
1444~ 904 —012— 00
1444—852— 003— 00

35-16

35—17
39—45
27—41
39—11
39—15
39—16
39—~13 -
39—17

39-12

40—2
40— 20-1
40—20
40—30
40—31
56— 16
40—32

401

40~7
40—17
40—18
40— 126
40— 27

42—55

58—44
42— 14
58— 14
58— 56
42— 67
42-170
58— 64
42— 69
42— 173
44— 16
44—18
4—17
46— 133
50— 16
51—7

50—17
51—8

51—13
56—12
52— 16
52—17

55—13
57— 124

131




&2 — K

&2 — F REES M&ma— K RrES RHES
1444—-952—003—00 | 57— 14 1488—408—330—00 | 27—16 1521—507-103—00 | 14—35
1444—852—003—00 | 57—19 1488—412—006—00 | 33—12 1522—408—201—~00 | 28—51
1444—852—220—00 | 57—g9 1488—413—023—10 | 34—19 1544—103—004—00 | 2—15
1444—952—230—00 | 57—8 1488—541—006—00 | 40—35 1544—103—210—10 | 2-5
1444—952—240—00 | 57—13 1488—541—006~00 | 43—40 1544—103—210—20 | 2--5a
1444—852—250—00 | 57—18 1488—541—007—00 | 12—8 1544—103—250—10 | 2—6
1444—952—260—00 | 57—123 1488—541—015—00 | 47—38 1544~104—203—00 | 3—3
1444~852—280—00 | 57—1 1488—541~023—00 | 55— 24 1544—104—204—00 | 3-—5
1445—120—002~00 | 614 1488~ 611—001—00 | 48~16 1544—104—205—00 | 3—6
1445—120—200—00 | 6—16 1488—611—002—00 . | 48—19 1544—112—001—00 | 4-5
1445—120—201—00 | 6—17 1488—611—003—10 | 48—17 1544—112—003—00 | 1-—27
1445—120—202—00 | 6—18 1488—621—220—10 | 52—6 1544—112—202—00 | 4—15
1445—952—200—10 | 57—4 1488—621—241—00 | 56—13 1544—116—001—30 | 5-1
1446—331—211—00 | 20—2 1488—621—270—20-| 51—19 1544—116—002—00 | 5—27
1446—417—211—00 | 30—2 1488—621—272—00 | 51—20 1544—116—210—00 | 5-—2
1447—331—212—-00 | 20—6 1488—621—272—00 | 56— 14 1544—116—210—20 | 5-—2a
1447—331—213—00 | 20—7 1491—203—006—10 | 7—2a 1544—117—003—00 | S5—11
1447—331—214—00 | 20—11 1491—511—004—00 | 36—12 1544—117—005—10 | 5—10
1447—331—220—00 | 20—5 1491—511~004—00 | 43—71 1544—117—200—20 | 5-8
1447—-417—-212-00 | 30—6 1491—541—220—10 | 37-3 1544—117—200~30 | 5-%a
1480~103—001—00 | 2—2 1481—541—220—10 | 43—30 1544—117—210—10 | 5-19
1480—104—004—10 | 3—19 1491—622—200~00 | 51—12 1544—117—210~20 | 5—19a
1480—117—002—00 | 5—26 1491-623—220—10. | 52—17 1544—117—220—00 | 5—16
- 1480—117—002—00 | 18—19 1491—623—222—-00 | 52~18 1544—’117—2207 20 | 5—16a
1480~122-001-10 | 8—6 1507~ 207—007—00 | 10—9 1544—117—230—00 | 5-—20
1480—122—002—00 | 8—7 1507-307—003—00 | 13—7 1544—120—004—00 | 7—11
1480—211—005~00 | 11—39 1507—307—003—00 | 21—18a 1544—120~-007—00 | 6—2
1480—211—005—00 | 21—13 1509~ 601—001—00 | 44—15 1544—120—008—00 | 7—-20
1480—212—004—00 | 21—7 1508—623—009—00 | 52— 28 1544—1_.20—008—_10 7—20a
1480—301—002—10 | 16—2 1510—416—211—00 | 29—1la 1544—120— 008— 00 1=121
1480~301—003—10 | 16—3 1510—416—211—-00 | 28— 2a 1544—120—200~00 | 6—1
1480—304—001—00 | 16—23 1513—111—009—00 | 49-11 1544—120—200—10 | 6—1la
1480—304—002—00 | 16— 26 1513—408—004—00 | 27—31 1544—120—200—20 6—1b
1480—433—001—00 | 15—8 1513—408—004—00 | 27—38 1544—120—210—00 | 7—18
1480—433~001—00 | 33—4a 1513—541—003—00 | 379 1544—120—210~10 | 7—18a
1480—501—002—00. | 35—2 1513—541—003—00 | 43—36 1544—120—210—20 | 7—18b
1480—501—003—00 | 35—3 1513—541—003—00 | 61—38 1544—120—216f30 7—18¢c
1480—502—001—00 | 36—1 1513—541—005—00 | 40—34 1544—122—001—-00 | 7—4
1480—502—201—00 | 36—4 1513—541—005—00 | 43—39 1544—122—001—10 | 7—4a
1480—503—200—00 | 36—31 1513—541—-300—00 | 37—10 1544—122—002—00 | 7-23
1480—531—004—00 | 55— 28a 1513—541—300—00 | 43—37 1544—122—004—00 |. 7—28
1480—531—~330—00 | 42—1 1513—541—300—00 | 61—7 1544—122—201—00 | 7—9
1480—541—004—00 | 43— 68 1518—116—102—00 '5—_5 1544—123—005—00 B—15
1480—901—007—-00 | 55—18 1518—213—014—00 | 12—19 1544—123—200—10 | 8—1a
1480—902—004—00 | 55—28 1518—213—-014—00 | 13—39 1544—123—220—20 | 8—g9
1480—902—005—00 | 55— 26 1518—621—310—00 | 49—8 1544—123—230—20 | 8—10
1488—247—250—00 | 22—7 1521—507—103—00 | 13—35 1544—123—260—00 | B8—1

132




’:’ﬂSEf:_:J—F

REaES

&L, a— K

REES

B 3d— K

REES

.~ 1544— 201— 001~ 00
1544— 201~ 001— 20
1544 — 201 — 003 — 00
1544— 201—004— 10
1544— 203~ 001~ 10
1544— 203— 001— 20
1544~ 205— 001— 00
1544— 205— 003— 10
1544 — 205—004— 10
1544— 205— 005— 10
1544~ 205— 006— 10
1544~ 207—001— 00
1544 — 207—002— 00
1544— 207— 003— 00
1544 — 207—003— 00
1544 — 207— 004— 00
1544 — 208— 002— 00
1544— 208— 002~ 00
1544— 208— 003 — 00
1544~ 208— 004 — 00
1544 — 208— 005— 00
1544 — 208—007— 00
1544— 208—001—10

1544 — 208—002—10

1544 —215—001—00
1544 — 215—001—10
1544—215—002— 10
1544— 215—004— 00
1544 — 215—004— 00
1544— 215—006— 00
1544 — 215—011—10
1544— 215—012— 00
1544 — 215—012—00
1544 — 215—013— 00
1544— 215—014— 00
1544 — 215—015— 00
1544— 215—016— 00
1544— 215~ 230~ 10
1544—215—250—00
1544~ 215—260— 00
1544 —215—270—00
1544—216—001—10
1544 — 216—002— 20
1544— 216— 003~ 10
1544 — 216— 004 — 20
1544— 218— 001~ 00
1544 — 218—002—00

g—1
9—1a
14-2
g—7
10—1
10—1a
10—8
10~10
10—12
10—13
10—14
11-7
11—-10
10—5
11-2
11-3
11—-12
13-17
11-16
11-17
11-120
11—-11-1
11-121

11-23

12—-1
12—1a
12—-3
12—16
13—38
12—8
12—-21

‘12—19a

13—-3%
12—3a
12— 28
12— 26

12-29

12—11
12-5
12—32
12— 11a
13—1
13—6
13—10 -
13—12
13—-13
13—48

1544—218—002—00
1544—218—002—00
1544—218—005-—00
1544—218—200—00
1544—218—200—10
1544—2189—001—00
1544—219-~002—00
1544—218—005-00
1544—218—006—00
1544—219-200—10
1544—218—200—10
1544—218—-200— 20
1544—219—200—20

1544—304—006—10.

1544—304—007— 00
1544 —308— 200— 10
1544 —308— 200— 20
1544 — 308— 220— 00
1544— 310~ 004 — 00
1544—310—005— 00
1544~ 310— 202~ 00
1544—310— 203—10
1544— 310~ 204— 00
1544 —310— 205— 00
1544 —310— 207— 00
1544~ 310— 208— 00
1544—310= 230~ 10
1544—310—~ 240~ 00

1544—310—250—00 °

1544—310-260—10

-1544— 310~ 281—00

1544—310— 282—00
1544—310— 283 — 00
1544 —310— 284— 00
1544 —310— 285— 00
1544—310— 286— 00
1544~ 312—001— 00
1544—312—002— 00
1544—312—002— 00
1544—312—200—10
1544—312—220—00
1544—312—230—10

1544—312—240—00

1544 —312— 250~ 00
1544—313—001—00
1544 —313—200— 10
1544~ 313—201—10

14— 26
21— 22
13— 55
1316
13— 16a
13—42
13—44
21— 33
13—54
13—47
14— 125
13—47a
14— 25a
32— 25
16—10
23— 33
23—33a
23— 34
18—22
18— 23
18-2
18—3
18—4
18—5
18—7
18—8
18—17
18—18
18—121
18—1
18— 28
18— 29
18— 30
18—31
18—32
18—33
19-5
8—2
19—2
19—1
19—4
19-3
18—12
19—-13
19—-121
19—16 -
19— 120

1544—313—210—00
1544—322—002—-00

- 1544-322—-002—-00

1544—322—002— 00
1544 — 326 — 240— 00
1544 — 326~ 240— 10
1544 — 401—001— 00
1544 —401—003— 00
1544— 401—250—10
1544 — 401— 260— 10
1544 —401—310— 00
1544 —401—320— 00
1544 — 401 —350— 20
1544 — 406 — 002— 00
1544— 406— 003 — 00
1544 — 406 — 005— 00
1544 — 406 — 006 — 10
1544 — 406 — 007— 00
1544 — 406— 008 — 00
1544 —406— 204 — 00
1544~ 406— 220~ 00
1544 — 406~ 230— 20
1544~ 406 — 250— 20
1544~ 406 — 260— 00
1544—407— 260— 00
1544 — 407~ 261~ 00
1544 — 407— 262— 00
1544 — 407— 263— 00

1544—407—264—00 -

1544 —407— 270— 00
1544 — 407~ 280— 00
1544—431—220— 00
1544—431—230— 00
1544—504—001—00
1544 — 505~ 004~ 00
1544—505— 004 — 00
1544—505— 200~ 00
1544—508—003— 00
1544—508—006— 00
1544—508— 008~ 00
1544—508—200— 10
1544—508—220— 00
1544—508— 270~ 10
1544—508—271— 00
1544~ 531—002— 00
1544~ 531—002— 00
1544~ 531—360— 00

19— 22
10-7

11—4

21-9

21—121
71— 21a
23— 15
23-130
23—11
23— 12
23— 16
23—17
23129
25— 38
25— 139
25— 50
2551
25— 52
25—1Ta
25—17
25—7

25—132
25— 26
25— 25
26—1

26—3

26—4

26—1]
26— 14
26— 2

26—5

31— 14

31—13

37-11
38—5
42—41
38—1
23—-37
39—48

38—57

39—1a
39—18
38—10
39—14
42—17
58—17

47—61

133




Béamo— F

RHES

B & d— K

RHES

Bamd— K

REES

1544~ 531~ 370— 00
1544— 601 — 001~ 00
1544— 601 — 002~ 00
1544— 601 — 003~ 00
1544~ 601 — 240~ 00
1544 — 601~ 250— 00
1544—602—001— 10
1544— 602~ 202— 00
1544 — 602~ 203— 00
1544 — 602~ 210— 00
1544— 603 —002— 10
1544— 603 — 003~ 10
1544~ 603 — 004 — 00
1544— 604 —015— 10
1544 — 604 — 290— 00
1544 — 604 —400— 00
1544— 606— 001 — 10
1544 — 606 — 004 — 10
1544~ 606 — 004— 20
1544 — 606 — 005— 10
1544 — 606 — 006— 00
1544 — 606~ 007— 00
1544— 606 — 008— 00
1544~ 606—012—10
1544— 606~ 014— 00
1544— 606— 016— 10
1544— 606 — 018— 00
1544 — 606 — 018— 00
1544 — 606 — 019~ 00
1544 — 606 — 260— 00
1544 — 606 — 260— 10
1544 — 606 — 270~ 00
1544— 606— 280— 10
1544~ 607 — 200— 10
1544 — 607— 200— 30
1544~ 611— 001— 00
1544~ 611— 210~ 00
1544— 611 — 220— 00
1544—612—001~00
1544 —616— 001 — 00
1544~ 616— 002— 00
1544~ 616— 002— 30
1544— 616~ 003— 10
1544— 616— 004— 00
1544— 616— 005— 00
1544 — 16— 008 — 00
1544 — 616— 009— 00

42—64
44—5
44—6
44—17
44—3
44—14
45-7
45~2
45—-3
45—4
45—9
45—10
45—12
46—10
46—19
46—9
47—12.
47—-10
47—10a"
47—21
47—6
47—16
47—24
47—-135 -
47— 36
47—5
46— 32
47—17a
47—13a
47—-123

| 47— 23a
47— 28

47—32
46— 21
46— 21a
48— 22
48—8
48—9
49—3
50—3 -
50—5
50—5a
50— 14
50—18
50—19
50— 23
50—24

1544—616—011—00
1544—616—011—00
1544—616—012—00
1544—616—013—00
1544—616—014—00
1544—616—014—00
1544—616—015—00
1544—616—200—10

1544—616—210-20.

1544— 616— 260— 00
1544— 618~ 220— 00
1544— 623— 001 — 00
1544 — 623— 006— 10
1544—623— 008~ 10
1544— 623 — 008— 00
1544~ 623—200— 10
1544— 641~ 210— 00
1544—641— 210— 00
1544—641— 211~ 00
1544—641—211— 00
1544— 641~ 212~ 00
1544— 641— 212— 00
1544—641—213— 00
1544—641—213— 00
1544—641— 214~ 00
1544—641—214— 00
1544— 641~ 215— 00

1544 —641—215—00

1544—641— 216~ 00
1544—641— 216— 00
1544 —641— 217— 00
1544 ~641— 217— 00
1544—641—218— 00
1544—641— 218~ 00
1544—641—219— 00
1544—641— 218— 00
1544—641—221— 00
1544 —641— 221— 00
1544 —641—222— 00
1544 —641— 22200
1544—641—223—00
1544 —641— 224— 00
1544 —641—250—10
1544 —641—250—10
1544—901— 002 — 00
1544—301—003— 00
1544—801— 004—10

1—22
50— 25
50— 31
50—12
50—13
52— 21
50—10
50—1
50— 2a
50— 30
51—1
52—10
52—9
52— 30
52—-8
52—0-1
43—51
53—1 -
43-52
53—2
43—53
53—3
43—54 -
53—4
43—55
53—5
43— 56
53—6
43—57
53—7
43— 58
53—8
43—59
53—9
43—60
53—10
43— 61
53— 11
43—64
53— 14
53—15
53—16
35—32
43—1
55—1
55—2
55—3

1544—901—005—10
1544—901-006—00
1544—-901-007—-00
1544—902—008—00
1544—902~008—10
1544—902—-012—00
1544—904—003—-00
1544—905—-002—00
1544—905—003~00
1545—623—002—10

1545—623—003—00

1545—902—-005—00
1546—924—200—00
1546—924-210-00
1546—924—220—-00
1547~ 208—-001—00
1547—208—-002—00

1548—312—001—00

15648—606—003—00
1548—606—003—00
15650—102—001—10
1550—102—002—00

1550—102—003—00

1550—102— 004— 00
1550— 102~ 005~ 00
1550— 102~ 006 — 00
1550— 102~ 200— 00
1550—102— 202— 00
1550~ 102~ 203~ 00
1550—102— 204 — 00
1550—102— 210— 00
1550—102— 220~ 00
1550— 103— 001 — 00
1550— 103—002— 00
1550— 103— 200— 00
1550— 103~ 200— 10
1550—103— 210~ 10
1550—103— 220 — 00
1550— 103— 230— 00
1550— 103 — 240— 00
1550—103— 242— 00
1550—103— 250— 10
1550~ 103— 260— 00
1550—103— 270— 00
1550—103— 280~ 00
1550—104—001— 00
1550—104— 002— 00

55—4
55—-31
55—30
55—17
55—16
55—120
55—123
55—125
551217
52—129
52—131
59—14
57—0-1
57—0-2
57—0~3
11—-11

“11—18-1

8—18

- 4—19

47-37"°
1-8
1-9
1-123
1—24

C1-14

1—-15

134



Ha 31— F

REES

& O - K

Mama— F

RhES

1550~ 104—003— 00
1550~ 104—200— 00
1550—104—202— 00
1550—104—210—00
1550—104—210—10
1550—104— 220 — 00
1550— 104~ 220— 20
1550 —105— 001~ 20
1550— 105—200— 20
1550 —105—210— 00
1550—112—002~00
1550—112—003— 00
1550—112—200— 10
1550—112—220—00
1550—112—222—00
1550—112— 223—00
1550—120—001— 00
1550—120—002— 00
1550—121—001—00
1550— 122—200—00
1550—122—200—10
1550 —122—200— 20
1550—122~201—100
1550—122—201—10
1550—122—201—20
1550—122—202—00
1550—122—202—10
1550 —122—203~00
1550—122—203—10
1550 — 207— 200~ 00
1550— 208—001— 00
1550 — 208 —200—10
1550— 215—001—00
1550 — 215—200— 00
1550— 215~ 200— 20
1550 —218—001—00
1550 — 218 —200—00
1550—218—210—00
1550—218— 230— 00
1550— 218 —250—00
1550 — 218—250— 10
1550 — 218—200—00
1550 — 218 —200—10
1550 — 251 —001—00
1550 —251—002—10
1550—251—003—00
1550— 251 — 004 — 00

1—25

|
— W
I

| ! |
— w cCo —
(=] (]

|
[J%]
(-]

PR IR R RS, D R B RN R =
w w
I o
1Y) )

1550— 251 — 005— 00
1550— 251—006— 00
1550 — 251— 007 — 00
1550— 251 — 008 — 00
1550~ 251— 009 00
1550~ 251— 011~ 00
1550— 251~ 012~ 00
1550 — 251 — 012— 00
1550~ 251~ 200~ 00
1550~ 251 200— 10
1550— 251~ 210— 00
1550 — 301 — 001 — 00
1550— 301— 002— 00
1550— 301— 003 — 00
1550 — 301— 004 — 00
1550 — 301~ 005— 00
1550~ 301—006— 00
1550—301—007— 00
1550— 304— 001 —10
1550~ 304~ 002— 00
1550— 304 — 003 — 00

1550—304—004—00

1550— 304 — 005— 10
1550~ 304— 006 — 00
1550— 304 — 007— 00
1550~ 306— 001 — 10
1550— 306—002— 10
1550— 306 — 003 — 00
1550— 306 — 004 — 00
1550— 306— 200— 10
1550— 306— 210— 10
1550— 307— 002— 00

1550-307—-003—-00

1550—307—-004—00
1550—307~005—100
1550—308—200—00

1550—308—210—00 .
1550—308—220—00

1550—308—230— 00

1550—308—230—10

1550—310—001—10

1550—310—002—10

1550—310—003—10
1550—310—200—00
1550—310—220—10
1550—310—240—00
1550—312—200—00

14—14
14—15
14—18
14— 120
14—23
14~ 37
13—28
14— 38
14— 29
14— 29a
14—34
15—1

15—8

15—10
15—11
15—12
15— 14

15—15

16—1
16—6
16— 14
16—15
16— 16
16—19
16—11
17—1
17-2
17-3
17—13
17-11
17—12
17-18
17-18

| 17—20

17—-21
16—721
16—122
16—125
16—27
16— 27a
18—9

18—10
18—-11
18—0-1
18—186
18—127
19—-11

1550—321—001—00
1550—322—001—00
1550—322—-002-00
1550—322—003—00
1550—322—200—-00
1550—325—001—10
1550—325—002—00
1550—325—002—10
1550—326—001—00
1550—326—002—00
1550—326—003—00
1550—326—200~—00
1550—326—200—10
1550—326-—210—00
1550—335—200—10
1550—335—200—20
15650—335—230—00
1650—335—~230—10
1550—401—-001—00
1550—401—-002—00
1550—401—003—00
1550—401—230—-10
1550—401—230—20
1550—401—230—30
1550—401—240—-00
1550—401—260— 10
1550—401— 260— 20

-1550—401—270—-00

1550— 401— 270— 30
1550—401— 280— 10
1550— 401—300— 00
1550— 401—320— 00
1550— 402~ 001~ 00
1550—402— 002~ 00
1550—402— 003— 00
1550—402— 200~ 00
1550~ 403~ 001 — 00
1550— 403~ 002~ 00
1550— 403~ 103— 00
1550—403—202— 00
1550—403— 202— 00
1550—403— 203— 00
1550—403— 210~ 00

' 1550— 403— 210— 00

1550—403—220—00
1550—403—220—00

1550—406—003—00 .

21-1
21—-5
21—-11
21—14
21—12
21—16
21—-17
21—17a
21—30
21—34
21-37
21-25

21— 125a

21—-128
22—1
22—1a
22—12
22—12a
23—18
23—-9
23—40
23—1

-23—1a

23—1b
23—18
23—6
23— 6a
23—125
23— 25a
23— 26
23—38
23—39
24-5
24—56
24—13
24—1
24—-31
24—32
34—-51
24—142
34—50
24—43
24—40
34—48

24—41

34—49
25—-120

135




B — F

REES

B &2 — K

REES

Baam2— F

REES

1550— 406— 004~ 00
1550—406— 201— 10
1550—406— 210— 10
1550—406— 220~ 00
1550—408—001—10
1550~ 408—002—10
1550~ 408— 003 — 00
1550—408— 005— 00
1550~ 408— 006~ 00
1550— 408~ 213— 00
1550—408— 222~ 00
1550~ 408 — 234 — 00
1550— 408 — 240— 20
1550— 408 — 250 — 20
1550 — 408~ 260— 00

1550 — 408 —270—00 |

1550 — 408 — 280— 00
1550 — 408 — 290— 10
1550 — 408 —321— 00
1550 — 408 — 343 — 00
1550~ 408 — 344— 00
1550— 431 —200— 00
1550—432— 001— 10
1550~ 432—002— 00
1550 —432—003— 00
1550 — 432— 004 — 00
1550 — 432—200— 00
1550 — 433 — 004 — 00
1550 —433—200— 10
1550 —433—210— 00
1550—433—212— 00
1550—433—220— 00
1550—433—222— 00
1550 — 434— 200— 00
1550—434— 310— 00
1550 — 434 —221— 00
1550 =501~ 002— 00
1550—501— 003 —~ 00
1550—501—003— 20
1550 — 501 — 004— 00
1550—501—004— 00
1550 — 501 — 005— 00
1550—501—005— 00
1550 — 501 — 006 — 00
1550— 501 — 200— 00
1550 — 501 — 200— 20
1550—501— 200— 30

T25—41

25— 16
25— 23
25~49
27— 23
27— 24
27— 25
27~ 34
27—35
28—37
28—149
28—14

27—15
27— 28
27— 129
27— 30
27—33
2738
28— 16
28— 29
28— 30
31-8

32—2

32—17
32— 24
32—23
32—1

33— 20
33—1

33—7

33—8

33—10
33—11
34— 20
34-21
34— 47
35—4

35— 8

35— 8a
35—34
43—4

35—33
43—2

35— 38
35—1

35—1a
35—1b

1550~501—210—00
1550—501—220—-00
1550—502—001—00
1550—502—001—20
1550—502—002—00
1550—502—200— 00
1550— 502~ 200~ 10
1550—502~202—00
1550—-502—210—00
1550—502—210—-00
1550—502—220—00
1550—502—220—-00
1550—502—221—00
1550—502—223-00
1550—502—224—00

. 1550—502—225—-00
1550—502—225—-00

1550— 502— 226— 00
1550— 502~ 226— 00
1550— 502~ 227— 00
1550— 502— 227~ 00
1550—502— 228— 00
1550— 502— 228— 00
1550~ 502— 229— 00
1550—502— 229— 00
1550—502—231— 00
1550—502— 231—00
1550— 503— 001— 00
1550— 503— 002~ 00
1550— 503 — 003— 00
1550~ 503— 003~ 10
1550~ 503— 003 — 20
1550— 503— 004— 00
1550— 503~ 005— 00
1550— 503~ 200— 00
1550— 503— 210— 00
1550— 503 — 220— 00
1550~ 503 — 230 — 00
1550— 503~ 240—10
1550— 504— 200—10
1550~ 504— 200~ 10
1550~ 505= 001~ 00
1550~ 505— 001 — 00
1550~ 505— 001 — 10
1550— 505— 001 — 10
1550— 505— 002 — 00
1550—505—002— 00

35—18
35—-24
36—3
36— 3a
36— 1la
36—5
36— 5a
36— 4a
36—13
43—9
36—14
43-10
43-11
43—-13
43—14
36—18
43—15
36— 23
43—-18
36—24
43—20
36—125
43—-21
36— 26
43—122
36127

43-123

35—128
35—30
35—-131
35—31a
35—231b
36—36
36—38
36—33
36—137
36—45

36— 46

36—149
37—-1
43—128
38—18
42—-19
38—18a
60—11
38—4
42—-40 -

1550—505—003—00
1550—505—003—00
1550~ 505—003=00
1550—505—003—00
1550—505—210—10
1550— 505~ 210~—30
1550—505— 220~ 00
1550— 505~ 240—00
1550—508—001—00

1550—508—001—10 -

1550—508—002— 00
1550 —508—003—10
1550—508— 004~ 00
1550— 508~ 005— 00
1550—508— 200— 00
1550—508—210—00
1550—508—210—10
1550—508—230— 10
1550—508—240— 10
1550~ 508~ 250~ 10
1550—508— 250~ 20
1550 —508— 260— 00
1550—508—260—10
1550—508—270— 00
1550— 508 — 280— 00
1550—508— 280—10
1550—514—001—00
1550—514—001—00
1550—514—200— 00
1550— 514~ 210~ 00
1550—514—210—10
1550— 514~ 220— 00
1550—514—250— 00
1550— 514~ 250— 00
1550—514— 250~ 00
1550514~ 252— 00
1550— 514~ 253— 00
1550— 514~ 254— 00
1550— 514 — 255~ 00
1550— 514 — 256— 00

1550—514—-257—00"

1550—514—258—-00
1550—514—259—00
1550—514—261—00
1550—514—262—-00
1550—514—263—00
1550—514—264—-00

43—45

38—12a
42~173
58—21
60—3
38~10
38—10a
38—12
38—1a
39—4
38—14a
39—-22
38— 10
39—47
39—47a
39—1
39—6
J9—6a
39-24
39—29
39-31
39—3la
39—46 .
39—46a
39—-51
39—-53
39—53a
40—40 -

40—15
40—16
40—16a
40— 33
40—38
41— 0-2
43—43
41— 22
41-123
41-24
41— 25
41— 26
41—127
41— 28
41— 29
4130
41-31
41-132
41—33

136



Ba&d— F

RHES

BHES

a3 — K

RHEES

1550—514—265—00
1550—514—266—00
1550—514—267—00
1550—514—268—00
1550—514—280—00
1550—514—280—00
1550—514—290—00
1550—514—310—10
1550—531-001—00
1550—531—-001—10
1550—531—001—10
1550—531—001—10
1550—531—002—00
1550—531—002—00
1550—531—-003—10
1550—531—-005—100
1550—531—005—100
1550—531—006—100
1550~—531—-006—00
1550—531—200—-40
1550—531~210—-00

1550—531—210—10

1550—531-210—10
1550—531—-220—00
1550—-531—-1220—-10
1550—531—220—10
1550—531—230—00
1550—531—1230—10
1550—531—1230—10
1550—531—240—-00
1550—531—240—-00
1550—531—250—00
1550—531—250—10
1550—531-250—10
1550—531—250—10
1550—531—260—00
1550—531—270—00
1550—531—280—00
1550—531—280—00

1550—531—290—00°

1550~531—290—10
1550—531—-290—10
1550—531-300—00
1550—531—-300—00
1550—531—-310—00

1550—531—310—00

1550—531—330—00

41-34
41-35
41-36
41-39
40— 39
43—44
40— 28
40~ 15a
42~130
42— 30a
58— 28
60— 12
4260

58—49

42—-178
58—69
58—14

-58—173

59—15
42~-0-1
4212
42—2a
58—2

42-3

42—3a
58—3
42—8
42— 8a
58—8
42—-10
58— 10
42— 123
43— 23a
58—18
60— 2
42—25
42—34
42—39
58— 32
42— 46
42— 46a
58— 35
42—51 ..
58— 40
42—5¢4
58—43
42—56

1550—531—330—10
1550—531—330—10
1550—531—330—10
1550—531—340-00
1550—531—340—00
1550—531—350—00
1550—531—380—10
1550—531—450—100
1550—531—460—100
1550—531—460—00

1550~531—470—00

1550—531—470—00
1550—531—~480—-00
1550—531—480—00
1550—531—500—00
1550—532—001—-10
1550—532—200—-10
1550—601—200—10
1550—601—210—00
1550—602—200—00
1550—604—001—10
1550—604—200—00
1550—604—210—00

1650—604—220—00

1550— 604 — 230— 00
1550— 604 — 240— 00
1550~ 604~ 250~ 00
1550 — 604 — 260— 00
1550— 606 — 001 — 20
1550— 606—002— 20
1550— 606 — 003 — 00
1550~ 606 — 004~ 00
1550— 605 — 004 — 10
1550 — 606 — 005— 10
1550~ 606 — 200— 20
1550— 606~ 240— 10
1550— 606 — 240— 20
1550— 606~ 250— 10
1550~ 606— 260— 00
1550— 607— 001 00
1550—607— 002~ 00
1550— 607 — 003— 00
1550— 607 — 210— 00
1550— 607~ 220— 00
1550—607— 220~ 10
1550— 607 — 230— 00
1550— 607 — 240— 00

42—56a
58—45
60—4
42—57
58— 46
42— 63
60—1
58—0-1"
58— 50
59-1
58—53
59— 3
58— 63
58— 10
58—-0-1
43—72
43—0-1
441
44—2
45—1
46—5
46—1
46—2
46—4
4617
468
46—14
46—15
472
47~-3
49—31 -
47-11
47—-11a
47~4
47—1
478
47—8a
47—9
43— 128
46—123
46— 24
46— 25
46— 26
46—27
46— 27a
45—34
46— 35

1550—607— 250— 00
1550 — 607— 260— 00
1550— 12— 200— 00
1550— 616— 001— 00
1550— 616— 002— 00
1550 — 616— 200— 00
1550 — 616— 210— 20

- 1550—616—210—30

1550—616—230—00
1550—621—001—00
1550—621—001—10
1550—621—200—00
1550—621—400—00
1550—623—001—10
1550—623—001—30
1550—623—002—10
1550—623—003—-00
1550—631—-001—00
15560—631—002—00
1550—631—-003—-00
1550—631—004—00
1550—631—-005—00
1550—631—006—00
1550—631—007—00
1550—631—008—00
1550—631—009—00
1550—631—200—00
1550—631—210—00
1550—631—230—00
1550—631—240—00
1550—631—250—00
1550—631—260—00

1550 631—270—00.

15560—631—280—00
1550—-631-280—00
1550—631—300—00
1550—631—320—00
1550—641—210—00
1550—641—210—00
1550—641—220—00
1550—641—220—-00
1550—802—-003—20
1550—902—004—10
1560—802—005—00
1550—-802—006—10
1550—802—007—00
1550—805—001—00

46— 36
46— 38
49—1
50—-21
50—22
50—6
50—8
50—39a
50—2
51—-9
51—8a
51—6
51—22
52—19
52-18a
52— 126
52~33
62—4
62—18
62—19
62— 30
62—31
62—42
62—36
62—37
62—38
g2—0-1
62—1
62—2
62—3
62—8
62—9
62—10
62—11
62— 17

- 62—26

62— 29
43— 65
53— 17
43— 67
53— 19
55— 11
5512
55— 15
5532
55—33
55— 29

137




& 31— K

REES

& — K

BREES

REES

1550—913—-001—10
1551—411-210—-00
1552—-112—200—~10
1552—112-202—-00
1552—112—203—-00
1552—307—001-00
1552—317—211-00
1552—317—-211—-10
1552—407—201—00
1552—431-001-00
1562—441-210—-00
1552—441—-231-10
1552—802—-001—00
1552—802—-002—-00

1552—803—001—-00 -

1552— 804 — 001 — 00
1553— 121~ 001— 00
1553—-317—211—00
1553— 441 — 210~ 00
1553—902~ 001 — 00
1553—902—002— 00
1553 — 903 — 001~ 00
1553—904— 001 — 00
1554 —321— 002— 00
1560 — 432— 002— 30
1560—432—003— 30
1560 —435— 001 — 30
1560— 511~ 012~ 00
1560 —511—012— 00
1560~ 511~ 012— 00
1560—511—012—00
1560 — 531~ 021 — 00
1560 — 531 — 021 — 00
1560— 531~ 300— 50

1560—531—300—50 -

1560—531—311—50
1560 —531—311—50
1560~ 531—500— 00
1560 —531—500— 00
1560 — 664 —210— 30
2130—931—210— 00
2132—901—007— 10
2701—101—052— 00
3560— 201—015— 00
3560— 201—018—00
3614—321—001— 00
3615— 264—002—10

56—17
29—1
4—1a
4—2a
4—3a
17—17
30—~11
20—15
26— 20
31—-1
30—1
30—2-1
55—9
56—10
55—21
56—122
=il=)l
30—12
30—5
55—9-1
556—10-1
55—121-1
55—22-1
21-2
32-19a
32—2la
34—4a
38—22
42—-80
58—22
60-—-8
58—61
59—14
58—67
58—-11

58—68

58—12
58—152
58—2
52—125
56—4
55—8
47—-33

44—19
47—15
52—11

3625—112—-001—-00
3625—112—001—00
3625—112—001—00
3625—112—001—-00
3625—261—204—00
3640—3801—018—00
3646—102—011—-00
3728—173—003—00
3728—173—005—00
3728—364—015—00
3728—364~015—00
3737—172—009— 00
3737—172—011-00
3737—172—011-00
3737—172—-011—-00
3737—172—011-00
3737-172—011-00
3737—172—-011—00
3737—-172—011-00
3737—235—008—00
3740—161—007—00
3741—141~-005-00
3746—321-014—00
3750—412—003—00
3761—212—004—00
3768—164—006— 00
4101—102—038—00
7954 —205—101—00
7955—201—026~ 00
7955—201—026—00
7857—501—004—00
7957—501—004—00
7863—201—-003-00
7963 —208—004—00
7963 —611—-001—00
7963—611—-003—00
7963 —611—230—00
7963 —611—240—-00
7963—613— 005~ 00
7963—805—004— 00
7863 —805—005—00
7985—401— 00100
7985—401—001—10

13— 26

21—-129
52—120
556—18
12—7

51—10
51—11
47—-20
50—27
50—39
7—122
35—1239
43—38

48— 16
52—34
53—-121
61—18
8—11
5—121
49—-15
12—14
56—10
12—12
48— 14
25—48
35~26
6—12a
17—-10
42—62
58—151
27-5

7—14
40—-11
40—-9

40—5

40—6

40—22
40— 24
40— 25
42—-174
42—74a

138







